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�	 	
���	 ����� −σ 
 � �

?= ����
 >��� � �

Ω = {ω};ω =�	 ���� �� ����

Ω
�
 �

�� ���� �� ��� � �σ-field������� ��� �� � sigma-field  �� �  Ω �� !�"�#� !! $��% F � � 2.1
���
�

& Ω ∈ F �A �� ����� � AC ∈ F ���' A ∈ F �% �
&� �(� �# )�*�% � ⋃∞

n=1An ∈ F ���' An ∈ F , n = 1, 2, 3... �# �
& A ∩B ∈ F ���' B ∈ F ��� A ∈ F �� �' +#�( �# ��� �% ��� �� !�%�� ��

& (measurable space) )�)� #*�� %��( (Ω,F) '�, � �! �+��%� #*�� %� F

��� ����
σ-field

=��� ��
��� = ������� �@�>�
α ∈ I

���� �
Aα ⊂ Ω

��@�>� ���� 
��
>
σ (Aα, α ∈ I)

��� 
� �� � � �
 �
Aα

�
 �� �� ����

%� F �� *�� &F = {A : A ∈ F1 and A ∈ F2} �� �)'( & Ω �+ σ-fields F2 �� F1

�� � 2.2 -

��
&σ-field

?��� ����

σ-field

�
 = ��� ����
� 
� ��
Zorn

�� 
��
� 
A ����� ��A�>
%��( #*�� �� !���'� ! �" �#� �� !% ����  ��� �(��   )� σ � ��'���.�/ #*��# 2.3

���
�
B (R) �# �% B �# �� �� �� �0 ���#  )�0

6
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A ���
� ���> 
�� �� ����
� 
���� 
��@> ���� �
σ-field

�� 
���

 ��>
?� �����
 ��@�>�


���� �(��  σ − field � !�)' ��� �+ *�� 2.4 -

��

B (R) =

σ ( (a, b)  ��" � � �����/(�% �� ) =

σ ( [a, b]  ��" � � �����/(�% �� ) =

σ ( (−∞, b]  ��" � � �����/(�% �� ) =

σ ( (−∞, b], b ∈ Q  ��" � ������/(�% �� )

�� � *�!.  "�#� ��  �)'  � �,�� &� �(� �# %�  , $��% � � ���(��"� ���.�� $��% %� Q ��%�
�� )�*�%# �.!� � ��.%� !�%� � ��� �� �*�!. ������/(�% �� )�*�% %� ��� �+  *�!.  "�#�

&� ���(��"� � �! �"�� ������/(�%
� �! �"�� ����'� ������/(�% �� !% ����  ��� �(��  )�  �'�� ! �� � F  )�� �'�� ��)'( !+�

&F �+ %� �% B �+ !�+��%� � k ≤ x < k + 0.5 !�"�#� ��  %� &� ���� ���.��
���@��
 ����� F �� � ������ = ���� �� �=���	 ����
 ������� �
 �� �� ���

Ω
�� >���� ����

?���� ���� ����� ����
 �� ���� F 
A 
> ��> ?�@>� ������� �>� ������ �� �������

�measurable space � )�)� #*�� %� (Ω,F) ��%� (Ω,F ,P)  ��� %� ! ��#!� #*�� 2.5

���
�
�� �� �A ∈ F �� �+ !�)'��  �! ��#!� !�"�(�. P �� σ-field �+ #*�� �� ���

0 ≤ P (A) ≤ 1 �% �
P (Ω) = 1 �# �

�,% � n 6= m �� ��#+ An ∩Am = ∅ �� An ∈ F , n = 1, 2, .. �% �' �
& P (

⋃∞
n=1An) =

∑∞
n=1 P (An)

�
finite additivity

������ ���� ���
 ��A� ��	 �������� ��
 ?
countable additivity

����� 
� � 
����
��
Bn ⊂ Bn+1

�
Bn ∈ F , n = 1, 2, ...

=� ���� � ����� ���� ��>� ������� 
� � 
���� �����
?
P (Bn) → P (B)

�A� ⋃∞
n=1Bn = B

7



	

���� 	
���	� ��� 
�	 ��
����� 
 �

σ
�
 =


B, B̄
����

g : (X,B) →
(
Y, B̄

) =����� = �>��� ��� 
�> ������
 
�@����
g
�
�

?
���
> ���	>� = ���> ����
� ���!� b̄ ∈ B̄  "�#� ��� �%  )�)� !%��( g : (X,B) →

(
Y, B̄

)  �"�(�. 2.6
���
�

{x ∈ X : g(x) ∈ b̄} = g−1
(
b̄
)
∈ B

?����> ���@� ��� � ��@��> �� ����> 
���� � �����
g
�A� ���> �� ���� �

σ
�
 =


B, B̄
=�

&�� �#  )�)� %� !�'�)� !�"�(�. �� ��  %� 2.7 -

��


���� 
@�>� ��� �� ������

g : X → Y


�@���� � �
 = ����� �� �	 = �>��� 
�> 
��@� 
�@����
?
���� 
�@���� ����
� 
��� �A 
���
� ����� �� ?
���� 
� =�

g−1
(
b̄
)
⊂ X


@�>�
 �
b̄ ⊂ Y

 �)' �   , �� �  �)'  ��8.2  �)' � ����/� ��#*�� � X, Y ��  ���# ��  %� �% � 2.8 -

��
&�! ���#' �.� � %0�)*�  .�"�  �"�(�. ��

&���#  )�)� %�  .�"�  �"�(�. �� *�� �# �

�%# �%(! !% !� ����  X (ω) , ω ∈ Ω �+ !����  �"�(�. %� �%��%  (!�� 2.9
���
�

&+��%� %�  "�#� �� ��� {ω : X (ω) ≤ α} ∈ F �� ���!� ���� α ���
& P �# %� �% (Ω,F) )�)� #*��#  ���! �,  �)' 

����#  )�� )�)� #*���  )�)�  �"�(�. %� �%��%  (!�� �! ��*% ��� ��#
& X : (Ω,F) → (R,B)

���� ���� ����
 ����
 ����>� �������� � 

� ������ �@>� ��� ��� � �� �� >���� ����
?F �������
 �� ��>

�



%0�  ((�% Y (ω) = ω  �"�(�. �,% & F1 = {∅,Ω, {1}, {2, 3}} �� Ω = {1, 2, 3}  � � 2.10
�	
��

� � �" � *�� # %�  , )�)� #*�� �+ %0� �� � �+�� & (Ω,F1) �+

X (ω) =

{
α ω = 1
β ω = 2 or ω = 3

!�)'��  IA(ω)  �"�(�. & A ∈ F �*#( 2.11
�	
��

IA(ω) =

{
1 ω ∈ A
0 otherwise

&�!%, *�� � %0� %� � (Indicator Function) !(��"�  �"�(�. !%��(
 �"�(�. �,% ������ αn �� An ∈ F ��(�!( �%

X(ω) =
∑N

n=1 αnIAn
(ω)

&%0� %� � (Elementary Function)  /��.  �"�(�. !%��(

%0� X(ω) �,% ω ��� �.�� X(ω) �� ω ��� Xn(ω) → X(ω) �%� �%0� !�)� Xn(ω) �% 2.12
����

&�! �# ��'�!# *��� �

ω ��� Xn(ω) → X(ω) �� �� Xn(ω) ��/��. %0� ��  �)� !� ��� X(ω) %0� ��� 2.13
����

����� ?
X(ω) ≥ 0

�� 
���� ���� ���� ��

Xn(ω) =

{
k/2n X(ω) ∈ [k/2n, (k + 1)/2n), k ≥ 0

2n X(ω) ≥ 2n


���

� ?
X(ω) ≤ 2l

�� ��
l
=���

ω
��� ���� ?

Xn(ω) ≤ Xn+1(ω) ≤ X(ω)
�� �	 ��� � ��

Xn


��
�� �>�� ����

sup
n>l

|Xn(ω) −X(ω)| ≤ 2−l .

�?	�

?
Xn ↑ X 
��� �

����
X = X+ −X− =���� ����

X
�� ���

9



X−(ω) = max(−X(ω), 0)
��
X+(ω) = max(X(ω), 0)

?
X− ���

X+
�� ����> >����

αi 6= αj �� Ω �# � ��� !�" �#� An
��%� X(ω) =

∑N
n=1 αnIAn

(ω) �� %� ��� Ω � � 2.14 -

��
& i 6= j ���

�
(Ω,F) �+ %0� %� X �� �� F ��� �(��  σ − field � � �

σ(X) �# �0)# �� ���  ,  )�

�%0� ��)'( (R,B) #*�� �+ 2.15 -

��
�
σ(X) � � & X(ω) = ω2

�% 0 � !��#!� # �����0 �% �� , ��%��( Y �� X %0� �(� 2.16
���
�

P (X (ω) 6= Y (ω)) := P ({ω : X (ω) 6= Y (ω)}) = 0

X = Y a.s. (= almost sure) �0+ !%, ���� �#���
X = Y a.e. (= almost everywhere) �%

& X = Y w.p.1 (= with probability 1) �%
���#+� ω � !"�#� �% 0 ω �� /+��0 ��#+ !� ���!� � X(ω) ≥ 0 �%� '�)� � !� ����  (��!� ��%( �(%
�� �# ��#  � � ����� �� �% ����� a.s. #�!�� )�.�( %� %# � &�.%  ! ��#!� !� ���!�  (�%  (��! 

& a.s.

��,% &%0� Xn
�� � 2.17

����
&���� α ��� %0� αXn

&%0� X1 +X2

&%0� X1 ·X2

&�! �# ��'�!# *��� � %0� g (X (ω)) �,% R �+ ���# !��"�(�. g �%
&%0� ��)'� �� ��� �% �  �)� ��#' �� � �+� �(+/ ���

10



�>��
� ��� ���>�� ������ ��� 
�� � 
����� � �� ���>� 
� �� �� � �
 ���� ����	
� 
����

?
���> � ���@����

��)'( &%0� Y (ω) �� )�)� #*�� (Ω,F) � � 2.18
���
�

FY = σ ({ω : Y (ω) ≤ α}, −∞ < α <∞)

&F �� sub-σ-field %� FY & FY ⊂ F  �)' # �,%
�
����� F g(Y ) ⊂ FY

=����� ���> ��@���� ���
?
����> � FY 2 6= FY


�� �� �>� � FY 2 ⊂ FY

�
��� ��

 =�� �>���
�,% � �FY

�+ )�)� Z �! ��*% ��� ��# �% � (Ω,FY ) �+ %0� Z(ω) �% (Breiman, p.69) 2.19
���	

& Z(ω) = g(Y (ω)) �� �� g(Θ) ���# !�"�(�. !� ���
?� ��

X

 �
 �� ����>��
 >���

(Ω,F ,P)

�
 �

� ���!� �B �! ���� � ���# !"�#� ��� �% X �� '�� �. ��* %��� PX 2.20
���
�

P(ω : X(ω) ∈ B) = PX(B)

&S �+  )��σ�# !�)�)� !�" �#� ��#+ � � �)  ��"# �)'�� '�� �. S ���� #*��# ����+  (!��� �%

���#  )� B �(−∞,∞) ���� ��� %� R �! ��#!� #*�� %� (R,B,PX) ��  %� 2.21
�	
��
&R �+

&�! �� � ����� ��#*��� $%� �RN �# %0�� ! �)���  #*� � !(!( �,  �)' 2.22
����

�0+ !�)'�� X ����� � %0� �� FX
'�� �. ! �"�(�. 2.23

���
�

FX(α) = P (ω : X(ω) ≤ α) = PX((−∞, α])

&FX(α) =
∫ α

−∞ f(x)dx �α ��� �% � fX
!�.�." �� X %0��

��



� �� ?

A 
��@> ����� �
A ��	� �� �> ��� �� �����
 �����
 � �
� �� �� �� ��	� �� �� �����

���� ��@�>� ��A ��� =� ��	� �		� = ����� ���> = ����� 
=����� = �>���> = ���� =� �

X, Y
������>��

 ����� ��
 =
���> = ���� ��>� � � ��
� ���>��



A,B
���

P {X ∈ A, Y ∈ B} = P {X ∈ A}P {Y ∈ B} = PX(A) PY (B)

�?��

�0!# *�� # F1
)�)�� �%��%  (!�� �� �% �0!# ��%��( F1,F2

!�)�� �'�� �(� 2.24
���
�

&F2
)�)�� �%��%  (!�� ��#

&FY �# �0!# FX
�,% Y �# �0!# X �% �� *�� 2.25 -

��

��� �		 � 
���� ����	 -� �-� �� 
 ��
�� =������
 =�>�� �� ����� �=�����	 ��� �� =�>�� �� ��� �� �����
 �
� �� ���	 ���> ��A��
X(ω)

�
 � ?
 ��� � �
 ������ ����� 
> 
���

 ?
2.1

����> ��� �
 �@����
 �� 
���

 =���

� ��
�� ���� � ��� �� ����� ��� �� � �
�� �	��
 �
�� ��� ���� 
���

��� ����� ����� ?�� ��� �� � ��

EX(ω) = lim
δ→0

lim
N→∞

N∑

n=1

(n− 1)δ P{ω : (n− 1)δ ≤ X(ω) < nδ}

��



����>
 ����@
� ���> ��A 
�� �� 

2.2

���� 
�� �

EX =

∫

Ω

X(ω)P (dω) =

∫

Ω

X(ω)dP (ω)

���� 
A ���	 ��� ?����
δ
����� 
���

N
���� 
��� 
 �@���� � �
 
�� � �@� 
���� = ��� 
A ��>�


���
 
>	 �
 ����� � � 
��� �� >� �� �� �
� �� ���	 ���� 
��� � �
 �
(Lebesgue)

��>� ���	 ��� �

?
EX = ∞

� �� �� � ��
� �� �� � � ��� ���� 	�� � �� ��� �
��� ��� �� � �
�� ���� �
�� ��� ���� 
 ���

���> �����	 ��� �� � ����� 
�� ��=�����	 ��� �� ���� � 
��� 
A ���	 ��� ����� 
��A�> � �@�>�

?
Ω

>�
&+� �%� %� {ω : (n− 1)δ ≤ X(ω) < nδ} ��  %� 2.26 -

��

�����
X = X+ −X− ���� 
�� ��� �� ���
> ����� � ���� � �� �� 
�@���� ��>�
X+(ω) = max(X(ω), 0), X−(ω) = max(−X(ω), 0)


���

� �>�� �	��> ?∞ �� 
��� = ��>���
� ��� ������ ����>
EX = EX+−EX− �������

?
EX = −EX− �A�

X(ω) ≤ 0
=� ��

?
E |X| <∞ =� ����� ����� ��> �� ���>��	 ��� ���� ����� 
����

&/ ��. %0� ��� !(��"�  �"�(�. �� !�*�! !����  �)'  !�,+# #�* 2.27 -

��

�




����  (!��� �'�� �. ! �"�(�. �% '���. �! ��#!�  ��) !�*�! !% #�*� �! �( 2.28
����

E(X) =

∫

Ω

X(ω) dP(ω) =

∫ ∞

−∞
x dPX(x) =

∫ ∞

−∞
x dFX(x)


�?� �
g ! ����  �"�(�.�� S ���� #*��# ����+�  (!��� � � �)  ��"#�

E(g(X)) =

∫

Ω

g(X(ω)) dP(ω) =

∫

S

g(x) dPX(x) =

∫ ∞

−∞
α dFg(X)(α)


�?� �
�/(�%� �%�! ��#!� !)�� � �,� �� �����(�)' �  ��"# ��.� ��.% '�� �. ! ��"�(�. )'(� ��'/(% !%

&�%� ��)'( %� �! �% �'#��� �"��/� ��'
�����
 ������

?= �� �>�
C
��
α, β

�� = ����>��	 ��� � ��
Y

��
X

��
 �
E(αX + βY ) = αEX + β EY

��������� ?�
EX = C

�A� 	 ���>��
>
X(ω) = C

=� ?>
EX ≥ EY

�A� 	 ���>��
>
X ≥ Y

=� ?�
E[g(X)] ≥ g(EX)

�A� � �������� 
�@����
g
=� �

(Jensen inequality)

� �� 
������ �� ?�

�A�
1
p

+ 1
q

= 1
��

0 < p, 0 < q
=� �

Holder
����
 
����� �� ?


E |XY | ≤ ||X||p ||Y ||q, ||X||p .
= (E |X|p)1/p
�?� �

�>��� A� �
q = p = 2

�> �	�� 
��� ��
 <���� �� �� 
����� �� ?�
E |XY | ≤ ||X||2 ||Y ||2 (E |XY |)2 ≤ EX2 EY 2


�?
 �
A


���> � 
@�>� �
φ
��>��� � � ���� 
�@���� ��>� �>� �> �@ 
����� �� ?A

inf{φ(y) : y ∈ A} · P {X ∈ A} ≤ E
[
φ(X)1{X∈A}

]
≤ Eφ(X)


�?� �
�
���


inf{φ(y) : y ∈ A}1{X∈A} ≤ φ(X)1{X∈A} ≤ φ(X)

�?� �

?����� �� �� ����
��



>� �> �@ 
����� �� �� �>���
A = {x : |x| ≥ a}�� φ(x) = x2

��� �	�� 
����
a2 P {|X| ≥ a} ≤ EX2


�?� �

&� �/��. %0� Y �� X ��  ���# '�% ! �(��! *�� 2.29 -

��
=����� = ����� ?� �� ��� 
���
� ���� 
���� �� �
���

 �� 
�@�� � �
 
�>
 
����


θ1, θ2
��� =� 
� ��> � ��	� �		� = ����� ���> = �����

X, Y

E ei(θ1X+θ2Y ) = E eiθ1X E eiθ2Y .

�?	� �
��>� ���� �� ����
� ������ ��
 � ��� �� � ����� ���@���� ��>� 
� �� 
���� ��>�� 
���
��� =� 
� ��> � ��	� �		� = ����� ���> = �����

X, Y
=�����
 ?=
��� = ���� =� =�����

f, g
������ ���@� ��� ��A

E f(X)g(Y ) = E f(X) E g(Y ) .

�?		�

� �	- ��� ���� 

� �	 
 ��
?� ��

Xn

��
 �� ����>��
 >���
(Ω,F ,P)

�
 �
Xn(ω) → �� �� P(A) = 1 �+ A +��%� ���� �% X �� � !��#!� # !�(�!� Xn  �)� 2.30

���
�
&Xn

a.s.→X !%, ���( & ω ∈ A ��� X(ω)

N = {ω : X(ω) 6= Y (ω)}  "�#� � �� Y %0� ���� )��! ���% �%0� %� X �� �(*( %� 2.31
����

)��! �*#( �(% &Xn
a.s.→ Y ��� � P(B) = 0 �� +��%� B ��%� N ⊂ B !� ���� �+��%� *�� #  ((�%�

&%0� %� ��#' � )��! *�(( ���� � ,� Y

�Xn(1) = 1 �� A = {1} � ! &P({1}) = 1, F = {∅, {1}, {2, 3},Ω}, Ω = {1, 2, 3} � � 2.32
�	
��

����� Y (ω) = 1 �%��%  (!�� &Xn(ω) = X(ω) �ω ∈ A ���� �%0� �((�% X �,% &X(ω) = ω ��)'(�
�� ��� ���� !��#!� #*�� (Ω,F ,P) �% ���+!! %� �,�  �+# �� ���# &��+�  �+ #� !�(��! !%

&�.% �!��#!� � +��%� �� ��  "�#� !! �� ���� F

��



%0� �% � !��#!� # ! �)) !�(�!�  �)� �% ���� !�)� %� Xn  �)� 2.33
���
�

&an
a.s.→ 0 ��� ���� an(ω) = supi,j≥n |Xi(ω) −Xj(ω)|

&��*�� � %0� %� an 2.34
����

��>�
 = ��� 
��� �� ��>��
� ������ 	�� �
ω

��� ������� ������ �� �� 
���	 ��� ���
?� ��

X
�� ���
� ���� ���� 
�� �	
�� �

Xn(ω) → X(ω)

?
a.s.

����
 ������ ��
 =� ��� =�
a.s.

������
Xn


��� �
����
��%� P{|Xn − X| > ε} → 0 �ε > 0 ��� �% !��#!� # !�(�!�  �)� �Xn

P→ X 2.35
���
�

�ε > 0 ��� �% !��#!� # ! �)) �(�!� Xn &n→ ∞

sup
i,j≥n

P{|Xi −Xj| > ε} → 0 as n→ ∞ .

2.36
����

&! ��#!� # !�)) !�(�!� %� �0�% ! ��#!� # !�(�!� Xn &%
&Xn

P→ X �,% Xn
a.s.→ X �% &#

&Xni

a.s.→ X  ��#+ ni  �)� !! !� ��� �,% Xn
P→ X �% &'

2.37 -

��
&� �+� # !% *�� &�

�,�� &Xn
a.s.→ X ���' Xn

P→ X � (+/� ! �)'( %�'�) �! &�
& P([a, b]) = b− a � � 0 ≤ a < b ≤ 1 ��#+� Ω = [0, 1] � �

� � &s �� �/� �! ��# ��)' ��� !% [s] �# ���( & tn =
∑n

i=2 1/i ��)'(

Xn(ω) =

{
1 ω = s− [s], s ∈ [tntn+1]
0 otherwise

��



��>
 �����> �A�� ?
� ���� 
>��� 
��� = �� �� A ��� ?� �� ����
� ���
�*�� & A∞ =

⋂∞
n=1Bn �� � Bn =

⋃∞
k=nAk

��)'( Ak
!�+��%� ! ��)� ��#+ 2.38 -

��

&� ��+. $�� ��% Ak �� � ��� ω �% ��� �% ω ∈ A∞

�,% ∑∞
k=1 P(Ak) <∞ �% �� �+� ��'�! �� ��(�� ��# �(Borel Cantelli) ��/(� ���# 2.39

�	-
&�.% %� Ak

$�� ��% ���� ����� �� ��� � P(A∞) = 0

���
n → ∞ ���� ��� ���� 
�� � �@ �>� ?

P(A∞) ≤ P(Bn) ≤∑∞
k=n P(Ak)

�
n
��� ���� ��?
��



 ��� Ai
�� ! ��#!�  �,% ∑∞

i=1 P(Ai) = ∞ �� �0!# Ai
�% �%�  �� �� �(� �"* 2.40

����
&P(A∞) = 1 ��� ��� � � %� ���+. $�� ��%


� ���
 ��� ��
ni


��� �� ����� ?
ai → 0

�
��� 
��� ��>� �
2.36


��	> �� � ��� ����

����� ?� ��>��
> ������

 ���> � ����� �A 
���
 ?

P(ω : |Xni
(ω) − X| > ai) < 2−i����� �

P(A∞) = 0

��� ∑∞

i=1 P(Ai) <
∑∞

i=1 2−i = 1 <∞ �A� ?
Ai = {ω : |Xni

(ω) −X| > ai}
�	 ���>��
> �
�� ?

i.o. = infinitely often
����

P(|Xni
(ω) −X| > ai i.o.) = 0?

Xni
(ω)

a.s.→ X(ω)
�� � �� �

ai → 0
� 
����� � = ���� �� ���� ���� |Xni

(ω) −X| > ai

!*�� # ��� a.s. !�(�!�  �)� !! %"� �! ��(�! �� ! �)) !*�� � �,�� &% !% *�� 2.41 -

��
&! ��(�! *�� &X ���� ���� �'

���		� ��� ����

�
> ����� =
> =�A���
 =���
� =
 ����� ����� ���
� 
�� ���
� �@���> � �� ���

?���

&E(|X|r) <∞�� �� (Ω, F) �+ %0�  $��% %� Lr(Ω,F ,P) #*�� �1 ≤ r <∞ ��#+ 2.42
���
�

?
Lr

��@���
 
�� ��> �����

��



�� Lr �� � ����� Xn, X �% X %0�� r �)�� +"���# !�(�!� {Xn}  �)� 2.43
���
�

&E |Xn −X|r→0

&q.m. = quadratic mean �+ �# �� +"���# !��(�! %��( r = 2  ��� & Xn
r.m.→X �)� �+ !%, ���(

�||X||r = (E|X|r)1/r  ���( !*! ��� #*�� %� Lr(Ω,F ,P) #*�� � *�� %�� � 2.44
����

&(X, Y ) = EXY %� !�� �(.  �.�� ��%� r = 2 ��%� /�#�� #*�� � , &1 ≤ r < ∞ �� ��#+
��� ���� � F1

�+ ��)�)�  %0�  $��% H1
� �� �F �� sub sigma-field F1

� � &H = L2(Ω,F ,P) ���(
#*�� !! H1

��%� �/�#�� �#*�� � ��� �� ���%(�� �����/�� � �#*�� H1 �� H �,% &EX2 < ∞
&H �� /�#�� 

�X %0� ��� �,% &����# � !)��� %� !�# ��*  �"�(�. f � ! �#���� ������ �% � 2.45
���	

P {|X(ω)| ≥ ε} ≤ 1

f(ε)
· E(f(|X|))

?���� 
���
 ��@� =��� ������
 >� �> �@ 
����� �� �� �	�� 
��� �
A ���� ��

E f(|X|) =

∫

Ω

f(|X(ω)|) P(dω)

�?	��

≥
∫

{ω | |X)|≥ε}
f(|X(ω)|) P(dω)

��>���
f
�� 
����
�?	� �

≥
∫

{ω | |X)|≥ε}
f(ε) P(dω)

����� ��
f
�� 
����
�?	� �

= f(ε) E1{|X|≥ε}

�?	� �

= f(ε) P(|X| ≥ ε) .

�?	
 �

&/.�� �%(! !� ���� r ≥ 1 ��#+ f(X) = |X|r  �"�(�. 2.46
�	
��

&P{|X| ≥ ε} ≤ ε−r E(|X|r), r ≥ 1 ��� ���

&Xn
P→X �,% Xn

r.m.→X �% 2.47
���	

��



>���� 
����� ��� ���� ��
P(|Xn −X| ≥ ε) ≤ ε−r E(|Xn −X|r)? 


Durret
�� � ������
� 
����

���� ?
EXiXj = EXi EXj

=�����
i 6= j

��� �� ��� �
�@���� ���� =
�
L2

�> � �� {Xn}
��
 �

n
��� �� ��� �=��� ��� �� �� 
� �>� ����� ��� = �������

EXn = µ, V arXn ≤ C .

�?	� �
�A� ?

Sn = X1 + . . . + Xn


��� ��>
 
>��> =�����
 = �����
 � �� �� ������ 
���
 �A�
n→ ∞ ����

Sn

n
→ µ


�?	� �
?� ��>��
>�

L2

�>
>��� ?

L2

�> ��� ���
 ����
� � ���� ���� ��

E

(
Sn

n
− µ

)2

= V ar

(
Sn

n

)
�?	� �
=

1

n2
V arSn


�?�� �
=

1

n2
(V arX1 + . . .+ V arXn)


�?�	�
≤ Cn

n2
=
C

n


�?���
?
 �@���� ���� = �����
� ��� �>�� 
���� ����
 
�����
 ����

��+"��� �+ �%(!  ,�% �+ �#� �(�% ��(!�� �� +"��� �  ���� ��+�  �'�) !% #*� 2.48 -

��
��,  *�� # �*� � �)� ���)

������� 
��� -� ��� ����
?� ��

X

 �
 �� ����>��
 >���

(Ω,F ,P)

�
 �

FXn
(α)→FX(α) �% Xn

L→X �# !%, ���(� X �� !�'�.! # ���(�!� Xn
%0� �� ��%( 2.49

���
�
&FX(α) �� !�.�"� !)��( %� � α ���

��



2.50
�����

#*�� �+ �)'�� �X �� � Xn
�� ��%� �� �.% ! �+���  � �� �'�� �. ! ��"�(�. ��) %�  �)'  � ����� &%

��*% !��#!� 
����!� f  � ��*�  .�"�  �"�(�. ��� �% Xn

L→X ���( ����� *��/ �+ %0��  ��� � !(! �(  �)'  &#
&E f(Xn)→E f(X)

 ��*  � ! �, ! ��(�! � �)� ��� � .��! �#  ���  � *�/# � !)+��� 0! �.�"� !)��(0�  �#'  &'
&�/.��  %� � !��#!� # ! ��(�! � �! ��

�! ��#!� ! �)�� �� �% ��'�� �. ��  ��* !��(�! �+ �#)� �! �( � �#� ���� �.�%# &)
! ��"�(�.� ��% � ∫

Ω

f(α) dPn(α)→
∫
Ω

f(α) dP(α) �f  � ��*�  .�"�  �"�(�. ��� �% Pn ⇒ P ���(
&� ∫

R

f(α) dFn(α)→
∫
R

f(α) dF (α) �'�� �.
&X �� ��* �(�!� Xn�� ���+.� ���� �% �'�� �. �� #��* �, ! ��#!� #� ����

��)'( ��� n ��#+ 2.51
�	
��

FXn
(α) =

{
0 α < 1/n

1 α ≥ 1/n
FX(α) =

{
0 α < 0

1 α ≥ 0


�?�� �

�!��#!� # !��(�! �' �� �!� & � '�)#  ��* !��(�! ���  %� 2.52 -

��

&Xn
L→X �,% Xn

P→X �% � *�� %� � 2.53
���	

&Xn
P→X �,% �� !��#!� # � �/��(��/) X �� Xn

L→X �%

?
2.57

	��� 
�� 
�����
 
��	
 ����
�
?
��� ������
� � ������

?
Xn ⇒ Y

����� <� ��� �� 
��� ������
 
���
��



����� =�
i.i.d.

����� ���� � � ��> � ��
X1, X2, . . .

��
 � ?	
P(Xi = −1) = P(Xi = 1) =

1

2
.


�?�� �
�A���
 ��>�
 	���� �A� ?

Sn = X1 + · · ·+Xn

�����
Fn(y)

.
= P

(
Sn√
n
≤ y

)
→ 1√

2π

∫ y

−∞
e−x2/2 dx


�?�� �
�����

Sn/
√
n
�� �����
 �� ��� � �� �

y
�> � �@� � �
 � ����� � �
 
�� � �@� 
���� ?

y
�� ��>�

?������ 
����� 
��� ������
 = �� ���� � ��
 �� ������� ������
�� ?��� � �����>

X
�� = ������ ���� ?

X
� �� �� ����� � �@����

Fx


�
� ?���> 
���� ?�=��� ���
� ���� ?
X + 1

n
Yn


��
n
�
 
����
 ����

Y1, Y2, . . . i.i.d.
� �� ��� �� �@ ��� ���


������
n
�
 
����
 �� �����
 � �@���� �A� ?|Yi| ≤ C

�����
Fn(x)

.
= P

(
X +

1

n
Yn ≤ x

)
�?�
 �

≤ P

(
X ≤ x+

C

n

)
�?�� �

Fn(x) ≥ P

(
X ≤ x− C

n

)
.


�?�� �
�� �>�� 
���� 
�����
� �A�

x

��� �> � �@�

Fx

=�
Fn(x) → P(X ≤ x) = Fx(x)


�?�� �
?� ��
 �� 
��� ��� ���
 �� ������
> ������
 � � 
���

?� ��� ����� �� 
� A ?�
p

��@
 ���>��
 =� ��� �� �� 
��@
 �� ������ �
 ���� �� ����
 � ��
 ��

Xp

�> 
���
�� ���
 ���� �� ����

Xp

���� �<��
p
��� �� =� �>	� �� ��A ����� ?

i.i.d.
������ � ����>

��
 �����
 �A� ?
����
 <�

P (Xp > n) = (1 − p)n .


�?�� �

��



�>��
p→ 0

���� ?
pXp

� ��> 
��>��
P (pXp > x) = P (Xp > x/p)


�?� 	�
= (1 − p)x/p
�?� ��
→ e−x


�?�� �
?��� �@������� 
���� ��
 ��>�
 � 
��� ������
 � �� 
��� ?

x
���

p→ 0
����

�� Y, Yn
%0� �+ ! ��#!� #*�� ���� �,% &Xn ⇒ X �� *�(( Skorohod representation 2.54

���	

��
FX = FY , FXn

= FYn


�?�� �
&Yn → Y w.p.1 $��(# �

��� ��)# ��� ��� �� �(!�� ���)�� #� � �'���. Y �� X �� �#+�# �� ���,� #��* 2.55
����

P(Xn ∈ A, Xn+1 ∈ B) 6= P(Yn ∈ A, Yn+1 ∈ B).

�� �� � =����� = �>���> ��� 
A 	��� ?
Skorohod

=� �� =�����
 = �	���
� ��� �� �
A
���� ?
��� ��� ���
> ������
 �����
� ��� ��� 
� ��� �
=����� � ���

 .�"� f ��� $��(# &E g(Xn) → E g(X)  � ��*�  .�"�  �"�(�. ��� � 0�% Xn ⇒ X 2.56
���	

&f(Xn) ⇒ f(X) ����!�


A ����� ���>

Y, Yn

=����� �>��� ����� ��� �� ��@��> ����� ?
Xn ⇒ X

���� ���� ��	���� 
��� �	 ���>��
>
g(Yn) → g(Y )

�� �>�� �
��@�
g
�� 
���� ?	 ���>��
> = �� ����


E g(Xn) →
�� �>�� �=�
A

Y
�� �

X
�� =������
� 
���� ?

E g(Yn) → E g(Y )

� ���
 ������



?
E g(X)

?� �� �@� ���@���� ��� �� ����@�
 
 �@����
 >�� �� ��� �� 
��� � �
 ������ �� � ��

 
����
 ��
h(x) = g[f(x)]


�@����

g

����� 
��@� 
�@���� ��� �� >� = �� � 
�����
 
��	
 ����
�

E g[f(Xn)] →

��� 	 ���>��
>

f(Yn) → f(Y )
�� ���� �>�� =���
 
���
� ?
� ���� 
��@� � �


?
f(Xn) ⇒ f(X)

	���
 �� 
����
 ��@� ��� 
���
E g[f(X)]

22



�
��� ������
 �� ��>� = ���� 
�� 

���
 ��� � ���� = �����
�! ����� !�%# ! �(+/ 2.57

���	

PXn
⇒ PX &�

G  *�!.  "�#� ��� &�
lim inf

n
P(Xn ∈ G) ≥ P(X ∈ G)


�?�� �

K  ��'�  "�#� ��� &�

lim sup
n

P(Xn ∈ K) ≤ P(X ∈ K)

�?�
 �

P(X ∈ ∂A) = 0 �� �� A  )�)�  "�#� ��� &�
lim

n
P(Xn ∈ A) = P(X ∈ A)


�?�� �

� ��>� 
���� 
@�>� � ��> 
���� 
@�>�
 �� ����> � �����
 �� �����
∂A

.
= Ac −Ao

�
��

?
A

��
�� ���� �
� 	
�� ��� 	 �� 
�?
P 6=> a.s.

����� 
����>� �
r.m. ⇒ P ⇐ a.s.

����� ���
 �� �����
&r ≥ 1 ��� r.m. 6=> a.s. ��� a.s. 6=> r.m. ��  �'�) �0+  %� 2.58 -

��

&i 6= j ��� Ai

⋂
Aj = φ �� P(An) > 0 �� �� ! �+��%� An, n = 1, 2, . . . , �� � ����%� ��*� �	�

� � !��#!� # �(�!� Xn
�+ �#� E |Xn|r = C �� �� αn

!% ��*#� �! �(�  %� &Xn = αn1{An}
�)' 

&P 6=> a.s.  �'�)# ��!� � �(� ���� &r.m �# ��# %� �%

?
a.s. ⇒ r.m.

�>�� ���
E |Xn|r ≤ C

�� �A� 	�� ���� � ���� �>���

�




�% (UI) Uniformly Integrable %� {Xα, α ∈ I} %0� !"�#� 2.59
���
�

lim
N→∞

sup
α

E(|Xα|I{|Xα|>N}) = 0

&$��(�%� ! ��#!�  !�� �� 0 *��#0 + �(�� %# �%(! 2.60
����

� 2.61 -

��

& , �%(! ��� ���� �(�% �r = 1 ��#+ � �)�� ��'�! � Xn
��  %� &%

{Xn} �,% E(f(Xn)) ≤ C �� |x|→∞ ��%� f(x)
|x| →∞ �� �� f(x) ≥ 0  �"�(�. !� ��� �% ��  %� &#

&uniformly integrable %� 

&Xn
r.m.→X �,% UI %� {|Xn|r} �� Xn

P→X �% � *�� %�� � 2.62
���	

&UI %� {|Xn|r} �,% Xn
r.m.→X �%

��� �� ��� ���>�� ����� ��� ����
 � � �
 ���
> ��>� = ���� 
���� ����	 
���
?� ����
 ��� = �	��� ���� 
�� ?

E limXn = lim EXn

&limn→∞infk≥nXk = X ����!� �% lim infXn = X �% limXn = X ���( 2.63
���
�

& ��#�� lim sup �% lim !�)' 
�� ������� 
���

an = (−1)n

���
 �
�����

lim inf an = −1, lim sup an = 1.?
lim inf bn = lim sup bn

=� ��� =� ��>� � � {bn} 
����� �� ����
� ��
�,% �Xn(ω) ≥ X(ω) �n ���� � E |X| <∞ ���#+ X(ω) � ���� *�(( �Fatou ��  �� � 2.64

���	

lim inf
n→∞

EXn ≥ E lim inf
n→∞

Xn

��



?
X ≡ 0

��>� =����� ����
 A� � �=������ �� =

Xn

=�����
 ���� � �
 <��� �� �	�� 
���

Xn
P→X �%� |Xn| ≤ Y �n ���� EY <∞ ���#+ Y ���� �% �Dominated Convergence� 2.65

���	

&EXn→EX �,%

&EXn→EX �,% Xn
P→X �� |Xn| ≤ C �% �Bounded Convergence� 2.66 -

��

&EXn ↑ EX �,% Xn ↑ X ,Xn ≥ 0 �% �Monotone Convergence� 2.67
���	

E |Xn|r→E |X|r �,% Xn
r.m.→X �% 2.68 -

��

&����� ����� �%# �,+ � |Xn| = |Xn −X +X| �	�

��)'( &a < b ��%� P(a, b) = b− q �� ���#  )� F = B �Ω = [0, 1] � � 2.69 -

��
�
EXn

��#+ ���� �! �( � �/.�� � ��% &���# ��  ,�%# � �(�!� Xn
��  %� &Xn =

{
n ω ≤ 1/n

0 !�*%

Yn ∈ (−1, 1) �,% &Yn =
(

Xn

1+|Xn|

) ��)'( &{Xn}  �)�  (�!( 2.70 -

��

&� ��� r ≥ 1 ��#+� Y ∈ (−1, 1) ��#+ Yn
r→Y �% ��� �% Xn

P→X �*�� 
�@�� ���
> 
��� ����� �� ?= �>���� �� ��> =����� ��� ���

 �	���� ��� �� �� =��> ���
� ��� 
���

 �� >���
� ��� ?��� 	�� �� ���> � �� ��>� ����� �� ������ �� ���� 
���
 ���
��A�> ?��� 	 �� �� ���> � �� ���� ��� ���� � �� >��� 
��� 	�� �� ���
> �� �� � ����� ���>

?�>����
 
���

 �� ��>� ��� ���

 �	���
��� �#�'/(�% X �% �� *�� &fx

!�.�." �+ %0� X � � 2.71 -

��

EX =

∫ ∞

−∞
yfx(y)dy

&! ��*�! ��#+ ! ��(�! �/.��# ��!� �  %���� �� ��� � )"� �� �� �# ��� !% ���� �	�
&�� �� ��'/(�% !%  ��� �(�*#� ��'/(�% !�)' �  %��  , ��'�!

��



�
���	 �-� �� 
 ��
: 2.72

�	
��
X(t)−−−→

signal
 )�)� !��+� Y (t)−−−−−−−−−−→

measured signal

!�*�! '��� �
Y (t) = 17  )�)� �!( # X(t) ≥ 8 �� ���� ���� � � &X(t) ��  ��/��//�  +�)�

& �# �� !���, �%!� %0� X ����� & , '��� !��%� �+ !�(+� %# ! �(! ��  

Y =

{
1 X = 1, 3, 5

0 X = 2, 4, 6

���# ��* �.�

P [X = 3 | Y = 1] = P [X = 3 | �'�, �% X] =
P(X = 3, �'�, �% X)

P(�'�, �% X)


�?�� �
=

P(X = 3)

P(�'�, �% X)
=

1/6

1/2
=

1

3


�?�� �
�# ����

P [X = 3 | Y = 0] = P [X = 3 | �'�, X] =
0

1/2
= 0


�?�� �
�"��� �����#

P [X = 3 | Y ] =

{
1/3 Y = 1

0 Y = 0

�� #� ��� �%0� � ,
P [X = 3 | Y ] = P [X = 3 | Y = 1]1{Y =1} + P [X = 3 | Y = 0]1{Y =0}

����  �'��(%#
P(A) = E1{A}

 (! ��   ��� ��#+ �#�(
P [X = 3 | Y ] = E

[
1{X=3}

∣∣ Y
]

��



�����# � %� ��� f  �"�(�. ��#+ �! �(! �� !�*�!� ����( !%,�

E [f(X) | Y ] = E[f(X)1{Y =1}]

(
1{Y =1}

E1{Y =1}

)
+ E[f(X)1{Y =0}]

(
1{Y =0}

E1{Y =0}

)

%0� %�  %"�! & , +��%� �(. �+ f(X) �� +"��� �#�( �Y �0+ �)'�� +��%� �!( # ����	�	�
� FY

)�)� 
&P{Y = 1} 6= 0 �� �%(!# !�(! �� !�*�! �� ��)' � �! �(

�!�.�." ��+# ��(!���  ���  �

�
���	 �-� �� ���
�?� ��
Y

�
 �� �
L2(Ω,F ,P)

�> � ��
X

�
 �
����� �� � ?

L2(Ω,F ,P)
�> = ��@��� �FY

=�����
 =����� �� 	�>��
 >��� ���
HY

�
 �
?
g
�
��� ���> ��@���� ��>�

g(Y)
�� = ���� 
� ��

HY

�> � �� �� �� �>�> ���	 ?� 

E Y 2 < ∞�@ �� 
� �� 
��

HY = {g(Y ) : E[g(Y )]2 <∞ ���>
g}

&HY
�+ X ��  ���  %� E [X | Y ] !(! ��  !�*�! 2.73

���
�

Z ∈ HY
��� !� ���� � � )�*� %� �,�  ��� � �(*�� 2.74

����

E[(X − E [X | Y ]) · Z] = 0

�?� 	�

�g ���# !�"�(�. ��� � ����  ��"# ��%
E[(X − E [X | Y ]) · g(Y )] = 0

�' �%� � ( 2.41) !% �����  FY
)�)� %0� %� E [X | Y ] �� ��� &E [X | Y ] �� ���.�% � , ��%�

&P(X̃ 6= E [X | Y ]) = 0 �,% ( 2.41) !% ����� X̃
�A� ������ ����� 
�@���� � �


f
=� �
�� ?FY

��� ��
Y

�> ����
E [X | Y ]

�� >� = ��
?
E [X | Y ] = E [X | f(Y )]

��



�� ��� � #/� �)'�� E [X | Y = 3] �%� �#��� &! �)�� σ �# ��  �(! # ��!�( �(% 2.75
����

��# ��� �� E [X | Y = 3] 6= E [X | f(Y ) = 3] �,% ��.%  (�% �! ��#!� � +��%�# %�  �(!  
& ��. f �% E [X | Y = 3] = E [X | f(Y ) = f(3)]

��
� F1


� �
> ?
��@ 
���>
σ-field

�> � ��� �� ����� ����
� 
� �� �FY

�> �� � ��� � �� 
���
� ��
 ��


E [X | F1]
�A� ?F1

=����� � �� �� 	�>��
 >��� ��
H1

�
 � �F ��
sub σ-field?F1

���� �
( 2.41)

=����
 ����

�A ∈ FY

+��%� ��� �% ��� �% � ���!� ( 2.41) � *�� %�� � 2.76
����

E[(X − E [X | Y ]) · 1{A}] = 0

&#��( �0*%� �/��. %0�� !�)��� �����

&E |X| <∞ ! �.�� !�*�! �+# %0� X � � 2.77
���
�

A ∈ F1
��� �� ���� � F1

)�)� %0�� !�)'�� E [X | F1] ! �(! ��  !�*�! �,%
E[(X − E [X | F1]) · 1{A}] = 0

� ����  ��"#
∫

A

[X(ω) − E [X | F1] (ω)] P(dω) = 0

�� �� 
A� = ���� 
��� 
���
 ����� �
�� ?
E |X| < ∞ �� ��� �

E |X2| < ∞ ����� �� 
��
?�	�>��
 >��� 
�� 
�� ����� � �
� 
��� �

&� !��#!� # )�*�� � ��� E [X | F1] �,% E |X| <∞ �% ���� # ��'�!#  *�� � 2.78
����

��� �
A >���� ����
� ��� ?��� 	�� �� ���> = ����� ��� �� � �� >��� ������� 
���� 
���


�� >���
� �� ��� ��� ���� 	�� �� ���> = ����� ��>� ���� �� ����� � ����� ����
� 
����

?�>�> 
���� 	 �� �� ���> =������ ������
 �� 
�� 
���


!(!�� !��#!� 2.79

���
�
P [A | F1] = E

[
1{A}

∣∣ F1

]

&E [X | FY ] ��  !+� �# �� E [X | Y ] ��� �� 

��



&E |X| <∞ �� �� %0� X �� 1, 2, . . . , N �� ����+ �#�� %0� Y � � 2.80 -

��

&{ω | Y (ω) = j}  ��" �  "�#� �� �+ + �#� E [X | Y ] �� *�� &%
&� �# �� !�'�)  %� � E [X | Y ] �� ���.� '�" � �! &#

&FY
)�)� �(�% Z �% ����! � #��* �(�% ( 2.41) ��  %� &'

&E [X | F1] !% #�* &F1 = {Ω, φ} � � &)
�����
 ����
� 
�� �� � ������ � ���� 
� �� ��@� ����� ��
 �����
 ������ �� ����� ����

?
��� ��� ��
 =��� � 

A 
���

� 
>��> � �
A ��� ��
 ��� ?� ��� ��

=� = �>�� �� � �
��� 	 �� �� =
� � � =� � 	�>��
 >���> 
���
 ��� �� ���� �� ����� �����


?

��� �� �� ��� 
� �>� 
>��� �� � =���� �� 
��� ��A�� ��� ����� � ������
 
���

 ?��
�� �# ��* ����+ !�#�� �,� %� ν ! �.�� �! �# ��* �  )�� &! ��#!� #*�� (Ω,F) � � 2.81

���
�
&! ��#!� !)�� %� ν(A)/ν(Ω)��

=� �A�
µ(A) = 0

=� �
A


���� 
@�>� ��� =�
ν � µ


���
ν, µ

������ � ���� ��� ��>�
��>��� 
��� �����

ν(A) =
∫

A
X dP

�A� ?� �� �� ����� =� �> ��� � ��
X

�
 � �
����� ?
ν(A) = 0?
ν � P

��
A ���� �� X %0� � ��� �,% ν � µ�� (Ω,F) �+ ! ��.�� !�)�� ν, µ �% &�� �)���(���)� � 2.82

���	

����!� ! �.�� !�*�! �+# Y %0� ��� &ν(A) =
∫

A
X dµ ����!� F �#

∫

Ω

Y dµ =

∫

Ω

Y X dν.

�?� ��

 ��"# �(��� �#��� � �µ�� �*�# ν �� ��)���(���)� !�,'( %��( � �+� X %0� 

X =
dµ

dν
.


�?�� �
��� ,% !%�( ( 2.42)  %���� 

∫

Ω

Y dµ =

∫

Ω

Y
dµ

dν
dν Eµ[Y ] = Eν

[
dµ

dν
Y

]
.


�?�� �

��



�# ��* %0� X � � &F1  )�� �'���!!� (Ω,F) !��#!� #*�� ��!( &�! �(! �� !�*�! ���� � 2.83
���	

�) � �+ (Ω,F1) �+ ν  )�� ��)'( &! �.�� !�*�! �+#

ν(A) =

∫

A

X dP, A ∈ F1 .

�?�� �

�� (Ω,F1) �+ ! �.��  )�� ν �,%

E [X | F1] =
dν

dP
.


�?�
 �

>���� ���> � �
 = ���� �� 
��� ��A�� = � 
��� �F �� �� �>� F1

�� ������
ν
�� >� = ���

?F1


���� � �
 = ���� �� 
��� 	����� �
(Ω,F1)�� �����> ����� =� � � 
��� � ��
� ��� � �� ���
 �� ������ ��>���

ν
�� � ���� �� ���� ������
� ��� ?F1

���� � �� ��
 � ������ ��A��
 = ���� �� 
��� 	���� ?
���>��
 ���� �>��
X=�����

A ∈ F1

��� �� ����
� ���� � ��� ��
 �����
 �A�
E[X1{A}] = E

[
dν

dP
1{A}

]
.


�?�� �
�A� F1

�� 
����
1{A}

�� 
��� �=���� �� 
��� 	��� ��� =���
∫

Ω

1{A}X dP =ν(A)

�?� � �

=

∫

A

[
dν

dP

]
dP


�?�� �

=

∫

Ω

[
dν

dP

]
1{A} dP .


�?�� �
�����
 �� =������ � �=��> ��� =
��� ����

X = X+ − X− =����� �A� �>��� ����
X

=�
?= ����
 ��� �� ���� ��
 ������
 ���
�

X
�� ���� ��


?���
> ������ 
���

 ������ ��>�� � �
 �� �����
� ���� ������
 ��
�
���	 �-� �� ������


�



�������� ?	
E [αX1 + βX2 | F1] = αE [X1 | F1] + β E [X2 | F1]?>	 �
 ����� 
�� � �@� ����>

���>��	 ��� =���� 
��� �=���>��	 ���
X1, X2

�A� >	 �
 ����� 
�� � �@ =� ?
���

� ���� ��
�A ∈ F1

�
 � ?F1

=����� = ���@
 ��� ���� ?>	 �
 ����� ���� �@� 
����
����� �@ ����
� �A�

∫
E [αX1 + βX2 | F1]1{A} P(dω)


�?�	�
=

∫
(αX1 + βX2)1{A} P(dω)


�?���
=α

∫
X11{A} P(dω) + β

∫
X21{A} P(dω)


�?�� �
�
�� � �@ ����
� ��� ?�����
 ���������

=α

∫
E [X1 | F1] 1{A} P(dω) + β

∫
E [X2 | F1] 1{A} P(dω)


�?�� �
?
( 2.41)

�� = ���� 
�� � �@� �>��� ������
 ��������> >�� �����
?
1
���>��
>

E [X | F1] = C
�A�

1
���>��
>

X(ω) = C
=� ?�

?
E [X | F1] = X

�A�
E |X| <∞ �� F1

�� ����
X

=� ?�
?
E [XY | F1] = X E [Y | F1]

�A� �=������ = ���	 �>
 ��� � F1

�� ����
X

=� ?�
A ∈ F1

��>� ��� ?F1

=����� = ���@
 ��� ���� ��

E[(XY −X E [Y | F1]) · 1{A}] = E[(Y − E [Y | F1]) · (X1{A})]

?����� ��	>

( 2.41)


���

� � �F1

����
X1{A}

�>�

&� �+� � �� !% *�� 2.84 -

��

E{E [X | F1]} = �� *�� &F0 = {∅,Ω} ��%� E{E [X | F0]} = EX �� *�� 2.85 -

��
&EX


�



�A� ?F2 ⊂ F1 ⊂ F �
 � �
���

 ����� ?�
E [X | F2] = E [ E [X | F1] | F2] = E [ E [X | F2] | F1]?
F �� =� ����� ���
> F1

� �����
 
@�>� �� ��� ��� F1 ⊂ F 
�� ��
 �

����
� 
����
 ��	>
 �� �>�� ��� � �F1

���� =� � �
 �F2

����
E [X | F2]

�� 
��� ���� ��
�
F2

�� ����> � ����� ����� ����
� �A�
�A ∈ F2

�
 � ?= ���
E{E [ E [X | F1] | F2] · 1{A}} = E{E [X | F1] · 1{A}}


�?�� �
� 
����� 
���

A ∈ F1

�>�
= E[E

[
1{A}X

∣∣ F1

]
]


�?�
 �
= E(1{A}X) = E{(1{A}) E [X | F2]}


�?�� �
?�����
 ��	 �>� 
 ��� � �
 
���

( 2.41)
�� = ���� � F2

���� ��@��
 ��	>
 
��
�A� 
F1

����

Z
��> ���� ����

X
����� � F1

�> ���� ���>
X

=� ?

E [X | F1] = EX

EXZ = EX · EZ
=����� ���> � �� ��>� ������
 ������� ?F1

���� � ��
Z
�
 � ���� ��
��

E[XZ] = EX · EZ = E[Z · EX]

?F1

�� ���� ���>>
EX

�� ��� ��>�� 
��	
�
����!� �,% !�����(�� ! ����  �"�(�. g(·) �% ��Jensen inequality � ��(� ������ �% � 2.86

���	 ?�
E [g(X) | F1] ≥ g[E [X | F1]]

/�.#
|E [X | F1] | ≤ E [ |X| | F1]

E [Xn | F1] ↑ E [X | F1]
�A�

Xn ↑ X =� ?
L1

�>
X
��
Xn

��
 � �����	 ���� ��� ���
 ?�
E [X1 | F1] ≤ �A�

X1 ≤ X2

=� 	��> ?
E [Xn | F1] ↓ E [X | F1]

�A�
Xn ↓ X

=�
?
E [X2 | F1]


 �



�A� 	 ���>��
>
Xn→X

=�� �
EY <∞ �� |Xn| ≤ Y

=� �
Dominated Convergence

?�
E [Xn | F1]→E [X | F1]

� %#  /��# ���(� �� ������ �% !% �! ��(�!  �/.�� !�,+# �*�� 2.87 -

��
&y  )��(# g �� ��� �� !�,'( %� g’(y) ��%� g(x)− g(y) ≥ g′(y)(x− y) �g !�����(��  �"�(�. ���

���(
AN = {w : |E [X | F1] | ≥ N}
�?�� �
XN = X1{AN}


�?�� �
����(�

YN = E [XN | F1] = E [X | F1] 1{AN}

�?
� �

&E [g(XN) | F1] = E [g(X) | F1] 1{AN} + g(0)(1 − 1{AN}) �# �,+ ( 2.41)  �+ # !%, #" 
)"�� �� # � � ��" ,%� E |g(X)| = ∞ �#% E |X| < ∞ �#  ���# �./� �)� �� AN �# ���" ��

&�)'�� E [g(X) | F1]

&E [Xn | F1]
r→E [X | F1] �' �,% Xn

r→X �% �� ��+� � !�,+# *�� 2.88 -

��

� ���> ��A 
��� ?

L2

�> =���� = ��>��	 ���
X

� ��� ����� ����� ����
 >���� �>
 �����>
���@> ���� ���� ��>�
� 
��� ����� ���>� ���

E [X | F1]
������ ��> ���

X
���� ������ ?= �>��

����� ���>��	 ���
X


�����
E [X | F1] = E [X+ | F1]− E [X− | F1]

����� � ��>� �>����

?�> ���

&! �.�� !�*�! ��+# ��(!��� !�(! �� !�*�! ���� 2.89 -

��
%0� !�)�� &�EX2 <∞ ����� *�� # %� �% � �� �#�'/(�% �# ��* %0� X � �

Xn(ω) =

{
X(ω) if X(ω) ≤ n

n if X(ω) > n

��)'( &� ��� ��# /+�� Xn ↑ X ��� ��� ��� ��* %0� !�)� %� 
E [X | F1] = lim

n→∞
E [Xn | F1]







&L2�#  �/  ��) �� �'�� �)'�� ��� � )" ��%�

&ZX �#  , ��#' ���( &� !��#!� # ���� ��#' �� *�� &%
��� ���  %0� !�)� Yn

� ! &Xn  �)� !��*## ���!  � � %� ZX �� � ��" � ��#�  � !  �)'  � �)�
&Yn ↑ X a.s. ��� E |Yn|2 <∞

&ZY = lim
n→∞

E [Yn | F1] ��#' ���� �� *�� &#
�% ���(� �������%# �,+ &E |E [Yn | F1] − E [Xn | F1] |→0 *�� �,�� &P(ZX = ZY ) = 1 *�� &'

&! �(�/�(�� !��(�!  /.�� � ����� �����

E |X| <∞ ���� ������ 
A ����� ��� ��
E [X | F1] = E

[
X+

∣∣ F1

]
− E

[
X− ∣∣ F1

]
�?
 	�
X+ = max(X, 0)


�?
 ��
X− = max(−X, 0)


�?
� �

������
 ���A> ����> � 
���

�
?	 ���>��
>

E [X− | F1] <∞ 
� �
E [X+ | F1] <∞ �>��

E |X| <∞ �� ��
 ���>

Regular Conditional Probability

&E |f(X)| <∞ �� �� ���# !�"�(�. f � ! &ρ(x, y) !.!��� !�.�." �+ Y�� X %0� ��(�!( 2.90 -

��
�,%

E [f(X) | Y ] =

∫∞
−∞ f(α)ρ(α, Y )dα∫∞

−∞ ρ(α, Y )dα

�0+ �)'��  ρ(·|Y ) ��/# 
∫

A

ρ(α, Y )

[∫ ∞

−∞
ρ(β, Y )dβ

]−1

dα = P [A | Y ]

&ω ∈ Ω ��� ! ��#!� !)�� %� � �FY �# A  "�#� ��� %0� %� 


�



 (��! ��'#

E [f(X) | Y ] =

∫ ∞

−∞
f(α)ρ(dα|Y )

&�)�� � ���* ��%(!# !� ��� %� &! ����'� ! �(! �� ! ��#!� %��( %� 

regular condi- ! ����'�  (! �� ! ��#!� %��� P̂[A| F1] &! ��#!� #*�� (Ω,F ,P) � � 2.91
���
�

�% tional probability

&1 !��#!� # P̂[A|F1] = P[A|F1] A ∈ F ��� &%
&(Ω,F) �+ ! ��#!� !)�� %� P̂[·| F1] �)�' ω ∈ Ω ��� &#

regular conditional distribution � ����'�  (! �� '���. P̂X [B| F1] �� %��( &(Ω,F ,P) �+ %0� X � �
�% F1  )��σ � �!( # X ��

�B ∈ B � ����� �� ���# !"�#� ��� &'
�1 !��#!� # P̂[B| F1] = P [ω : X(ω) ∈ B | F1] = E

[
1{B}

∣∣ F1

]

&((−∞,∞),B) �+ ! ��#!� !)�� %� P̂X [·| F1] �)�' �ω ∈ Ω ��� &)

����!� � �����'�  (! �� '��. ���� �F1  )��σ ���� X ���� %0� ��� 2.92
���	

E [X | F1] =

∫
X(ω)P̂(dω | F1) =

∫ ∞

−∞
x P̂X(dx | F1).

�#*�� ��'� ��!�� � �/�.�� ������ $%� RN �# � ���+ ���#�� ��(!��� �' ���(  , /.�� 2.93
����
&���#

� ��
�
 �=������ = ����
�> ��� �	> ����
> 
���� ��� ?
�>
 ��
 ��� � ���> �� ��>���

�� ��� 
���� ?

1
�� ��>��
� ����� ��� ��

t
��� ����� ��� � ��
� �� ���� �� ����� � �
�

� �� ��
 ?
t
��� ������ � ��� ��
 �����
 ���� ����� � �@�� 
���� ���> �� �
��� 
> ���� = ��� A


�� ��>��
� ����� ����� 
���� =��>�� 
�� �� ������ ����� �� � ��� �� ������� � ��>��
>
?���� ���	 ���
 ��� ������� ���� ��
 � �����
 �� �� <��� � ����


�



&! ����(��  �"�(�. φ�� %0� X � � &� �%# ��#��# � (!�� ��(� ����� �% !% *�� 2.94 -

��

�� '�� �. %� PX
�% ��  )#�+# �,+ � ��/��. %0� !�,+# X !% #�� �,�� &E φ(X) ≥ φ(EX) &%

&Eφ(X) =
∫∞
−∞ φ(α) PX(dα) �,% �X

&2.92 /.��#� ��%# �,+ �,�� &E [φ(X) | F1] ≥ φ(E [X | F1]) &#
���� �� ���� ��

?
P(A ∩B) = P(A) P(B)

=� 
� ��> � ��	� �		� =���� ���> =�����
A, B

�������
?
P(A ∩B) = P(A) P(B)

=����� �
B ∈ F2

��
A ∈ F1

��� =� � ��> = ����� F1,F2

���� �
σ?F1 ⊥ F2

�> ��A 
���
?
E1{A}1{B} = E1{A} E1{B}


� ���
 � �
 
���� 
���

?
EXY = EX EY

�F2

����
Y

���� F1

����
X

��� 
����
 ��>�� 
���
?
σ(X), σ(Y )

��� �����
X, Y

� ��> =�����
����!� A ∈ F1, B ∈ F2

��� �% � F1 ⊥
F3

F2
��� �� � F3

�!( # ����! �!�# F2�� F1 2.95
���
�

E
[
1{A}1{B}

∣∣ F3

]
= E

[
1{A}

∣∣ F3

]
E
[
1{B}

∣∣ F3

]

& �# �� �� i�  �/  !%"�! !% Xi�# ���( 2.96 -

��
&Z�# �0!# �(�% Y �#% Y ⊥

X1

Z �,% Y = X1 +X2, Z = X1 +X3
� �

�� �� ����# � g  �"�(�. !� ��� ���,� �,% &X ∈ L2(Ω,F ,P) ��%� %0� Y�� X �� � 2.97
����

&E [X | Y = y] = g(y) ��)' � �! �( ��� &E [X | Y ] = g(Y )

&E [Y | X,Z] = E [Y | Z] �,% X ⊥ (Y, Z) �% 2.98
���	

&! ���.�." ! �� ����  ���� /.�� *�� 2.99 -

��


�



��! �)'(  � '�) !�,+# �  %#  (+/ !% ��. 2.100 -

��
&E [Y | X,Z] = E [Y | Z] ����!� Z ��� �,% X ⊥ Y �%

&� !�(��� �.% !�*�! �+ �0!# ���� �%' %0� (x, y) � � 2.101 -

��

��)'( &�.�� θ % � &%

zθ = −x sin θ + y cos θ

wθ = x cos θ + y sin θ

%� �0( ��  %� � P (zθ|wθ) v N(0, 1) �� �' *�� &! �/��//� �����! �!�# (wθ, zθ) �� *�� 
Regular Conditional Probability Distribution - r.c.p.d

%� �0( ��  %� � P (zθ|θ) !% %"� &θ ∈ [0, 2π] � θ = arctan(y/x) �0+ �)'��  %0� θ !+� % � &#
r.c.p.d.

�!%, ! ���� & " �#�  ! �% � {ω : wα = 0}  "�#� � {ω : θ(ω) = α}  "�#� α ���� #� ��� &'

”P (zα >
1

2
|wθ = 0)” 6= ”P (zθ >

1

2
|θ = α)”

��#� 


�



������� ������� �

��%� Xt
���%��% ��(!�� �� {Xt, t ∈ T}  *.�� %� (Ω,F ,P) �+ Xt

�%��% � �� ! 3.1
���
�

&T  "�#�� � ��� t ��)(�% 
�� �� ��� ���> 
�
 �

T
���> 
�A> = ����
� ��>� ?= ��� ��@���� �����

t→Xt(ω)

�@����


�� �� � ����	 ��� ��� ���> 
�
 �
T

� �@� 
�A> = ����
� ��>� ? 
�� �� ��� �� ���� � =�>� �� =����
���� �� �� � �


T
�� ��> ��	>��
 � ����� � ��
� �� 
���
 � �
 ����� 
�� ? 
�� �� ��� ��

?��� ��> � ����� ���� ��� ��
�
 �� �� ����
 ����> 
	�
 
��

σ
�
 �� FX

�> � �
Xt


���� 
��
σ
�
 ��

σ(Xt)
�> 
���

?
t
��� �

σ(Xt)��A 
���
 ��� �� >� = ��� ������ � ��
� ����
>� ������
 ����� �
 �� 
�>
� ���
{ω : Xt1 ≤ α} ∈ FX

{ω : X1/k ≤ α, 0 < k ≤ N} = ∩N
k=1{ω : X1/k ≤ α} ∈ FX

{
ω : sup{X1/k, 0 < k} ≤ α

}
= ∩∞

k=1{ω : X1/k ≤ α} ∈ FX

�� �	>�� �� �>�
{
ω : sup{Xt, 0 < t ≤ 1} ≤ α

}
∈ FX

?
 ��� 
> ����� � �� ���� �� ��

sup

�
 ��
������

t→Xt(ω)
���@����> 
��>�� �
��� 
��@>

{ω : Xt(ω) measurable functionT→R}
������ ���
> �� 
A =�

?� ��
�
 �� �� ��>��

 ����� 
���� ��� �� 
���
�����
 � ���

t1, t2, . . . , tN
=������� �@�>� ���� ����

?
X

�� ���� �
N

����� �
Pt1,t2,...,tN (α1, α2, . . . , αN) = P{Xt1 ≤ α1, . . . , XtN ≤ αN}

�
P { ω : [0, 1]

�> � �@�
Xt(ω) } >��� ��� � ���� 
A ���� =�


��� �� � ��
�
 �� �����

P
����� =�


T=[0,1] ��#+ &�b > a ��#+ �l[a,b]=b-a �� ��� � l '#� !)�� � ���#  )� �+ �Ω = [0, 1] 3.2
�	
��


�



�� Yt(ω) ≡ 0 �� ���� ! �(� ��)'(

Xt(ω) =

{
1 t = ω

0 t 6= ω

����! � �%)� �AN =
N⋃

i=1

Ati
�% �,% &At = {ω : Xt 6= Yt} = {t} � � &P(Xt = Yt) = 1 �t ��� �,%

�#% &P(A∞) = 0 ���' A∞ =
∞⋃
i=1

Ati  ��"  !�%#� �P(AN) = 0

&P(sup{Xt(ω), 0 ≤ t ≤ 1} 6= 0) = P(1 6= 0) = 1

&P(sup{Yt(ω), 0 ≤ t ≤ 1} 6= 0) = 0 !%, !� �+��
� (�� ��� ���� '���. �% �� � , Y ��� X �� ���.�� ��'�� �. ��� �(�# ��

&P({ω : $�"� t→Xt(ω)}) = 0 �P({ω : $�"� t→Yt(ω)}) = 1 �$� �(#

	
� 
- �� -� ��� 
��� ��� 
�	 ��
�
�
� � �

&� ��.�� ��'�� �. �! �% � �(�� �% �(� �� )*% (version)  ��' ��%��( {Yt}�� {Xt} 3.3
���
�


��� ����� ��� �@�� � �
 
���
 ?� ��
�
 ������> = ����� ���� 
��� ����� 
����> �����
? ��� � 
��@� 
�@����
� ���>��
 �

t
�> ������ ��� � ����> 
��� 
� ��

&t ��� P(Xt = Yt) = 1 �% Xt
�� modification %��� Yt � �� ! 3.4

���
�
?
modification

�� �����> � ��>��
 >��� ���� �� ������ � ��
� �>��� 
��� 
���� >� = ��
&Xt

��  ��' %� Yt
�,% Xt

�� modification %� Yt
�% 3.5 -

��

&Xt
��  ��' %� Yt

��  ���) ��%� �!��  �,*  ���) � �,

����/(�%# �,%� ������! �!�# !�+#/� �!� ���,( ��� 0 ≤ t ≤ 2 �+ Yt�� Xt
��)'( 3.6 -

��

i = 2 �% i = 1 ��%� �i− 1 ≤ t ≤ i

Yt =

{
1 ��. �+  �.( i +#/�
0 �+ �+  �.( i +#/� Xt =

{
1 �+ �+  �.( i +#/�
0 ��. �+  �.( i +#/�

&modification �(�% �% Xt
��  ��' %� Yt

�� *�� 


�



ε > 0 ��� �% t0 �� ,# !��#!� # $�"� %��( Zt
%0! 3.7

���
�

lim
t→t0

P{|Zt(ω) − Zt0(ω)| > ε} = 0

Pt1,t2(α1, α2)
�� �� � � ��� ���>� ���� ���>��
> ����@� ����>��
> � �@�

Xt

�
3.2


����>
�
t1, t2, α1, α2

���
Tc ⊂ T  �(� !#  "�#� !� ��� �% (Separable) �� �#�.� %��( T �� , #*�� �+ Xt � �� ! 3.8

���
�
��)'( �I ��'� ����/(�%� α, β �! ( # & %#  (��! !% ��� ����  �P(C) = 0 �� �#+ C +��%� � ����
A = {ω : α ≤ Xt ≤ β, t ∈ T ∩ I ���}, B = {ω : α ≤ Xt ≤ β, t ∈ Tc ∩ I ���}.

&{ω : ω /∈ A, ω ∈ B} ⊂ C �,%

���.�# ��%( �� �% %�% �T �# ��% ����(��"� ���.�� ����� Tc
)��.!# ��� ��)# 3.9

����
&!�*%

�+��%� *�� #  (�% A  "�#� �� #� � ��

&���#�.� �(�% 3.2  �'�)# Xt 3.10
����

���� �,% [a,b] +/�# t ��# ! ��#!� # $�"� %0! X̃t
�% �� *�� %�� �Doob 57 ��+ � 3.11

���	

�� �� ����/(�% �! �%# Xt � �� !

&X̃t
�� modification Xt &%

&�� �#�.� Xt &#
&ω �� /+�� ��#+ ���# ! �"�(�. t→Xt(ω) &'


� ���
 ����
> ?= ���>��� = ����
�> �� 
��� ���
> ?� ���>��� 
��� ����
Xt


����
?���� 
 ��>
� �� ��>�> = ���@� = ����
� �� ���>��

 ���� �� ����� ����� �������>

&Separable %� � �� ! �,% �%��� !���#' �+ ��� �� � �.�"� ���') �� Xt

%0!� �% 3.12 -

��

��



����
Xt→Xt0

=� 

r
���� �@���> ����>��
> �

a.s.
�
t0

�> � �@� ��� � � �� � � �� �� ����@�
?
t ∈ [a, b]

��� � �@� � �
 =�
[a,b]

�> � �@� ���� � ��
�
 ?= ����
 
>��>
t→t0�	 ���>��
> =����
 ����@� � �
 �� �� 
�A� 
����

α, β, c ���# ��* ��+ �#� ��� ��� �% &{Xt, t ∈ T} � �� ! ��!( ��Kolmogorov � # ���'����� � 3.13
���	

h < h0
���� ��

E |Xth −Xt|α ≤ ch1+β

�� �#+ ����#�.� modification � ��� �,%

sup
t,s∈T,|t−s|<h

|X̃t − X̃s| a.s.→
h→0

0

&� !��#!� # ��.�"� ��� ') �� ���
&57 ��+ Wong & Hajek  %� � *�� 

! �� ���� !��)�� #� '�� �. ! ��"�(�. �% ��(��"/� %��� Xt � �� ! 3.14
���
�

Ft1,t2,...,tN (x1, x2, . . . , xN ) = P(xt1 ≤ x1, . . . , xtN ≤ xN ) = Ft1+τ,t2+τ,...tN+τ (x1, . . . , xN)

&x1, . . . , xN
���� τ ��� t1, . . . , tN  �)� ���

&λ > 0�� EXt
2 = 1 ��.% !�*�! �%0! Xt

� � 3.15 -

��

&$�"� modification � ��� �,% 1 − λε2 ≤ E(XtXt+ε) ≤ 1 ����!� 0 < ε < ε0
��� �% &%

&$�"� modification ���� �,% 1 − ελ ≤ E(XtXt+ε) ≤ 1 �� �� �%' Xt
�% &#

&� ��+. j !�.�"�# ��,' modification ���� �!*! ��� �� �) � � �%(! %"� &'
&)#�# �(� �)�� ��/(� �� !�,+# �' �%(! !% %/# ��� �%' Xt

�% &)

�') ! �.�"� ��% �% �! ��� �%' %�� � ��# ����!� “Random telegraph signal” %��( !�%# 3.16
����

&� !��#!� # $�"� �(�%� 0 �(� � �� !0 � , ��� � ��

��



�#!� # ��.�"� �(�% ��� ') �% � � !��#!� #  )��( ��# $�"� %� ���%�. � �� ! ��  %� 3.17 -

��
&� !��

&�� � /.��# �,+ � �! �( 3.15 ��'�! �� �' $�+�� 3.18
����

���# ��* c �� β �α ��#+� �� (Ω,F ,P) �+ � �� ! {Xt, 0 ≤ t ≤ T} � � ��53 ��+ K&S� 3.19
���	

E |Xt −Xs|α ≤ C|t− s|1+β 0 ≤ s, t ≤ T

�)�� �# ��# !����� $�"� Yt�� ��� �Xt
�� modification %� � �$�"� %� � Yt � �� ! ���� �,%

�� ��� �γ ∈ (0, β/α) ��� �γ < 1 /((�.��% �+ (Holder continuous)

P





ω : sup

0<t−s<h(ω)
0≤s,t≤T

|Yt(ω) − Ys(ω)|
|t− s|γ ≤ δ





= 1

&+ �#� δ > 0�� �# ��* %0� h(ω) ��%�
������� �� ���@� � ����� ��� ��

�� �(!�� �(� ��  �"�(�.� �Xt(ω) : R×Ω→R  �"�(�. �% )�)� � �� ! %��� Xt
%0! 3.20

���
�
&(R,B)�� (R×Ω,B×F)��  )�)�  �"�(�. %� 

&! �'��(% ���� �/��� %0!�  �)'  3.21
����

������� 
��� �� � �� ����
� >� = ��
&) �)� Xt

�,% � � !��#!� # ��.�"� ��� ') Xt
%0!� �% �� *�� %�� � 3.22

���	

(R,B)�� �  )�)� t→Xt(ω)  �"�(�. �ω ��� /+�� ��,% )�)� Xt
�% �� *�� %�� ��(�# �. � 3.23

���	

�,% ∫
I

E |Xt|dt <∞ �� �� ����/(�% %� I �% &�(R,B)��
∫

I

EXtdt = E

∫

I

Xtdt ��� ∫

I

Xtdt <∞ a.s.

� �



t→ EXt  �"�(�. �,% I ����/(�%# E |Xt| <∞ �% &�)�)� %� �� ��� � %0� ��)'� ���*% ��'/(% �
& , ����/(�% �+  )�)�

���@� ��� 
�� �
� A
 ��� ��> ���	 ��� �@>� 
� �� ��� 
�� � ����� ����� � ��
� ��>� �� >� = ���
� ���� �� �����@� =��� ���@� ��� =� =����
�> �� 
��� ����
 ���
> ������� 
��� =���


?= ����� ���� = ����
�
 
A 
���> ?����� ����>� =� 
�� �� � ���@�

-
�
��	 
�
-�� � �

&Yi

%� i�  )�)�#  %"�! � �X !% ��))��� *�(( &%0� X � � 3.24
�	
��

���/.�% ��+�� �0+ i #��# �X !% � ��+(

X̂1 = E [X | Y1]

� ?	�

X̂2 = E [X | Y1, Y2]

� ?��

X̂i = E [X | Y1, Y2, . . . , Yi] = E [X | Bi]

� ?� �

����!� � Bi ⊂ Bi+1
�,% &Bi = σ(Y1, . . . , Yi) ��%�

E

[
X̂i+1

∣∣∣ Bi

]
= E [ E [X | Bi+1] | Bi] = E [X | Bi] = X̂i

� � ��*  !(��! !�,+# #�� � ��� Di
�+ )�)� Xi

�Di ⊂ Bi
�,% &Di = σ(X̂1, . . . , X̂i) ���(

&E [X̂i+1

∣∣∣ Di

]
= X̂i

�� ��� �
Bi

����

Z

� �� ��� �>@��
X − X̂i

� ����
 ����� �� 

���
 ��� � ����� ��
?
E[(X − X̂i)Z] = 0

{Xn} %0� ��  �)� &filtration !%��( n ��� Bn ⊂ Bn+1
!� ����  Bn

!�)��σ !�)� 3.25
���
�

!�%�!�  �)� {Xn} � ! &Bn
�+ )�)� Xn

�n ��� �% �,� Bn
!�)��σ !�)�� adapted !�%�!� !%��(

�%��( {Xn,Bn} &E |Xn| <∞ �� ��
E [Xn+1 | Bn] = Xn a.s. �n ��� �� ���!� �% Martingale �'(�/��

E [Xn+1 | Bn] ≤ Xn a.s. �n ��� �� ���!� �% Supermartingale �'(�/���.��
&E [Xn+1 | Bn] ≥ Xn a.s. �n ��� �� ���!� �% Submartingale �'(�/��#�

�




�� ��>� 	 ���>��
>
E [Xn | Bm] = Xm

=����� ����	�� ��>� �� �>�� 
���

�� >� = ��
?����	��>� � ���� �� �����
> � ���

n,m
�>
n + 1, n

�� � ���
� 
��� 
� �� 
��@>� �
m < n

�
A ���> �� ���>� ����

Bn

�� = �����
n
���� ��
� �� 
�

 �� ����

Xn

=� �����
���
 ���@ �> ���� ����	�� ���� � �
�@���> ���
 ����� 
�� � 
��
 ���� ���� ����	�� �A�

?��
��
{φ(Xn),Bn} �,% E |φ(Xn)| <∞ �� �� �! �����(�� �  ���� φ�� �'(�/�� %� {Xn,Bn} �% 3.26 -

��
�,% �! �����(�� (−φ) �% &�'(�/�� #�  � � {X2

n,Bn} /�.# &���(�# ���!� � ,�� � �'(�/�� #�
&�'(�/���.�� %� {φ(Xn),Bn}

���! ( �% �'(�/�� {Xn,Dn} �% &�'(�/�� {Xn,Bn} � � 3.27 -

��

Bn ⊂ Dn &%
&{Dn} �� �%�!� {Xn} �� Dn ⊂ Bn &#

?
Bn = σ(X1, . . . , Xn)

���� ����	�� � �

Xn

�� �� �� ��
 � ���@�� =��
&E[(Xn+1 − Xn)Zn] = 0 �Bn

)�)� Zn
%0� ��� ��  ���) �0+ �'(�/�� ��)' � �! �( 3.28

����
!�.��! �+# � �� ! �� /�.# ���� &! ���(�'�/��% ! �.��! �+# %� �% ��� �% �'(�/�� %� � �� ! �(� )

&��# ��� ! ��� �#�'/(�% �%(!# � �'(�/�� %� 0 +"��� �+ �0!#

h > 0 ���� �t ��� E |Xt| < ∞ �% $�"� �� ,# �'(�/�� %� {Xt,Bt, t ≥ 0} � �� ! 3.29
���
�

�� Bt
)�)� Xt

��� Bt ⊂ Bt+h
����!�

E [Xt+h | Bt] = Xt a.s.

&≤ �% supermartingale �≥ + �.�� ������� � ���# �% submartingale %��� � �� ! 

{Xt,F t, t ≥ 0} �,% &F t = σ(Xs, s ≤ t)�� ��'(�/�� #� � �'(�/�� {Xt,Bt, t ≥ 0} � � 3.30 -

��
&��'(�/�� #� � �'(�/�� %� 

�% &Xt = Xn, Bt = Bn
�n ≤ t < n+ 1 ��#+ ��)'( &)�)# �� ,# �'(�/�� {Xn,Bn} � � 3.31 -

��

��'(�/�� {Xt,Bt, t ≥ 0}

��



EXt = EX0
�% ��� �% �'(�/�� %� �,% &�'(�/�� #� {Xt,Bt, t ≥ 0} � � 3.32 -

��

&Bt =
⋂

h>0

Bt+h
�% ��� �� $�"� %��� Bt  )��σ � 3.33

����

1
���>��
>� �A� ����� �
�� �� 
��@� 
�@� ������ � �

Xt

����	��� �A� �
�� �� � �@�
Bt

=�
=����� 	 ���>��
>� �

(P {ω : t ∈ [0, T ]
��� 
�� �� � �@�

Xt(ω)} = 1)

�� �� = ���@� = ����


?����� ����>� � �

� ���>� ���>� 
�� �� 
��@� 
�@� ������ � �
Xt

�� �A� �
�� �� � �@�
Bt

�� �����	�� �>� ��

Xt

=�
?
�� �� 
��@�

EXt


�@����
 =� ��� =� �����

���� = ����
� ?����� ����>� ���>� 
�� �� 
��@� 
�@� ���� ��> = ��� �� ���� ���� ���� ���
�=���� = ���@ �� ��A�> � ����> = ��� ���

RCLL: Right Continuous, Left Limits

CORLOL: Continuous on Right, Limits on Left

CADLAG: Continue À Droite, Limite À Gauche

=������ � ��A ��> � ����@
 ��@��
�

?
�� �� � �@� F t


�� �
σ
�
� 
����� 
��@ ��� � =� ���� ���
>


��>�� � ������ �
��� ��
%��� � �� ! &F t

�+ )�)� Xt
�t ��� �% F t �� Adapted �%�!� %��� Xt � �� ! 3.34

���
�
 )�)� [0, t] +/� �+ �(s, ω) ��  �"�(�.� � Xs(ω)  �"�(�. t ��� �% Progressively measurable

&(R,B) �� ([0, t] × Ω, B([0, t]) × F t) ��  �"�(�.�
����� ������� ��� ��> ����� �� ��� ?

Progressively measurable
��
 �A� =���� � � �@�

Xt

=�
?� ����� ������ 
�� � �� ����� ������� � ����� �

&E |Yi| <∞ *�((� ��0!# %0� {Yi, i = 1, 2, . . .} �� � 3.35 -

��

&�'(�/�� %� Xn =
n∑

i=1

(Yi − E Yi) &%

��



��)'( ��0!#� � '���. ���� Yi
*�(( &#

X1 =
1

4
(Y1 + Y2 + Y3 + Y4)


� ?� �
X2 =

1

3
(Y1 + Y2 + Y3)


� ?� �
X3 =

1

2
(Y1 + Y2)


� ?
 �
X4 =Y1


� ?� �
*��� � �)� &E [Y1 | Y1 + Y2] = E [Y2 | Y1 + Y2]  ��/� �� ��'# �,�� &�'(�/�� X1, X2, X3, X4

�,%
�,% A ∈ FY1+Y2

�% ��  %� �,�� 
∫

A

(Y1 − Y2)dP (ω) =

∫

A

(Y2 − Y1)dP (ω) (= 0)

&n ��� Bn−1
)�)� Vn

�% Bn �� �*�# Predictable %� Vn 3.36
���
�

?
 A ����> �� ���A� �� ���A�� ?���� �>���� 
> ��� �����
� �� �@� 
� A> ��>�� �� �� � �
!��#!� # |Vn| ≤ C �� Bn−1

)�)� Vn �� �� %0� !�)� {Vn}�� �'(�/�� (Xn,Bn) � � 3.37
���
�

��)'( &�+ �#� C � �

Yn = V1(X1 −X0) + V2(X2 −X1) + · · · + Vn(Xn −Xn−1)

&V �0+ X �� Martingale transform � %��( Yn

��

Yn

�� >� = �� ?����� 
�����{vn}
�� ������
 �� ��� �� � ���
� 
���� �����	�� � �


Yn�� �� �� ���
 ?
Vn

��� ���� �
Xn

�> 
@���
 � ��� �� ��@ ��> �
Xi

���
Vi

�� ����	 ��� � 
���
?
�>
 
����> �
>�� 
����
 ���>� ����	��


&E |Xn|p <∞ �E |Vn|q <∞ � 1
p

+ 1
q

= 1  ���� #*� &�'(�/�� %� Yn
�� *�� 3.38 -

��

%� Yt =
∫ t

0
n(s) ds �,% &� �(�� � �(� ,# �0!# ����+ �+ � �� ! �� ��� �0�#� �+�0 n(t) � � 3.39

�	
��
�EYt = 0 ����� Yt

�% ��!�� ���� �.�%# &���+� ��'�!  %� � ���! �!�# ��* ��.�� �� +'� ��# � �'(�/��
&$�"� �� ,# �'(�/�� %� Yt

�,% �ν ≤ t ��� Yν �# �0!# Yt+s − Yt��
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?� ���� � ��� �� � ���> �����> ��A� � 
A 
�>� 
��� � ��� 
>�
 � �� � ����	�� ����
� ��
+#/� ��� � # n�� 0 ��# �� ���'� ! �*. � ��(��( ����*�( �.�� %� � �'(�/�� Xn

� � 3.40
�	
��

(V ·X)n =
n∑
1

Vk(Xk−Xk−1) �,% &n−1 )+ !��/  ! �%"�!# ���! Vn
� ���  � n +'�#� *�(( &!('� 

&�#/"� ���� %� 

&�'�/���.�� V ·X �,% �n ��� ���*� �# ��* Predictable %� Vn �� �'(�/���.�� Xn
�% 3.41

����
��*���� � �! �( %� +"��� �# ��# �� ��� �

��� ?���>��	 ���
(V ·X)n

�A�
n
��� = ���

Vn

�� 
���� ?
Bn

����
(V ·X)n

���� ��

E
[
(V ·X)n+1

∣∣ Bn

]
= E [ (V ·X)n + Vn+1(Xn+1 −Xn) | Bn]

= (V ·X)n + Vn+1 E [Xn+1 −Xn | Bn] ≤ (V ·X)n

?�> ���
Vn+1

��
�=���� �
> ��@�� 
��	�	�� 
�� 
A 
> ��> �
����

&���# ��* V �� *�( � ���" ��% �'(�/�� %� xn
�% � �'(�/���� �'(�/���#�� �0(� 3.42

����

Doob -� �����=�� ����
 �
Bn

�� =����� � �� ����
Xn

�� 

Bn ⊂ Bn+1

�� ��� � 
��� ����
σ
����

Bn

�
�
?
E |Xn| <∞

&Bn
�+ )�)� An+1 �� ��'(�/�� (Yn,Bn) ��%� Xn = An + Yn

���.� �! �( Xn �Doob� 3.43
���	

&�B0
)�)� �% �%��% +�#� � + �#� �)� )+ )�*� ���. 

��



����� ���� ��
A0 =0

A1 =A0 + E [ −X0 +X1 | B0]???
An =An−1 + E [ −Xn−1 +Xn | Bn−1]

Y0 =X0

Y1 =Y0 +X1 − E [X1 | B0]???
Yn =Yn−1 +Xn − E [Xn | Bn−1]

�� �
Bn−1

����
An

�����	��
Yn,Bn

�A�
Yn + An −Xn = Yn−1 + An−1 −Xn−1 = · · · = Y0 + A0 −X0 = 0

�A� ��� �� � ��� � �

Ãn, Ỹn

=� �������
0 = Xn −Xn =An − Ãn + Yn − Ỹn

An − Ãn =Ỹn − Yn


��
An − Ãn = E

[
An − Ãn

∣∣∣ Bn−1

]
= E

[
Ỹn − Yn

∣∣∣ Bn−1

]
= Ỹn−1 − Yn−1 = An−1 − Ãn−1

?
An − Ãn = A0 − Ã0 = Ỹn − Yn


�� ?����	��
 ������ ���>
�%� ����� �Xn

�� (innovation) ��)�* � �� ! %��( Yn
�,% Bn = σ(X1, · · · , Xn) �% 3.44

����
0�)*0 ��* !% �%!� ���� Bn �� 0#"�(0 Yn+1 − Yn

�,% Xn+1 = An+1 + Yn + (Yn+1 − Yn) ����(
&Xn+1

��

& ��+  �)� {An}  �)� �,% �'(�/���#� %� {Xn,Bn}  �+�� Doob /.��# �% 3.45 -

��
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?����	��
Xt

���� �� �@� 
�A� 
�>�
 � �
Doob

�� � ����
� !��#!� # $�"� �'(�/�� (Xt,F t) � � &�Doob-Meyer decomposition � *�� %�� � 3.46

���	

�! �%# ! �(��! !% �����  A )�*� � �� ! � ��� �,% &EX2
t <∞ �� ���

A(0) = 0 &%
&��� �� $�"� A(t) &#

&�Progressively measurable %� ���� �!�� � �%�!� %� A(t) &'
&� !��#!� #  ��+ � �� ! A(t) &)

&�'(�/�� %� X2(t) − A(t) � �� ! & 

� �� ! %��( A(t) &�)�� )��+# ��'�!�  ��� �X2(t) �'(�/���#� �� ���. �"+# � , 3.47
����

�$��(# &X(t) �'(�/�� ��  ��+ 

A(t) = t ���� # )��(  �! �)�% � ��%�# !+�(!� &%
&� � �% !�(��� �+ �� ��(�/ ��%(!# ��X2(t) %���) �%� � ���� �'(�/���#� ��#+ $�! ����. &#

-
�
��	 
�
-�� -� ������
� ��

&C > 0 � � ��Doob �� ������ �% � 3.48
���	

�N ��� �,% ��'(�/���#� {Xn,Bn, n ≥ 0} �% &%

P

{
max
n≤N

Xn ≥ C

}
≤ C−1 E |XN |

�{B1,B2, . . . ,Bn, . . . ,B} �� �*�# �'(�/���#� {X1, X2, . . . , Xn, . . . , X} �% &#
�,% �E [X | Bn] ≥ Xn

�� ���

P

{
sup

n
Xn ≥ C

}
≤ C−1 E |X|

��



�,% �0 ≤ t ≤ T �� ��� �#�.� �'(�/���#� {Xt,Bt, t ≥ 0} �% &'

P

{
sup

0≤t≤T
Xt ≥ C

}
≤ C−1 E |XT |

&# ���� ����� �%�  ��� &# $�+�# + �.��  � �� !� 3.24  �'�)  %� 3.49
����

&% ⇐ # ⇐ ' �� #� � ��

E |X| �� � ���
����= �� ���
 ��> ���� � ��
 	�� =�� �>�� ���� ������

 � ��� 
���� ���
?���
> 
�����= �����
 ��>

EX+
�>

���� ��
������� ����� ?�

A1 = {ω : X1(ω) ≥ C}

Ak = {ω : Xi(ω) < C, i < k, Xk(ω) ≥ C} k = 2, 3, . . .

Ai

⋂
Aj = ∅�� Ak ∈ Bk

�A� ?
Xk ≥ C

�� �� 
����
 ������
 � �

k
�� �����
 � �


Ak

����
�
��
i 6= j

��>�

A =
N⋃

k=1

Ak =

{
ω : max

n≤N
Xn ≥ C

}

��



���
C · P {A} = C ·

N∑

k=1

P {Ak} =
∑

k

∫

Ak

CdP

≤
∑

k

∫

Ak

XkdP Ak

����
�

≤
∑

k

∫

Ak

E [XN | Bk] dP
�����	�� �>�
 ����
�
�
Bk

�� ����
Ak

�� >� = ��
=
∑

k

∫

Ak

XNdP ≤
∑

k

∫

Ak

|XN |dP
���� �� ����� ����
� 
���

=

∫

A

|XN |dP ≤
∫

Ω

|XN |dP = E |Xn|

?�� �� � ��
 =�� �>���
EX+

�>
E |X| �� � ���
� ���� � ��
� 
����
 
���> ?���
 �� ��

�>� ��
 {X1, X2, . . . , XN , X} �� 
���� ?
BN = {ω : max(X1, X2, . . . , XN) ≥ C)} ����� ?>

�� �� ���� �>�� �����	��
P {BN} ≤ P {max(X1, X2, . . . , XN , X) ≥ C} ≤ C−1 E |X|�� � ��>��
 �� ��� �
 ����
� �>�� �

BN ⊂ BN+1

�� 
����
P

{∞⋃

1

BN

}
= lim

N→∞
P {BN} ≤ C−1 E |X|


���
sup

�
� 
�� �� �
C

�� 
 ��� �� ����
Xn

�
� ���� �����
 � �
 ⋃∞
1 BN

�� >� = ��� ��
ε > 0

��>� >��� 
�� �
�� �� �����
 =� =�
C

��
P

{
sup

n
Xn ≥ C

}
≤ P {Xn ≥ C − ε, some n} ≤ 1

C − ε
E |X|

?�> ���
ε
��� 
��� 
�� � �@ �� �> �� �����
 ��>�

?= �����@�
 ���� �
[0,T]

�> 
 ��� �>� 
���@ 
@�>�
I
�
� ?�

��
IN ⊂ IN+1

�� �� = ������� � �@�>�
IN

��
 �
IN = {ti, i = 0, 1, . . . , N, t0 = 0, ti < ti+1, tN < T}

��




���� ?
BN =

{
ω : max

i∈IN

Xi ≥ C

} ����� ?⋃∞
N=2 IN = I − {T} �� ��� 


N
�> ����

ti
�� 
>��� �

��>��� �> � ��� �� 
�� �	
 �� >�� ����� �����	�� �>� {Xi, i ∈ IN} ��
P

{
sup
i∈I

Xi ≥ C

}
≤ C−1 E |XT |

�
���@
I
�� ��� �>��� � ��
�
� 
���� ��>�

P

{
sup
i∈I

Xi ≥ C

}
= P

{
sup

0≤t≤T
Xt ≥ C

}

&�'(�/���#� {φ(Xt),Bt} �,% �! �����(�� φ �� �'(�/�� {Xt,Bt} �% 3.50 -

��
&�'(�/���#� {φ(Xt),Bt} �,% �!)��� %�� ! �����(�� φ �� �'(�/���#� {Xt,Bt} �%

&�E |φ(Xt)| <∞ *( �

C > 0, T > 0 ��� �,% &E |Xt|p <∞ *�((� p > 1 ��'(�/���#� {|Xt|,Bt} � � 3.51 -

��

P

{
sup

0≤t≤T
|Xt| ≥ C

}
≤ C−p

∫

Ω

|XT |p1{sup0≤t≤T |Xt|≥C} dP ≤ E |XT |p
Cp

&Doob ������ �% /.�� !*�� ��*% #��+ � �)�� ��'�!# ��!� �,��

�,% ��� ��� %� �'(�/���#� Xn
�% &1/p+ 1/q = 1, p > 1 � � ��#�� �Doob ������ �% � 3.52

���	

E

[(
max
n≤N

Xn

)p]
≤ qp E [XN

p]

?� ��
�
 �� = ������
 �� >� ���� 
� �� 
����	�� �>� �� � ����	�� �� 
����
 �>��
 �� �����
�����	�� � �
 =� {Xt, . . . , X} �� ��

X
=��� =�
 �����	�� {Xt,Bt, t ≥ 0} =� 
���
 �����

��)'( &�� �#�.� �'(�/���#� {Xt,Bt, t ≥ 0} � � ��'(�/�� ���� ! �� !��(�!  /.�� � 3.53
���	

�,% &C = sup
t

EX+
t <∞ *�((� �X+

t = max {Xt, 0}

��



&E |X∞| ≤ lim
t

E |Xt| �� � !��#!� # ���� X∞ = lim
t
Xt &%

&L1 �# Xt→X∞ � �%(!# �'(�/���#� %� {Xt, 0 ≤ t ≤ ∞} &#
&Lp �# � w.p.1 �(�!� Xt

�,% p > 1, sup E |Xt|p <∞ �% &'

&{Xt} �� Uniform Integrability %� L1 �# ! ��(�! � ��.�� �%(! �/.�� !�*( !*! 3.54
����

&Xt ≤ E [X∞ | Bt] �� ��� �%(! �! �( �# ��* &�% ��� �% %� �#  (+/ ��# ��* Xt
�%

���� X∞ = lim
t
Xt

�,% &sup
t
|Xt| < ∞ *�((� ��� �#�.� �'(�/�� {Xt,Bt, t ≥ 0} � � 3.55 -

��

&E [X∞ | Bt] = Xt
�,% L1 �# �' %� !��(�!  �%� � � !��#!� #

�� � &��� �� $�"� � �� ! �  ���)# ! ��� �#�.� !���) !% $��* � �! �( ���% ��/.��# 3.56
����

&�! �� ! �+#/  ���) � �, � �#� ����� ! ��#+ &��! ��  �,*  ���) %� ��� �� ! �.�"� �# ���
?� ���� 
	 ��� 
���

 ����� �>��� 
���> �=��� ���� ��>��� ��� ���> � �����

 �����


&EX2 <∞ �� Xn→
a.s.
X �� �� X %0� ���� �,% �EX2

n ≤M <∞ �� �� ��'(�/�� Xn
� � 3.57

���	

�
EX2

n ≤M <∞ ��� ���
 ���> ?����� ��
EX2

n


���
 �����	�� �>� ��

X2

n

�� 
���� ���� ��?
EX2

n→µ ≤M <∞ �>��
0 < p < ∞ ��� �� ��� �
� � ���� ��� =�� ?	 ���>��
> �� �� ���� ��


Xn

�� 
��� ���
k = 1, 2, . . .

�� ��>� ∣∣Xm(p)+k −Xm(p)

∣∣ ≤ 1/p
�� �� 
�	� ����	� =�� �

m = m(p)
=��� =��

���� 
�
 � ������ ������ 
> ��� ?� ���� ����
p
��� ������ = ����> �� �

p
�� ���� ����� 	��

=���� �
l ≥ m(p), n ≥ m(p)

���� � ���� ����
p
��� �A� �� ?


ω
�>

|Xn −Xl| ≤ |Xn −Xm(p)| + |Xl −Xm(p)| ≤ 2/p

|Xm+k−Xm|2

��� �����	�� � �
 {Xm+k −Xm,Bm+k, k = 1, 2, . . .} �� �>�

m
��� �� � ���� ��

�
 �� ��� �
Doob


����� ��� ?����	�� �>� ��

P

{
max
k≤N

|Xm+k −Xm|2 ≥ C2

}
≤ C−2 E(Xm+N −Xm)2

�




��� ?
N

��
C

���
E(Xm+N −Xm)2 = EX2

m+N + EX2
m − 2 E(Xm E [Xm+N | Fm]) = EX2

m+N − EX2
m�� ��

m = m(p)
��
C = 1/p

���>� 
� �� ������� 
���
EX2

m

�� 
����
sup
N≥0

E(Xm(p)+N −Xm(p))
2 ≤ 2−p

A� �
P

{
max
k≤N

|Xm(p)+k −Xm(p)|2 ≥ 1/p2

}
≤ p22−p

�
N

��� 
��� 
A� 
���� �
P

{
sup

k
|Xm(p)+k −Xm(p)| ≥ 1/p

}
≤ p22−p

�� �>�� �∑∞
p=1 p

22−p <∞ �� 
���� ���	 �� ����> �� 
��
 �� ��� �����

P

{
sup

k
|Xm(p)+k −Xm(p)| ≥ 1/p

}
= 1

?�� ���� ��
 � ��� �� � �
 
���
 
�� ?
p
���� �� ���� ����� 	��

&�+�# � �� ! �� '�" �� 3.58
�	
��

!��+# +�(�� �)� ��.�� 0 #�/0 t→ht(ω)  �"�(�. � *�((� 0 ≤ t ≤ T �+ �%��% � �� ! ht
� � &�

&�(ω, t)→ht(ω) �� !�)�)� �� ��� �)�)� %� � �� ! � ���)( � �+�� � !��(�/
�Fubini /.�� � ����!� � �� ��� ∫ T

0
hs ds �' ���� �� ��� ∫ T

0
|hs| ds �,% &E ∫ T

0
|hs| ds < ∞ *�((

&E ∫ T

0
hs ds =

∫ T

0
(Ehs) ds

&s→ys(ω) �+ !��(�/ ! �*( #�� *�((� ys = E [hs | B1] ��)'(
�� +#�(  (! �� !�*�! !�)' � �,%

E

{∫ T

0

hs ds

∣∣∣∣B1

}
=

∫ T

0

E [hs | B1] ds

��



 )�)� � �� !0 ��+� � , �Bt
)�)� ht �� Bt �� �*�# �'(�/�� Mt

��%� Xt =
∫ t

0
hs ds+Mt

� � !+� &�
&ĥt = E [ht | Dt]�# h �� � ��+� !% ���(� �Dt = σ {Xs, 0 ≤ s ≤ t} ���( &0�+�#

�0+ Xt
!% '�"( &ĥ �� 0 #�/  ����0 �*#(

Xt =

∫ t

0

ĥs ds+

[∫ t

0

(hs − ĥs) ds+Mt

]
:=

∫ t

0

ĥs ds+Nt

&Dt �� �*�# �'(�/�� %� Nt 3.59 -

��
� �+� � � ��'/(�% �  (#� �+# %� Xt

!�% � %� ! �+��� �,% �0 )�)� �+�0� Mt �� �*��!( �%
&Dt

!�)�)� �� !�%� !)��(� �' �% �+ �) � �� �� �� ��� �Bt
�� !�%� !)��(� �' ���'(�/��

&������ ����!� ��% ��#� �����#� !���� �Dt = σ(Ns, S ≤ t) �� *�/# %� 3.60
����

��
�� 
�	 � � ��
=���
 ���� ��� �� ��>���
 
	��
 ����
 ����� 
���� ��


stopping time

��@� 
�A

?� ������ 
�� �
���

 ���� ?= ���� 
>��> ����� � ��
 �
��@�
 
�A>
 ��, 0�+0 %"����� ����%�  ��, 0��.0 %"�� ��%� �+#/� !�/ # ���*�� ���(% �(� 3.61

�	
��
&)*% ��� �� � )�. �%  ��, &�(� 

&F t = σ{xs : s ≤ t} �t �� ,# ��)�#� +)��  !% F t�# � �t �� ,# ���%�� ��� ����� �.�� !% xt�# ���(
�� ,# �#�� +"��� *���� + �' � �(�"�#� ��*�� !% ���. � �!� /�� � �%�� ���%� ��*� � *�((

&F t�#� +)�� �+ �� ��!� �  ���� t +'�#  /�*  � ���# &�*�� !��. 
��

τ = τ(ω)
�> 
��� ?

t

� A ���

Ext = Ex0 = x0


��� �����	�� � �
 {xt,F t}
�� �����

��� �� 
� �	 
�
�
3.73 Doob

	��� ?����
 �� � ���
 
����
 
���
 �> 
������
 � 
� A

��>�
 �� ��� =� � �

Ext∧τ = x0


�� ?
���
> �����
 
�� � ����	�� � �
 =� {xt∧τ ,F t∧τ}
�
t

��@���> ������� �� ����
 �� ��@�� 
	 �� 
�� ������ ?
Exτ = x0

�� �>��
t→ ∞ ����

!�/�* &�� , ��  �"�(�.� �� ��# ���% !��/�.�/ !% �%!� �%��% � �� ! xt
� � 3.62

�	
��
��%� �τ �� ,# �% !% !�#�� � ���#! !*)� +�(�� �!�/�� !��(��.%

��



τ1(ω) = inf{t : xt = 90oc} �! ��+� 90��  + �'  ��/�.�/ 
τ2(ω) = inf{t : xt−10 = 90oc} �! ��+� 90 ��  ��/�.�/# !��) 10 ��#! ���% 
&τ3(ω) = inf{t : xt+10 = 90oc} �! ��+� 90��  + �'  ��/�.�/ � �(.� ! ��) 10  !#�� �% 

&)�!+ !% �*(� �(��+� ����� �+ �" �# !�#  /�* �%!� �(�% τ3 �� ���#

{xt} �%��% � �� ! ��#+ ��)'( 3.63
�	
��

τa(ω) = inf

{
t :

∫ t

0

x2
s ds = 3

}

���� ��)'( �% ���% �
τa ≤ t �% � �%� �+ !�(+� t +'� ��# �! �( �,%

τb = inf

{
t :

∫ 2t

0

x2
s ds = 3

}

&{xs, s ≤ t} �����# ! �((�#! ��� �+  � �)  �%� �+ !�(+� ���( ) ��! %� �,%

 (!�� &F �� !�)�� �'���!! ��  ��+  �)�� F t�� �! ��#!� #*�� (Ω,F ,P)  � � 3.64
���
�

����!� t ��� �% � ��"+ �� , �% ��%��% �� , %��( τ �%��%
{ω : τ(ω) ≤ t} ∈ F t .


� ?� �
�%(! !% ��� ����  A ∈ F !�+��%� $��% ! �� � �)'�� �Fτ �# �� �� � ��% �stopped sigma-field� 

A ∩ {ω : τ(ω) ≤ t} ∈ F t for all t.

� ?� �

=��� ?
���� �����> ���� =� ��� � =������ �� =
 
��@�
 ��� A �� ��>���� ��� ����� ���
=���

τ3, τb
�� 
��@� ���A =


τ1, τ2, τa
�
������ � ������� �����
>� � 
���
� =��
> �� >�

?
��@� ���A
&F τ = F t

�,% τ ≡ t �%� Fτ
�+ )�)� τ � )�� �'�� %� F τ

��  %� τ  ��"+ �� , ��#+ 3.65 -

��

+��%� A � � 3.66
�	
��

A = {ω : xs ≥ 80o, some 0 ≤ s ≤ T}
� ?	� �

��



�,%
A ∩ {τ1 ≤ t} = {ω : xs ≥ 80o, some 0 ≤ s ≤ T , xu ≥ 90o some 0 ≤ u ≤ t}

���� {τ1 ≤ t} ⊂ A �� ��� �T �(.� 80o�� + �' �' ���� t �(.� 90o�� + �' � �� ! �,% T ≥ t �% !+�
&A ∈ Fτ1 �� �(�# �� ��� &A ∈ Ft

�,% T < t �% �(� )"� &F t�# %� � �! �* 

%� τ + α �,%  ��"+ �� , %� τ �% & ��"+ �� , %� α � ���/� �(���/) � α ≥ 0 �.�� ��� 3.67 -

��
& � �"+ �� ,

& ��"+ �(� , � τ1 ∨ τ2 �τ1 ∧ τ2 �τ1 + τ2 �' �,%  ��"+ �(� , τi �% 3.68
���	

&� ���(��"� a ��#+ {τ1+a > t}∩{τ2 > a}  ��" � ! �" �#�# �,+ �,�� &/.�� !% *�� 3.69 -

��

'���. ���� � � ����! �!�# ��(!�� {yi} ��%� xt =
∑t

i=1 yi
� � &� ���� �+ �%��% � �� � 3.70

�	
��
�t ��� �,% &τa = min{t : xt = a}�� F t = σ{xs, s ≤ t} ���( &� ���� ����+ �+
{τa ≤ t} = {ω : xs = a some s ≤ t} = ∪t

s=0{ω : xs = a}
� ?		�

�,% & ��'� ���# !"�#� B�� $�"� � �� ! {xt} � � �� *�� %�� � 3.71
���	

τB(ω) = inf{t ≥ 0 : xt(ω) ∈ B}
� ?	��
& � �"+ �� , %� 

�! �#��* ! ��#!� # ∞  ��� !�� � ����  ��"+ �� , 3.72
����

��� ������ 
��@� 
�A �� ����@�
 
�@����


1τ (t, ω) =

{
1 t ≤ τ

0 otherwise


� ?	� �

��



������� ������ ?���� 
���� ���
L2[0, T ]

�� � ��� � �
 � ������ � ��
� �
A
{1τ(t, ω) = 1} = {t ≤ τ} = {t > τ}c .

��� = ���� 
� �� 
�� � �@ �� =����
 �� =���
{t > τ} = ∪∞

n=1{τ ≤ t− 1/n} ∈ F t
> ��� ��� ��> ?
��@� 
� A ����
� �>�� 
����
 
������
 ����
∫ T

0

12
τ (t, ω) dt ≤ T .

�A�
E τ <∞ =�� >� = ���

E

∫ ∞

0

12
τ (t, ω) dt = E τ <∞

?
1τ (t, ω) ∈ L2[0,∞)


A 
���> 
���
��.�"� � ������ �+ �'(�/�� %� {xt}��  � �"+ �� , %� τ �% &(Optional Sampling) 3.73

���	

��.�"� ������� �+ �'(�/��#� %� {xt}��  ��"+ �(� , �(� � s ≤ τ �% &�'(�/�� %� {xt∧τ} �,% ��� ��
&1 !��#!� # E(xτ | F s) ≥ xs

�,% �x∞ ���*% �#�%0 ���� �� ��� � 0 ≤ t ≤ ∞ �+ ��� ��
τ < a�� �� a �.�� ���� �� ��� ����* τ ��  ���)# $��* � �! �( ���*% �#�% ���  ���) !%

&1 !��#!� #

x�� �% &��� �� $�"� �'(�/��#� {xt}�� �1 !��#!� # τi ≤ τi+1�� ��  ��"+ �(� , τi �� � 3.74 -

��
&�) �)# �� ,# � �'(�/�� %� {xτi

,Fτi
} �,% �� �� ��*  ��"+ �(� , �� �% ��.���*� �% ���*% �#�% ��

��
� � 
-�� �� ��
������ �� ����
� ��

�% ! �(�%�#  +�(! %� (Wt, t ∈ [0, T ]) � �� ! 3.75
���
�

&�� �%' %0! Wt &%
&EWtWs = min(t, s), EWt = 0 &#

&[0, T ] �#  .�"� t→Wt(ω) �')� !�"�(�. �ω �� /+�� ��#+ &'

��



?

1
���>��
> �

W0 = 0
�� �� ��> ���� ���� ����� ���� �� =�

&�0!# Wt+h −Wt
%0� � Wt

%0� �t ∈ [0, T − h] �� h > 0 ��� 3.76 -

��
&�'(�/�� Wt, EWt = 0 �� ������ �0! ����! �!�# ! �.��!0 � �� ! %� Wt

�� +#�( �%��

 ��> � ������>
 �� ���� 	 �
�?= �� ��
� �� ��>�� 
���> ��� ��A� � � �����>
 
� ���
 = ��� �� ������ 
��@> ����
� 
� ��


 �@����	 ��� ��� �� � ��
� ���>� � �
 ��� 
	 �� ?
Karatzas - Shreve

��
56

���> ���� 
��
��� ��� � ��� ����� 
A �� �� �A���
 ��>�
 	���� ?����� ���� � � ��> =����� �� = ��� ��
����� >� �� ��� ������ = �� ���� 
�@����	 ���
 �� = ����� >�
 = ������
 �� �� � ���
� ���� �
?
���> �� ��� � �
� �� ��� � ��
�� 
��� ������
 ����
� 
� �� 
��� ?= ���@�
 = ��	���
 =�

Xi

��
 ��
L2[0, T ]

�> 
��� ������������ 
���� {φi(t)}
�
� ?���� >���� �	 ��> ��>� ���

����� ?
(varXi = 1, EXi = 0)

=������� � � ��> =��� ��� � ��

V N
t =

N∑

i=1

Xi

∫ t

0

φi(s) ds

L2(Ω × [0, T ])
�> �� �� ����

V N
t

�� ��� 
��� ?�� ��� � ��
V N

t

�� � ��>
?
m > n

�� ���� ?
Vt


� �� �� ��>� 
� � � 
��� �
∫ T

0
E (V n

t − V m
t )2 dt→0

����� �

E (V n
t − V m

t )2 =

m∑

i=n+1

m∑

j=n+1

EXiXj

∫ t

0

φi(s) ds

∫ t

0

φj(s) ds

=

m∑

i=n+1

(∫ t

0

φi(s) ds

)2

������ 
����� �@��� 
� �� ���	 ��
 �� �� >� = ��� ��� ?
EXiXj = δij

�� ���>
∫ t

0

φi(s) ds =

∫ T

0

1{s≤t}φi(s) ds = (1{s≤t}, φ(s))

�
L2[0, T ]

�> ������ 	�����
∫ T

0

(
1{s≤t}

)2
ds = t =

∞∑

i=1

(
1{s≤t}, φi(s)

)2 ≤ T

��




� ���
 ������

 	����� ����� ����
n+ 1

�� = ���
 
�� ?
t ≤ T

���
∫ T

0

E (V n
t − V m

t )2 dt ≤
∫ T

0

∞∑

i=n+1

(
1{s≤t}, φi(s)

)2
dt →

n→∞
0

?
Vt =

∑∞
i=1Xi

∫ t

0
φi(s) ds

=���� 
� �� 
��
�
Vt

�� �>�� = ��� ��� = ������ �� ������ � ��@��� ?
Vt

� �� �>�
 � ��
�
 ������ �� ��� � ��>�
�
sup

0≤t≤T
E
(
V N

t

)2
< ∞ , N

���� �
EV N

t = 0
�� 
���� ?�� ��� � �
 =� �=��� ��� � �� �� ��>� � �
�

?
EVt = 0

=�
������� 	���>�

EXiXj = δij
�> >�� ����� ?
 �@���� �	 ��
 �� >���

E(VtVs) = E

∞∑

i=1

∞∑

j=1

XiXj

∫ t

0

φi(α) dα

∫ s

0

φj(β) dβ

=

∞∑

i=1

∫ t

0

φi(α) dα

∫ s

0

φi(β) dβ =

∞∑

i=1

(
1{α≤t}, φi(α)

) (
1{β≤s}, φi(β)

)

=
(
1{α≤t}, 1{α≤s}

)
=

∫ T

0

1{α≤t} 1{α≤s} dα = min(t, s)


�@� ������ �>�� ��� ?= �	 �� �� = ��� ���� ��� � ��@
� 
� �� = ���
� �����
 ����
 �� ����
� ��
�
� ����
� ����

Doob
	���� ?> �� ������� 	���> ����� �����@� =��� ���@� ��� =�

�� ��� � ��� �� ��A� ?> �� ������� 	��� �� ����
� ��� ����>��� 
���� ��>� ?� ��>��
> � �@�
= �����

,EY 2 = σ2 ,EY = 0
=�

E euY = eu2σ2/2

EY 2n =
(2n)!

2nn!
(σ2)n

?��� �@��� ��� ���
Vt+h − VT

?
α = 4

��>�
E(Vt+h − Vt)

2 = E(Vt+h − Vt)Vt+h − E(Vt+h − Vt)Vt = t+ h− t+ t− t = h?
E(VtVs) = min(t, s)

�> ������
 ����

��� �

h
��� ���� ���� �@��� ��� ���

Vt+h − Vt

�� ���>��
E(Vt+h − Vt)

4 =
4!

4 · 2 · h2 = 3h2

60



?
� �@� 
���� = ��� ��� �>��
(α = 4, β = 1)

>�� ������� 	����
?���
> � ������>
 
� ���
 �� ����@�
 ���� �� ���

3.77
���	

��  ��+ � �� ! ��(�� ) &�'(�/�� %� {Wt
2 − t, σ(Ws, s ≤ t)

} �,% �! �(�%�#  +�(! %� Wt
�% &%

&t %� ! �(�%�#  +�(! 
%� {Xt

2 − t, σ(Xs, s ≤ t)
} �� � �.�"� ���') �+# �'(�/�� {Xt, σ(Xs, s ≤ t)} �% (P. Levy) &#

&! �(�%�#  +�(! Xt
�,% ��'(�/��

&% !% *�� 3.78 -

��
?�� ���> = ���� �� �� �=���@� = ������ 
=���@� = ���� ��> ����	�� ��� 
� � � ������>
 
� ����

?� �� �> ��
 
����
 � �
 ��� ���
�
� ��
�� ������

��	�
 �� ����� 
� ���
πn

�
� ?
0 ≤ a < b <∞, [a, b]

�	� �>��
?
δn = maxi

(
t
(n)
i+1 − t

(n)
i

) 
����
πn =

[
a = t

(n)
0 < t

(n)
1 < · · · < t

(n)
k = b

]


�� � �
Xt

�
��� � ��
� ��>�
Sn =

∑

i

(
X

(n)
ti+1

−X
(n)
ti

)2

��� �
L
���� �|Xt − Xs| ≤ L(t − s)

����� �
Lipschitz

=���@� = ����
Xt

�� =� �� >� = ��
A� �
����� ���
�

|Sn| =
∑

i

∣∣∣X(n)
ti+1

−X
(n)
ti

∣∣∣
2

≤
∑

i

L2
∣∣∣t(n)

i+1 − t
(n)
i

∣∣∣
2

≤

≤ L2δ(n)
∑∣∣∣t(n)

i+1 − t
(n)
i

∣∣∣ = L2δ(n)(b− a)

?
Sn

a.s.→0
���
> �A� �

δ(n)→0
=� 
���

� ���
� 
��� ���� 
� ��> ?= ��� ��>�
 =� �
δ(n)→0

����
Sn

�� ��>�
 � �
 ��� �> ��
 
����

�������
 
���

 ���� = ����
�� �
���� ?

L2[0, T ]
�> ����	�� ����
� ��>� =��� ��>�
�

��>� ��A 
��� ?

Doob-Meyer decomposition


�� � 
���
 � ��
�
 ��
 � �� �> ��
 
����
 ��
?
���> �� ���

��



&Sn
q.m.→ (b− a) �,% n→∞ ��%� δ(n)→0 �% �! �(�%�#  +�(! ��#+ 3.79

���	


�� � =� � �
� �
� A
 �
t
����> � �
 � �� �> ��
 
����
 �������>
 
� ���
 ��>� �� 
� �	 	���


?
Lipschitz

=���@� = ���� 
�� � �����>
 
� ���� �� �>�� 
��� ?
���
 � ��
�
 
����
Levy

	���
�
Sn − (b− a)

�� ��� ��� >��� ?
n
���

ESn = b− a
���� ��

E[Sn − (b− a)]2 = ESn
2 − (b− a)2

����
3
�� 
 ��� �� ��� 
���� �� �� �>�
 	�� ��
 �� 
�>��> ����� �
����
 �>��
 >�� ���

�� �> ��> ���
 	�� ��

ESn

2 = E
∑

i

∑

j

(
W

(n)
ti+1

−W
(n)
ti

)2 (
W

(n)
tj+1

−W
(n)
tj

)2

=

= E
∑

i

(
W

(n)
ti+1

−W
(n)
ti

)4

+ E
∑

i6=j

(
W

(n)
ti+1

−W
(n)
ti

)2 (
W

(n)
tj+1

−W
(n)
tj

)2

=

= 3
∑

i

(
t
(n)
i+1 − t

(n)
i

)2

+
∑

i6=j

(
t
(n)
i+1 − t

(n)
i

)(
t
(n)
j+1 − t

(n)
j

)
=

= 2
∑

i

(
t
(n)
i+1 − t

(n)
i

)2

+

[
∑

i

(
t
(n)
i+1 − t

(n)
i

)]2

=

= 2
∑

i

(
t
(n)
i+1 − t

(n)
i

)2

+ (b− a)2


���
E [Sn − (b− a)]2 ≤ 2δ(n)(b− a)

!�)'�� V(f) �� ��!� �f  �"�(�. ��  )�(! 3.80
���
�

V (f) = sup
∑

i

∣∣∣f
(
t
(n)
i+1

)
− f

(
t
(n)
i

)∣∣∣

&[a, b] ����/(% �� πn !����* �� �(. �+ *��( sup � � �� ���  ���* %� {t(n)
i

} ��%�

��



3.81 -

��

&! �(�/�(��  �"�(�. ��  )�(! !% #�* &%
&! ��(�/�(�� ! ��"�(�. �!� �� ��. �  %/#� �! �( ��% � �"�(�. ��  )�(! ��#+ ��* %"� &#

&Sn
a.s.→t �,% �δ(n) = 2−n �� �� πn !����* !�)� ���*�# �% �� ! �(�%�#  +�(! ��#+  %� &'

&#��# �"#� ��/(�����# /.��# �,+ � ,��

&! �.�����% ! �(�%�#  +�(! ��  )�(! 3.82
����

�=���@� = ����
Wt

��� 
���� ?
a ≤ t ≤ b − h

����
α(h) = sup

t
|Wt+h −Wt|


��� ���� ��
�� ��>� �
�� �� ��


α(h)
� 	 ���>��
>

α(h) <∞ 
���
[a, b]

�	�> 
��� 
���> =���@� = ����

?
h→0

����
α(h)

a.s.→0�� �
δ(n) = (b− a)2−n

�A� �=��� =����
2n

��
[a, b]

�� ����

Sn =

2n−1∑

0

(
W(i+1)δ(n) −Wiδ(n)

)2 ≤ α
(
δ(n)
) 2n−1∑

0

∣∣W(i+1)δ(n) −Wiδ(n)

∣∣

���
> 
�� �
α
(
δ(n)
) a.s.→0


� �
Sn

a.s.→t
�����
� �>�

V (W ) ≥
2n−1∑

0

∣∣W(i+1)δ(n) −Wiδ(n)

∣∣→∞

��	 ���> 
��� � = ��> 
��A� 
��� ������>
 
� ���
 �� 

Breiman

���� 
�� � ����
� =� 
� ��
?	 ���>��
> ����

3.83 -

��

&! ��(�%�# ! �+ �(! tW (1/t) �� √CW (t/C) �,% &! �(�%�#  +�(! Wt
� ! &%

��α !% #�* � ! �(�%�#  + �(! α∑iW
(i)
t

�,% �! ����! �!�# ! ��(�%�# !�+ �(! W (i)
t

�% &#

&δ(n)→0 ��%� ∑
i

(
W

(1)

t
(n)
i+1

−W
(1)

ti(n)

)(
W

(2)

t
(n)
i+1

−W
(2)

ti(n)

)
q.m.→ 0 &'

�




&%# /.��� ��� � ��.%  .�"� ! �(�%�#  +�(!  �� )+ 3.84
����

�Levy Modulus ��� ��+ Karatzas & Shreve  %� � 3.85
���	

�,% g(δ) =
√

2δ log(1/δ) �δ > 0 ��#+ ��)'(

P



lim

δ↓0

1

g(δ)
max
0≤s≤r≤1

t−s≤δ

|Wt −Ws| = 1



 = 1

�
A �|t − s| < δ
�� 
�

ω
�> ����
 � ����� 
	�

δ
����

C > 1
��� |Wt −Ws| ≤ Cg(δ)

�
����
?� �����>
 
� ���
 �� �����@�
 � ������ �

��K&S �# ��� ��+ Law of Iterated log� 3.86
���	

����!� ω ��� /+��

lim
t↓0

Wt(ω)√
2t log log 1/t

= lim
t→∞

Wt(ω)√
2t log log t

= 1

lim
t↓0

Wt(ω)√
2t log log 1/t

= lim
t→∞

Wt(ω)√
2t log log t

= −1


�����
 ��� � �
�@�> 
��@� ������>
K&S

�> � �@�� 
��� � �����>
 
� ���
 �� ��	���� � �����
ω
��� 	���

A� � ����� 
��
 
����
 ���� �� � ����	 ��� = �� �� ����	 ���� 
��� ������>
 
� ���
 ?	
? 
��� 
��
 ��� �> ��
 
����


?
[0,∞)

�> � ��@� 
 ��� 
> = �� ����
 ������ �� �� � ���� = �� ���� 

 = �� ����
 ����� � �� ?�
����> ���>	@
 ���� � ��> ���� �>� ���� ��> �����

Wt(ω) = 0


>

t
�> ����� �
 ���� ?�

?��@�> � ��@ 
��� � ����>� � ���� � ����
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����
 ������� ����� �>�� ��� �
����

?
>� ����
�> 
�
���� 
��� � � ������ 
��� ��
� 
>��>

?
LIL

�� ��� �>�� = �����
 = �����
 � �� 
> ����
&� !��#!� # lim

t→∞
Wt

t
= 0 3.87

���	

&�'(�/�� exp
(
W (t) − t

2

) �,% �! �(�%�#  + �(! W (t) � ! 3.88 -

��

&EUt = 0 �� � � !��#!� # ��.�"� ��� ') �+# ���(��"/� ���%' � �� ! Ut
� � 3.89 -

��

&! �(�%�#  +�(! Vt = t1/2U
(

1
2β

log t
) �,% �E(Ut+hUt) = e−β|h| �%

��
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���� �=��	���	� = ����
�� = �� ����
 ���� ���A��� ���	 ��� �� =��� �� ����� 
A ���>
�� ���
 ��� � � �> 
���� � ����� � ���� �@����� � �� ���� �� �� ��
 �� >���
� ��� ����� �

?
���> �� ��� ��� ��

��� ���� -�
� �
�� � � �

���� = ��� ��A ?� �����
 
�@��	 ���
 �����> ������ 
�� ∫ t

0
Xs dWs


��@
� ���	 ����
��>� �
� �� �� 
� ��
 ��� 
A� ���	 ��� ����
� 
� �� �� 
��� �
� ��� �����
 
��

Ws

�� �������
�����	 ��	�

f(t, x)

�@����
 �� >��� =� �=����> ���� >�� �� � ����� �> =� ?�>� �� �@��	� ��


 �
 � 
����
 >���
 ���� >�>�
f(t, x) ≈ f(0, 0) + f ′

t(0, 0) · t+ f ′
x(0, 0) · x

���
� ��	@� � 
����
 >���
 �
f(t,Wt)

�� >��� 
��� =� =���
f(r,Wt) ≈ f(0, 0) + f ′

t(0, 0) · t+ f ′
x(0, 0) ·Wt +

1

2
f ′′

x (0, 0) ·Wt
2

�
t
��� �>����> �
��� �

Wt
2 �� ����� ��

?� �����> 
� ���� = �� ����
 
 �@��	 ��� � 
��A� �� �� ��>� 
��� ���
>

�
Filtration

����� F t


���
 ?F t

�������� �� ������
 � =� ���>��
 >���
(Ω,F ,F t,P)

�
 �

� ���

Wt

�
� ?F t =
⋂
ε>0

F t+ε

�
�� �� � ���@� 
� � �
s ≤ t,Fs ⊂ F t ⊂ F =���� ����� � �
 �

{
Wti+1

−Wti

} =����

 �
t < t1 < t2 < . . .

��� 	��>� �
(Ω,F ,F t,P)

�� ��	���	� ������>
?F t

�> � ��>

���� ���
>� �����> = �	 ��� =�����	 ��� ��>� 
���� �=�>��> 
�>� �	��	�
 ���	 ���
 ��
?
Itô

�� ���	 ���
 ���� 
��� �> ���	 ���
 ?� ��>��
� ���

= ����	 ��� =
� � = �>�� �� �����> ����
� ���� �
[0,∞)

�� =������
 = ����	 ��� �>�� ���
?
T

�� ����
� A� � �
[0, T ]

=���> = ������

��



! �/��(���/)  ���* !� ��� �% /��. %��� (0 ≤ t ≤ T ) Xt
�%��% � �� ! 4.1

���
�
�� �� {ξi} %0� � [0, T ] +/� �� 0 = s0 < s1 < s2 < · · · < sn = T

si ≤ t < si+1
+/� �+ Xt = ξi &%

� �t ��� F t
)�)� Xt

���� � F si
�� �*�# )�)� ξi &#

&t ��� �EXt
2 ≤ K &'

t
��� =���
 ����> ����
 =��
 ��


[t]
=�� �
���� ��	� �����	� 
 �@����

Ψ
=� �
�����

?	 ��� � �� ��

Ψ
(
W[t]

) �A� �
([t] ≤ t)

%0! Ψ
(
W[t]+1

) �% �/��. %0! Ψ
(
W[kt]/k

) �% & � ��* ! �/��(���/)  �"�(�. Ψ � ! 4.2 -

��
�/��.

�� ��
Xt

=����
�
 �� �� ��
L2

�> 
��� ?
E

�> 
� �� � = �	 ���
 = ����
�
 ����
?
t
����

Wt

����
> � ��> 
��� �

adapted

���=� ��� � ��
� �
t
��� F t

����
Xt

?�
?
E
∫ T

0
Xt

2dt <∞ ?>

��>� ����� =��� ?
�@���� ������� 
��� ����

E

����
 ?

E ⊂ L2
�
���

� �� >� = ���

��� �
Lipster-Shiryaev

���� 
�� � �>
 	���
 ���
L2

�� ������ � ��� � ��	���	� ���	 ���
?

92-95

�� �� Xn ∈ E %0! !�)� !� ��� X ∈ L2 ��� 4.3
���	

E

∫ T

0

(Xn(t) −X(t))2 dt −→
n→∞

0

��� � martingale transform �0+ [0, t] �+ �/�% ��'/(�% !% ��)'( �X ∈ E %0! ��#+ 4.4
���
�

�% ! �)��( � 0 = s0 < s1 < · · · < sk ≤ t ≤ sk+1
�% &F t �� �*�# !�(�%�#  +�(! %� Wt

��%�
�X �� !�.�"� 

∫ t

0

X(s, ω) dW (s, ω) =
k−1∑

i=0

X(si, ω)(W (si+1, ω) −W (si, ω)) +X(sk, ω)(W (t, ω)−W (sk, ω))

��
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� �� �
�� ����� ?� ��> � �� �� 
���� � �
 = ���> �>�� �� �� >� = ��
�	 ���
 ����� ����> � ���>�� 
��
 � ���
 �� ����� 
A 
���> =��� ?

X
(

1
2
(si+1 + si)

) ���>
?���
> 
���� ��� ����� � ����
> ��>

 
�� �

� �� � ������
 
�@��

��/���/� ��'/(�% !�)' #  ���* ! �)��( �.�� !�)' ���!( /��. %0! ��#+ �� *�� 4.5 -

��
&��'/(�% ��+ !%  (�! %� ���� 0 " �.� 0 ! �)��( �.��� �#+�

=�����
0 ≤ a ≤ b ≤ T

��� �
E -� 
������� -�
� �
�� ������

E
∫ b

a
Xt dWt = 0

���� ��
 �	���	� ���	 ��� �� �����
 ?	
�=�����

β
��
α
��>� ������� � �
 �	���	�
 ���	 ���
 ?�

∫ b

a

(αX1(t) + βX2(t)) dWt = α

∫ b

a

X1(t) dWt + β

∫ b

a

X2(t) dWt

�� �> ��> � ��
�
 �� ���� ���	 ��� �� ������ 
��� �	���	� ���	 �� �� ���
 	�� ��
 ?�
E

(∫ b

a

Xt dWt

)2

= E

∫ b

a

X2
s ds <∞ 
� �

?�>� � �
 ��� �
 ���	 ���
 ����
E

{∫ b

a

X1(t) dWt ·
∫ b

a

X2(t) dWt

}
= E

∫ b

a

X1(t)X2(t) dt

> �

It =
∫ t

a
X(s) dWs


�� �
?	 ���>��
> = ���@� = ����

It
� ��� ?�

?∫ b

a
X2

s ds
��


[a, b]
=���>

It
�� ��� �> ��
 
����
 ?�

����� �����	�� F t

��

It

?

E

{∫ t+h

t

Xs dWs | F t

}
= 0, E

{∫ t+h

0

Xs dWs | F t

}
=

∫ t

0

Xs dWs

��



0 < u < t ≤ T ��#+  %� &1 − 6 !�(��! *�� 4.6 -

��
∫ t

0

Xs dWs =

∫ u

0

Xs dWs +

∫ t

u

Xs dWs =

∫ t

0

Xs1{s≤u} dWs +

∫ t

u

Xs dWs

Rs,t =
∫ min(s,t)

0
X2

u du  �"�����/�% ! �"�(�. �+ ���%' %0! It �,% �E �# ! �/��(���/)  �"�(�. Xs
�%

&�Xu1{u≤t} �� Xn1{u≤s} �+ ��#�� � !% �+. � ∫ t

0
Xs dWs =

∫ T

0
1{s≤t}Xs dWs  %� �,�� �

�� ��
Xn ∈ E


��� ����� �A� ?
X ∈ L2

�
 � ?
L2

�� ���	 ���
 �>��


‖Xn −X‖2
2 = E

∫ T

0

(Xn(t) −X(t))2 dt −→ 0.

&� �#�� �(�# �0)#  �+( #�� �� 4.7
����

�0+  �+( #���� ,%� ���! ( ����/(�%# ��+ �# �� +"���# � �.�"� ������� ! ��+# ! ��"�(�.� # �*�( &�
& � �')

�� ���� ( � �#+� �(��# �#+� �% �  ��* �)� �+ L2 �# %� ��� � �� ! #��( &�

Xm(t) = m

∫ t

t−1/m

X(t) dt

�+ X �� �'�/(�% &‖Xn − X‖2 → 0�� �� E�#  �)� {Xn} � ! &X ∈ L2[0, T ] � � 4.8
���
�

%0� �� L2 � #��#' �)� �+ �)'�� [a, b] ����/(�% 
∫ b

a

X(t) dWt = lim
n→∞

∫ b

a

Xn(t) dWt .

���� ��>�� 
�� �> �� �@���> � ������
 � �� ����
� � ��@ ������� ���> 
�
� 
���

� ���
?{Xn}

�>���
 
���
 ����>> ���� ���� � ���� ��>�
� 
�� ���


��




�� ?‖Xn −Xm‖2→0
����� ��� �� ���� {Xn}

�� �>�� ‖Xn −X‖2→0
� � 
���

E

(∫ b

a

Xn(s) dWs −
∫ b

a

Xm(s) dWs

)2

= E

(∫ b

a

(Xn(s) −Xm(s)) dWs

)2

= E

∫ b

a

(Xn(s) −Xm(s))2 ds

≤ E

∫ T

0

(Xn(s) −Xm(s))2 ds→0

?
0 ≤ a ≤ b ≤ T

��� ��>�
 = ��� � �=������ =����� �� �� �� ���� =���
� =����	 ���
 
���
> �� ��� 
� ��> �A� ���>��� ����� ��� 



Yn

��
Xn

=� 
�� ��>���
 
���> ���� ���� ��>�

�
����


E

(∫ b

a

Xm(s) dWs−
∫ b

a

Yn(s) dWs

)2

≤ E

∫ T

0

(Xm(s) − Yn(s))
2 ds

= E

∫ T

0

((Xm(s) −X(s)) − (Yn(s) −X(s)))2 ds

≤ 2 E

∫ T

0

(Xm(s) −X(s))2 ds+ 2 E

∫ T

0

(Yn(s) −X(s))2 ds

?
X

�� ��>���
Yn

��
Xm

�����
 
�� ���� = ��� �� = ������
 = ���	>
 ��� �
?
L2

�� �	���	�
 ���	 ���
 � �����
&� �+� ��� !�(��! ����� �/���/� ��'/(�% 4.9

���	

?
� �� �� �� �� �
�
� = ������> 
� �� � ����

 ��
&� !% *�� !+� &E Yn→EY �� ����%� /(� ��# �' Yn→Y �,% Yn

q.m→Y �% 4.10 -

��

Xn + �,% �Yn
q.m→Y �� Xn

q.m→X �% �%# �# ��# L2 �#  .�"�  ��+. %� ��# �* !��+. 4.11 -

��
&� !% *�� !+� &Yn

q.m→X + Y
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?
E
(∫

X dW
)2

= lim E
(∫

Xn dW
)2 �� ����� = ���
 ����
� �>�� � � ���

Mt
n,m =

∫ t

0

(
Xs

(n) −Xs
(m)
)
dWs

�� �)'(� �X(n) ∈ E, X(n)→X  �)� +#�( &� !*�� 4.12 -

��
E | sup

0≤t≤T
Mt|p ≤ qp sup

0≤t≤T
E |Mt|p ����!� CADLAG �'(�/��� �� + �)� &$�"� �'(�/�� %� Mt

n,m �,%
! ����.�(�� ! ��(�! �#�� �)� ��/(� ���## �,+ � Xt

(ni)  �)� !! �*# &q, p > 0, 1
p

+ 1
q

= 1 ��%�
&! �.�"� !+#�( ! ����.�(�� ! ��(�!  � &∫ t

0
Xs dWs

��#'� ∫ t

0
Xs

(n) dWs
�� [0, T ] �+

�� ���>�� ��	���	� 
�@��	 ��� �� �������
 
���
 �� �� ���� ������ �� � 
���� ��

����
 ������ ��� �� �� �	���� 
��@> �	���	� ���	 ��� 
����� � ���� �> �� 
���� � �����

?� �� �> ��

#�* �,�� &�  (��! *�� 4.13 -

��

E

{[
E

(∫ t+h

t

Xs dWs−
∫ t+h

t

Xn
s dWs | F t

)]2
}

&� �# ��� !�)� Xn
t

��%�

&�/��(��/) ��'/(�% ��� �/�% ��'/(�% 4.14
�	
��

!�)� !�,+# ∫ T

0
Ws dWs

��'/(�% !% #�*( &X = W ∈ L2 �,% &! �(�%�#  +�(! Xt = Wt
� �

 �"�'/(�% �,% � .�"� !�,'( �+ ���� � 0 ��*0  �"�(�. %� Yt
�% ���%��  ����  ���( &� �# ����

��!! ����*#
∫ T

0

Ys dYs = Ys · Ys

T

|
0

−
∫ T

0

Ys dYs

�%
∫ T

0

Ys dYs =
1

2

(
Y 2(T ) − Y 2(0)

)
� ?	�
�� �+/� 2n �� [0, T ] !% ��*( �� �# ��� ��  �� ��)# ��( ���� �!�,'( ��% ��%�# !+�(!� ��(� + �)��

� �)'( &t(n)
i = i2−nT ���(�

Xn
t (ω) = W

t
(n)
i

(ω), t
(n)
i ≤ t < t

(n)
i+1

��



�,%

E

∫ T

0

(Wt −Xn
t )2 dt =

∫ T

0

E (Wt −Xn
t )2 dt

≤
∫ T

0

T2−n dt = T 22−n→0

In =
∑

i≤2n

Wti(n)

(
W

t
(n)
i+1

−W
t
(n)
i

) �� ��+ �# �� +"���# � ��#' %� ∫ T

0
Wt dWt

����
#�*(

WT
2 =

∑

i

(
Wti+1(n)

2 −W
t
(n)
i

2
)

=
∑

i

(
W

t
(n)
i+1

+W
t
(n)
i

)
·
(
W

t
(n)
i+1

−W
t
(n)
i

)

=
∑

i

2W
t
(n)
i

(
W

t
(n)
i+1

−W
t
(n)
i

)
+
∑

i

(
W

t
(n)
i+1

−W
t
(n)
i

)2

= 2In + Sn→ 2

∫ T

0

Ws dWs + T

∫ T

0

WsdWs =
1

2

(
WT

2 − T
)
� ?��

&� �(�� ����* �/���/� ��'/(�%� �( 4.2)�� ( 4.1) !%��� # �# �� �* !(���

����� ! !% L2
loc �# ���( ! ��%� &� �(���  ��# �/���/� ��'/(�% !�)' # �*� � �! �( 4.15

����
&∫ T

0
X2

s ds <∞ a.s. ��� �Wt
�� ���)�!+ ����. # ���! �(�%� �%�!� Xt �� �� {Xt, 0 ≤ t ≤ T}

!���%(�� ! �(��! !% ����� ��'/(�% � ,  ���# &� ���� ! �� �,  *.��� ��'/(�% !% #�*� � �! �(
&� �� �� !�(��!� !�+��� ��% �!�*�! ���� �(*( %�� ���� &�� � ! �+ �# ��  )�(! ���.%� �� � ! �.�"� ��� �
����� �%� Mt

��%� Mt
�!�� ���� � �� !# Ws

!% $��* � !��.%� ����+( %�  # !.��(  #*� 
����'/(�%# !���+ ! �(�)�� ! �/���/�  �"�'/(�% !��! & � ��*  )�(! �+  �"�(�.� �'(�/�� �� ����

&��%�

 �'�) ��  #*� � � �'� ��'/(�%� �/ �% ��'/(�% �� ����� ���� k > 2 � W k
t

!% ���� 4.16 -

��
&�!�)�� 

� �



��������� ������ ���� 	���� ���	 
 ����

�1 !��#!� # ��  %� &L2�# � �� ! X ��  ��"+ �� , τ � � 4.17 -

��
∫ ∞

0

Xs1{s≤τ} dWs =

∫ τ

0

Xs dWs


� ?� �
&X ∈ E ��#+  ��*! ��)# �,��


@�>�� � ��
� 
����
 
�A
 �
A 
�� 
��@� 
� A �
A ?
τα

.
= inf{t : Wt = α} 
��@� 
� A �����

?
� ���
��� �! �.�� ��% %� !�*�! �!%, !� �+� &1 !��#!� # τa <∞ �� ! �%� � �! �( 4.18

�	
��

Wτ =

∫ τa

0

dWs =

∫ ∞

0

1{s≤τa} dWs.

� ?� �
���� 1{s≤τa} ∈ L2[0,∞) � ���.�����% �� , ����/(�% �+ � �/���/� ��'/(% ! �(��!� �,% E τa < ∞ �%
! ��#!� # Wτa

= a ���% &0 = EWτa

�(�# �� t = 0 �# �.%!� ��'/(% � ����� &�'(�/�� %� ��'/(% 
& ��!� �(�# ��� 1

�% & ��"+ �� , τ � � &��%�# !+ �(! %� Wt+s − Ws � �� ! s ��� �� � �+)�� �(% 4.19
�	
��

��!�(� �! �# ��* %�  #��! �
Gt

.
= Fτ+t  )��σ�� �*�# ��%�# !+�(! %� Xt

.
= Wt+τ − Wτ

&Gt �� �*�# �'(�/�� ���� ! � X2
t − t ��� Xt

�� ! �%� � �) ��� ��� �!%, *��� � �)� ��� /.��#
#�*(

E [Xt+s | Gt] = E [Wt+s+τ −Wτ | F τ+t]

� ?� �

= E

[ ∫ ∞

0

1{r≤t+s+τ} dWr −
∫ ∞

0

1{r≤τ} dWr

∣∣∣∣ Fτ+t

]
� ?
 �

= E

[ ∫ t+s+τ

0

dWr −
∫ τ

0

dWr

∣∣∣∣ Fτ+t

]
� ?� �

= E

[ ∫ t+τ

τ

dWr +

∫ t+s+τ

t+τ

dWr

∣∣∣∣ Fτ+t

]
� ?� �
= Xt + 0


� ?� �
 ��"# &t+ s+ τ ≥ t+ τ  ��"+ �(� , �+ ��+.( ��% Optional Sampling theorem � � ! �)�)� ��'#

&Gt �� �*�# �'(�/�� %� X2
t − t ��  %�( W 2

t = 2
∫ t

0
Ws dWs − t ����.# ��� �� �)� �+  � �)

�




���( ! ��%� &$���� ����+ %��( �)*��� ����! !�,+# τα %0� �� !�.�." !% #�*( 4.20
�	
��
�� #�

P(τα < T ) = P

(
sup

0≤s≤T
Ws > α

)
� ?	� �
 +�(! ��  ��/� �� ��'# �!+� &� �.�"� ������� !�(�%�#  +�(!�� ����� ≥ ����� ���" ��% ��%�
�!�)��  �'�)# �(%� ��% �α !% �(�#+�  (��%� �+. �(.� � �#+# !�(! ��  ! ��! �%� ! �(�%�# 

P

(
sup

0≤s≤T
Ws > α,WT ≥ α

)
= P

(
sup

0≤s≤T
Ws > α,WT < α

)
� ?		�
���� sup0≤s≤T Ws ≥ α /�.# �,% WT ≥ α �% ���%�� ��/�## ���% &0$���� ����+0 %��(  , ������

P

(
sup

0≤s≤T
Ws ≥ α

)
= P

(
sup

0≤s≤T
Ws > α,WT > α

)
+ P

(
sup

0≤s≤T
Ws > α,WT < α

)
� ?	��

= 2 P

(
sup

0≤s≤T
Ws > α,WT > α

)
� ?	� �
= 2 P (WT > α) .


� ?	� �
!���.�  ��"# ����� �! �( ��� �T �(%���� �.% !�*�! �+ ���%' %0� %� WT

���%

P

(
sup

0≤s≤T
Ws ≥ α

)
= 2

1√
2πT

∫ ∞

α

e−x2/2T dx =

√
2

π

∫ ∞

α/
√

T

e−x2/2 dx

� ?	� �

%� � P(τα ≤ T ) �� !�,'( �)� �+  (�!( τa �� !�.�." 

pτα
(x) =

√
2

π
e−α2/2x · 1

2
x−3/2 .


� ?	
 �
&�(�%� �#�� �.� ����%� /(� �� ��% �, ! �.�."�

�� 
� ��� ��� ��
�
 � �

��� = �� �� = ��� �� ���@� 
�� ���� ��> 
�@��	 ��� ��� �� = ���� ���� �	���	� ���	 ���� 
���
�
��@� ��A��

u(x)
��� 
��@� ��A��

f(t)
�� =� ��	� �����	� 
���> ?� ��@� ��� �>��
 �� 
��A�

�A�
d

dt
u(f(t)) =

du(f(t))

df
· df(t)

dt

��



��� ��A = ����
du(f(t)) = u′f(f(t)) df(t)

�
����
 �����	 ���
 
�� ��
 � �
 �� 
 �@>�	 ��
� �=�� �� �
 A ��
dt

�> �����
 � ����
u(f(T )) = u(f(0)) +

∫ T

0

u′f(f(s))f ′(s) ds

�����	 >�� ��>� ����	 ���� 
� �� >����> ����� ��	� �����	�
 
���> �A 
�� �� ��� �
� ���
u(f(T )) = u(f(0)) +

∑

i

{u (f(ti+1)) − u (f(ti))}

= u(f(0)) +
∑

i

{uf
′(f(ti)) · (f(ti+1) − f(ti)) + error}

��� 
���� 
����
 ����
max
0≤s≤T

u′′f(f(s)) max
i

|f(ti+1) − f(ti)|V (f)

?
V (f) <∞ =� ���� ��� �� 
����
 �

u
����A��

f
����@�� �>�

���A�� ���
u
�� =� ���� ���� = ��>� ����� � � �������> 
� ��� ��>� 
A� > ���� �>�� ���

�����@�
u(W (t)) ≈ u(W (0)) +

∑

i

u′(Wti)(Wti+1
−Wti) +

1

2

∑

i

u′′(Wti)(Wti+1
−Wti)

2 + . . .

?∫ t

0
u′(Ws) dWs

�� � ���� ������
> ����
 �>��
 ?= ����A = ��>�
 ��� 

���
 ��� � ����
�� ���
 �>��
 
��� �

ti+1 − ti ≈ (Wti+1
−Wti)

2
�� ���@� � � ��
 ���� �> ��
 
����> ��A� =�

��� �>�� � �
 � ��	� ����	�
 
���> � �� �
 ��� �
�� �� =���� �
A ?
1
2

∫ t

0
u′′(Ws) ds

�� � ����
?
� ��� 
���

W
�� 
����
�

&Semimartingale %��( Xt = X0 +
∫ t

0
As ds+

∫ t

0
Bs dWs  ��" � %0! 4.21

����
�"��� �����

dXt = At dt+Bt dWt

��



�
(Itô)

�� 
� ��� ���
� ?
L2

loc

�� = �����
B

��
A

�� F0

����
X0

����
dXt = At dt+Bt dWt

=����
 � ��
�
Xt

�
 �
u′′xx, u

′
x, u

′
t


����A���
u
�� ��� �−∞ < x <∞, 0 ≤ t <∞ �� ������ ������ 
�@����

u(t, x)?� ���@�
= ����

Yt = u(t, Xt)
� ��
�
 ? 

���
 ��� � �	 �� ��� ��

Yt = Y0 +

∫ t

0

u′s(s,Xs) ds+

∫ t

0

u′x(s,Xs) dXs +
1

2

∫ t

0

u′′xx(s,Xs)B
2
s ds


���

 ��� ���
 ������ �>��
� ��
�� ��
 � �>�� � �
 
����
 �>��
 ����
∫ t

0

u′x(s,Xs)As ds+

∫ t

0

u′x(s,Xs)Bs dWs

��@��� >���>
dYt = u′t(t, Xt) dt+ u′x(t, Xt) dXt +

1

2
u′′xx(t, Xt)B

2
t dt

4.22
�	
��

�,% &n ≥ 2 ��#+ u(t, x) = xn �� Xt = Wt
�*#( &%

u′x(t, x) = nxn−1, u′′xx(t, x) = n(n− 1)xn−2, u′t ≡ 0, Bt ≡ 1, At ≡ 0.

����� Yt = Wt
n ��" ��� #�!�# ����

dYt = nW n−1
t dWt +

1

2
n(n− 1)W n−2

t dt

�� ��� � ���'/(�% �����# ��%

W n
t = Yt = Y0 +

∫ t

0

nW n−1
s dWs +

1

2
n(n− 1)

∫ t

0

W n−2
s ds

���#�� � �W n−2
s ≡ 1 ����!� n = 2 ��#+

W 2
t = 2

∫ t

0

Ws dWs +
1

2
· 2t

&� �� � # �� �*# �)�� �(�# ��� �.�

��



�,% &L2 �# � �� ! Bt
� � &u′′xx(x) ≥ 0 �,% &! �.�"� ! ��,'( �!� !�+# !�����(��  �"�(�. u(x) � ! &#

Yt = u(Xt) �% ��/ �% !*��( �.� &Submartingale %� u(Xt) �� �'(�/�� %� Xt =
∫ t

0
Bs dWs

dYt = u′(Xt) dXt +
1

2
u′′(Xt)Bt

2 dt = u′(Xt)Bt dWt +
1

2
u′′(Xt)Bt

2 dt

%� ∫ t

0
u′(Xs)Bs dWs

��/���/� ��'/(�% ! �(��!� � �,% &L2 �# � �� ! %� u′(Xt)Bt �� *�((
�(�# �� &��# ��*!� � ��+ �� �� ! �  �"�(�. ∫ t

0
u′′(Xs)Bs

2 ds ���� �u′′(x) ≥ 0 $��(# &�'(�/��
& ��+ � �� ! � �'(�/��� u(Xt) �'(�/���#� �� ��� �.

���� �! �����(�� u(x) = x2  �"�(�. �/�.#

X2
t = 2

∫ t

0

XsBs dWs +

∫ t

0

Bs
2 ds

���%�"(�.�) � �� ��#
d(X2

t ) = 2XtBt dWt +B2
t dt

df/dt = f(t)B(t) %� �/��(���/) ��#�� � dYt = YtBt dWt
! �/���/�  %����� ���!. �.*( &'

&5 ��.# ����(  �%� !�(��!. ! �)�*�� ���� %��(# ���� ���) &�f(t) = C1e
R t

0 Bs ds �� �'� ���!. �����
&Bt ∈ L2

loc
*�((

��+ �#�# �.� �)� )+ � %� ���!. 4.23
����

Yt = exp

{∫ t

0

Bs dWs −
1

2

∫ t

0

B2
s ds

}
� ?	� �

�� X0 = 0 �0+ Xt � �� ! ��)'( &Y0 = 1  �*! �%(! �! �(  , ��/ �#� �# ��� & #" �0+ ���� ��

dXt = Bt dWt −
1

2
B2

t dt

� ?	� �

�#�(� �u(x) = ex  �"�(�. �+ �/�% !*��( ��+.( &Yt = eXt �� %� �(�� ��*�( �,%

dYt = eXt dXt +
1

2
eXtBt

2 dt =

= YtBt dWt −
1

2
YtBt

2 dt+
1

2
YtBt

2 dt = YtBt dWt

��



�#�( �Yt �� ! �����  %����# #�"( �%

Yt = ext = Y0 +

∫ t

0

YsBs dWs = 1 +

∫ t

0

eXsBs dWs

��� !% ����� Xt
�% & %#  #��*  (��� !% �(�# �� �! �/���/�  %���� ���!.� $��(#

��� ��� %� �'(�/�� %� eXt � �� ! �,% �eXtBt ∈ L2�� ( 4.18)  %��
&|At| ≡ 1 �� �� L2 �# � �� ! At

� � &)

&! �(�%�#  +�(! %� Vt =
∫ t

0
As dWs 4.24

����

�� ��/���/� ��'/(�% ! �(��!� &�()��� ��(�� ����# ��� �� ! �� �')� �! �*�� ���� %�#( ���� ��
�)������0!# ����. �+ ���%' � �� ! Vt

��  %�( ! �(��%� !�*��  �!� ���"� &� �.�"� ���') Vt

&EVtVs = min(t, s) �� �! �%�� ��  ! �% �  )#�+# ��!�(  *��  !% ����
& � ��*� ! �/��(��/)  �"�(�. f(s) � ! &� ����%' ����/��� �� ! �(��.�%  �"�(�. # �� �* �0+ !%,  %�(

��/��(��/)� /��. f ��� �% �0!# ����. �+ ���%' Vt 4.25 -

��

E exp

{
i

∫ T

0

f(s)As dVs

}
= exp

{
−1

2

∫ T

0

f 2(s) ds

}
� ?	� �
&! �/�)(/� ��%�# !+�(! Wt

�,% W0 = 0 $��(# �%
�)� �+ ��)#� �! �( ��% � �'���. &� ��.�� � �'���. !��)# �0+ ! ��+( � �� ! �� !����%' !��)# �,��
 ��)# �)� �+ ��)#� �! �( ! �/��//� !��! �% �$��(# &�#�!� ��/��� �� ! �(��.%  �"�(�. #���*

& �.��� !��.!� ! �(��.%  �"�(�. �
�)� �+ Xt � �� ! ��)'( � (��%�  *�� 

dXt = if(t)At dWt −
1

2
(if(t)At)

2 dt .

�/�.# &�'(�/�� %� eX
t

�� � ��( !�)��  �'�) � ���� �( 4.18) �� ��.�/ �  %���� ���)# � �,
�A2

s = 1 �� �����

E eXt = E exp

(
i

∫ t

0

f(s)As dWs +
1

2

∫ t

0

f 2(s) ds

)
= E eX0 = 1

&� ���!� ( 4.19) ����

��



&u(x) = eix �� Yt =
∫ t

0
f(s)As dWs

��)'( !+� � ��(�  *�� 
����� Ct = u(Yt), 0 ≤ t ≤ T � �� ! ��/ �% /.���

Ct = 1 +

∫ t

0

iCsf(s)As dWs +
1

2
(i)2

∫ t

0

Csf
2
sA

2
s ds

�!�*�! � ��'(�/�� %� ���%� ��'/(�% � �Csf(s)As ∈ L2 � �� ! ����* f(s) �� �� ��* Cs
� �����

�As
2 = 1 �� ���� &�.%

ECt = 1 − 1

2

∫ t

0

ECsf
2(s) ds

�ECt
��#+ ! �/��(���/) !��%�"(�.�)  %���� � �,

dECt

dt
= −1

2
f 2(t) ECt, EC0 = 1

 (��!.�

ECt = exp

{
−1

2

∫ t

0

f 2(s) ds

}

& ��� � %� �! �� ���  *�� 
%� Vt

2 − t �% !�(�%�#  +�(! Vt
�P. Levy /.�� �.� &�'(�/�� %� � � �.�"� ���') �+  ���� Vt ��

��/ �% !*��(� &�'(�/��

V 2
t = V 2

0 + 2

∫ t

0

VsAs dWs + 2 · 1

2

∫ t

0

A2
s ds = 2

∫ t

0

VsAs dWs + t

&�'(�/�� Vt
2 − t ��/���/� ��'/(�% ! �(��!� �

�� Dt = σ {Xθ, θ ≤ t} ���( &�t ��� Ft
)�)� ht

/�.#� � L2 �# ht
��%� Xt =

∫ t

0
hs ds+Wt

� � & 
�� � ��+� %� ĥt �� ���'/(�% 0�(�� 0 ��*% ht

�� !�+��  )�)�� Xt
!% ��.( &ĥt = E [ht | Dt]

�,% &�t ��  �"�(�.� � ĥ �� 0 #�/  ����0 � ��� �� ���"� *�(( &h

Xt =

∫ t

0

ĥs ds+

∫ t

0

(hs − ĥs) ds+Wt

&�'(�/�� %� �' Nt =
∫ t

0
(hs − ĥs) ds+Wt

�,% ��'(�/�� Wt
�% �� 3.58  �'�)# �(*�� 

��



&! �(�%�#  + �(! Nt
�' �,% ! �(�%�#  +�(! Wt

�% 4.26
����

���( ���� ��

Yt =

∫ t

0

if(s)(hs − ĥs) ds+

∫ t

0

if(s) dWs =

∫ t

0

if(s) dNs

 �'�) � &� /��.  � !� �#��� ��.�� � ! �! �� ���  � ��* !�/��(��/)  �"�(�. %� f(t) ��%�
*��� � ��.�� � ���'�! � �)  �'�) � !�)�� 

E exp

{
i

∫ T

0

f(s) dNs

}
= exp

{
−1

2

∫ T

0

f 2(s) ds

}

�,% &αt = eYt ��#+ �/�% !*��( � �+.(

dαt = αt dYt +
1

2
αt(if(t))2 dt

= iαtf(t)(ht − ĥt) dt+ αtif(t) dWt −
1

2
αtf

2(t) dt

��/���/� ��'/(�% !�(��!� � �Y0 = 0 �� ����� �! ���'/(�%  ��"#�

Eαt = 1 + iE

∫ t

0

αsf(s)(hs − ĥs) ds−
1

2
E

∫ t

0

αsf
2(s) ds

���� ��+�)� � Dt
�+  )�)� αt

�' ���� Yt
�� #� ���

E

∫ t

0

αsf(s)(hs − ĥs) ds =

∫ t

0

Eαsf(s)(hs − ĥs) ds

=

∫ t

0

E

{
E

[
αsf(s)(hs − ĥs)

∣∣∣ Ds

]}
ds

=

∫ t

0

Eαsf(s) E

[
hs − ĥs

∣∣∣ Ds

]
ds = 0

�� ! ��%�"(�.�)  %���� !% �! �. Eαt
�� �(�#� E

[
ĥt − ht

∣∣∣ Dt

]
= 0 �ĥt

!�)' �� �����
���� �)  �'�)

Eαt = 1 − 1

2

∫ t

0

Eαsf
2(s) ds = exp

{
−1

2

∫ t

0

f 2(s) ds

}

��



&��%�# !+ �(! Wt
��%� Yt = eW 2

t , Xt = Wt
��)'( 4.27 -

��

!�/���/�  %���� !% �!�. (XtYt) ��/��� ��  %� 





dXt = dWt , X0 = 0

dYt = 2XtYt dWt + (Yt + 2X2
t Yt) dt , Y0 = 1

&! �/��//� ! ����! �!�# !��(�%�# ! �+ �(! W̃t �� Wt  (�� ! 4.28 -

��

 �#/ !% *�� � �#� &%
dWt dW̃t dt

dWt dt 0 0

dW̃t 0 dt 0
dt 0 0 0

&u = u(t, x, y) 0 ��*0  �"�(�. u � !
��)'(

Xt = X0 +

∫ t

0

A1(s) ds+

∫ t

0

B11(s) dWs+

∫ t

0

B12(s) dW̃s

Yt = Y0 +

∫ t

0

A2(s) ds+

∫ t

0

B21(s) dWs+

∫ t

0

B22(s) dW̃s

&�%�#  �#/ � �!� � �u(t, Xt, Yt) ��#+ � �/�% !*��( !% �*( &#
�� ���*#  �"�'/(�% !*��( !% �# ��� �+  %� &'

XtYt = X0Y0 +

∫ t

0

Xs dYs +

∫ t

0

Ys dXs +

∫ t

0

B11B21 ds+

∫ t

0

B22B21 ds

�
�	 
	 ��� �� 
� ��� ��
�
E(W i

t )
2 = t

����� � ��	���	� 
���> �� ���
W i

t

���� �
W t =

{
W 1

t ,W
2
t , · · · ,WK

t

} �
 �
?{
Wt

j, j 6= i
} �> � �	� �		� 
���� ��

Wt
i �� 


EW i
t = 0��

u′xi
(t, x), u′t(t, x) u(t, x)

�� ��� ���� �� �
N

��	� �
x
���� ������ 
�@����

u(t, x)
�
�

��



?
i, j

���
(t, x)

�> = ���@�
u′′xixj

(t, x)�� 
����
X i

t

�
 �

dX i
t = Ai

t dt+

K∑

j=1

bijt dW
j
t

?� ?� ?�
 �� = ����
Yt = u(t, Xt)

�A� ?
L2

loc

�>
bijt , Ai

t

����

dYt = u′t(t, Xt) dt+

N∑

i=1

u′xi
(t, Xt) dX

i
t +

1

2

N∑

i,j=1

K∑

l=1

u′′xixj
(t, X t)b

il
t b

jl
t dt

�� ��� ����/�� %� u(t, X) ��%�  #*� 4.29
����




u1(t, X)
u2(t, X)&&&
uL(t, X)




& /(�)��%�� ��# )�.(# �./� �� � ! �)��� %� 

&�/ �% !*��(# �,+ ��� � ! ��+## &! ���%(�� ! ��/���/� ! �%���� 4.30 -

��

�+ �)�� �% � dx(t)
dt

= −αx(t) + u(t) !��%�"(�.)  %����� ���!. &%

x(t) = e−αtX0 +

∫ t

0

eα(t−τ)u(τ) dτ

��  %� 

x(t) = e−αtX0 +

∫ t

0

eα(t−τ) dW (τ)

&dXt = −αXtdt+ dWt &� &) &�� ���!. %� 
&u(t, y) = e−αtX0 + e−αty �� �dYt = eαt dWt

�)' �,��
&dZt = −αZt dt+ b dWt

!% ��!. &#

��



!��(�%�# ! �+ �(! ���/�� �W ,X ��%� dXt = −A Xt dt + B dW t
! ���/��� &� &) &�  !% ��!. &'

&� �� �%!� � �)��# !�" ��/� B �� A ��0!#
%� dx(t)

dt
= −α(t)x(t) + u(t) ! �����  %���� �� ���!. &)

x(t) =
1

µ(t)

∫ t

0

µ(s)u(s) ds

��%�

µ(t) = exp

{∫ t

0

α(τ) dτ

}

&! �/��(���/)  �"�(�. α(t) ��%� dXt = −α(t)Xt dt+ b dWt
�0)� !% ��!.

��� �%' 0�#� �+�0 %� f(t) �� *�(( &Ÿt + b(t, Yt, Ẏt) = f(t) ! �/��(��/)  %����  (�!( 4.31 -

��
&! ��+�� �0)� ���� &E {f(t1)f(t2)} = β2δ(t1 − t2) �� ��� �E f(t) = 0

&∫ t

0
f(s) ds = βWt

�,��
� ��
� 
��

4.32 -

��

&����/��� &� &) &� � Yt �� &� &) &� ���� &%
&�#�# �+/� ��#+ &� &) &� ���� &#

&C(y) �� �# ��� ���%(�� �(�% �#� ��%� �# �+ ��,* &'
&!��+� ��#+ �% �+ ��,* &)

&i2 = g(Xt − Yt) ���%(�� %� R2
��%� �) �+ ��,* & 

�




��������� ���������� �� ������� �

Wt

�
� ?−∞ < x <∞, t ≥ 0
��>� ������� ����	� �����	� ���@� ���

σ(t, x)
��
m(t, x)


���
�
?F t = σ(Ws, s ≤ t)

���
 F t


A ���> ?� �����> 
� ���
�� &) &� � ! �/���/� !��%�"(�.�)  %���� �� ���!. %� Xt � �� ! 5.1

���
�
dXt = m(t, Xt) dt+ σ(t, Xt) dWt


� ?	�

�	 ���>��
> �=�����
t
�� ��>� 
� � �

L2
loc

�� = �����
σ(t, Xt)

��
m(t, Xt), Xt

=�
Xt = X0 +

∫ t

0

m(s,Xs) ds+

∫ t

0

σ(s,Xs) dWs


� ?��

&Wt�# �0!# %0� %� X0
�#  ���� ���(�/ ����� %�� #�*� � �! �( 5.2

����

!���/��  %�����  ��#��  �)' ���� 5.3 -

��

Xt =
[
X

(1)
t , X

(2)
t , · · · , X(N)

t

]T

%�  (��!.� ! ���/�� � &) &� %"� 5.4 -

��
Xt = R0 cosWt

Yt = R0 sinWt

?� ����� � �� ����> =� ����� � ������
 =��� � ���> � ?� ?�� � ������ = ���
 %����� 0 ≤ t <∞, Xt

���!. �.*( 5.5
�	
��

dx

dt
= x2, x0 = 1

��



#� �� �� &t→1 ��%� 0�"�.!� 0  , ���!. &xt = (1 − t)−1 %� 0 ≤ t < 1 ��#+ ���!. x0 = 1 �%
&�)� �� �  �� ��)�' #"�� %�  �+# �x ��  ��*  �"�(�. %� x2��

���/�� � &) &�� ! ����  %���� 5.6
���
�

dXt = m(t, X t) dt+ σ(t, X t) dW t


� ?� �
���%�

t, x ���� ��)�� N ��/�� Xt�)�� N ��/�� m(t, x)

N ×K  "��/� σ(t, x)

��)�� K ��/�� W t

W t = [W 1
t ,W

2
t , · · · ,WK

t ]T

������ ��� ��# &�0!# !��/�)(/� !��(�%�# ! �+ �(! {W i
t }��

dXi
t = mi(t, X t) dt+

K∑

j=1

σij(t, Xt) dW
j
t


� ?� �

��%!� ���)+ �0+ � � XN+1
t = t  (��!.� dXN+1

t = dt �!.��( ! �����  %���� !.�� �)� �+ 5.7
����

 %����# ��)( ���� & t�# ! ����.�  ���!  (�%�  %����� ��#+� �! �( σ�� m ��
dX t = m(X t) dt+ σ(xt) dW t


� ?� �

�� ��� �� ��.�� !�.�"� σ(x)�� m(x) �%� EX2
0 <∞, X0 ⊥ {Wt} �% 5.8

���	

‖m(x) −m(y)‖ ≤ c‖x− y‖
� ?
 �
‖σ(x) − σ(y)| ≤ c‖x− y‖
� ?� �

&( 5.1) � &) &�� L
2 �# )�*� ���!. �� �,% �% � ��� ! �)����%  ���( ���� | · |�� + �#� c ��%�

��



?
	 ��� ����	� �
 
���� 
���


����� � F t�� �%�!� �)�)� %� � )�*� � �� ! �� ��� ��� 5.9

����

E

∫ T

0

X2
s ds <∞

&( 5.1) !% �!�. Xt�� ���
��
X0

t = X0

����� ? 
�� �� ������� ������� 
���
 
� �� ���
> � ���� ��

XN+1
t = X0 +

∫ t

0

m(XN
t ) dt+

∫ t

0

σ(XN
t ) dWt N = 0, 1, ...


� ?� �

XN+1
t −XN

t =

∫ t

0

(m(XN
t ) −m(XN−1

t )) dt+

∫ t

0

(σ(XN
t ) − σ(XN−1

t )) dWt


� ?� �
����
 ��� ����>
 ���>��> ����� ������ �@>�� ��� ��>

� ����
> =� � �>� ����� �
� �� 
����� ��� ������ ��>��
 ��A 
�>��> ‖∑N
1 ai‖2 ≤ N

∑
(a2

i )
?�

?� ��>

���� 
��� �

U [0, t]

���� �����@ ��

f(s)
�� ����� ���

1
t

∫ t

0
f(s) ds

�� �����
� ���� ?>
?
� �� 
������ ��> �����
�

m(x), σ(x)
���@� ���
 �� ���@����
 ?�

��	���	�
 ���	 ��
 ������� ��� � ��> ��� 
�>�
E‖XN+1

t −XN
t ‖2

≤ 2 E t2
(

1

t

∫ t

0

(m(XN
s ) −m(XN−1

s )) ds

)2

+ 2 E

(∫ t

0

(σ(XN
s ) − σ(XN−1

s )) dWs

)2

≤ 2t2 E
1

t

∫ t

0

(m(XN
s ) −m(XN−1

s ))2 ds+ 2 E

∫ t

0

(σ(XN
s ) − σ(XN−1

s ))2 ds

≤ 2(t+ 1)c2
∫ t

0

E ‖XN
s −XN−1

s ‖2 ds

��



�A� �
���
> �� �� ��>� � � �>�
T

��� �
 � ?
m, σ

���@����
 �� <�����
 � �>� � �

c
����

E

∫ T

0

‖XN+1
t −XN

t ‖2 dt ≤ 2T (T + 1)c2 E

∫ T

0

‖XN
t −XN−1

t ‖2 dt

��
T1

��>� ?
aN+1 ≤ 2T (T + 1)c2aN

�� =���� ���>�� �
aN+1 = E

∫ T

0
‖XN+1

t −XN
t ‖2 dt


���
���� ��


aN

�� �>�� 
��� ?
aN ≤ αNa0


���
aN+1 ≤ αaN

�A� ?
2T1(T1 + 1)c2 = α < 1

��
������
 
���� �� �� ��A�� 
���
� ���� �� ����
 �� ��

‖aN+M − aN‖ ≤ αNa0(α
M − 1)

N→∞→ 0

=����
Xt

�� � ��>� �����
XN

t
L2

→ Xt

����@�	 ��
 �� ������
 � � �
[0, T1]

����	 ���> �
����
�>� ?
� ����
 ��

XN+1
t = X0 +

∫ t

0

m(XN
s ) +

∫ t

0

σ(XN
s ) dWs

�=��� >�� ��> ��� �
���

E

(
Xt −

[
X0 +

∫ t

0

m(Xs) ds+

∫ t

0

σ(Xs) dWs

])2

≤ 3 E
(
Xt −XN+1

t

)2

+ 3 E

(∫ t

0

(
m(Xs) −m(XN

s )
)
ds

)2

+ 3 E

(∫ t

0

(
σ(Xs) − σ(XN

s )
)
dWs

)2

≤ 3 E(Xt −XN+1
t )2 + 3(t+ 1)c2

∫ t

0

E
(
Xs −XN

s

)2
ds

N→∞→ 0

?
[0, T1]

����	 ���> 
� ����� 
����
 = ��� �����
 ����
� �
�����
 �� = ����
X

�� 
�� �����


����
 �� ��� � ���� ?
���

 ����> ���� ���� = ��� �����
 �> ����	 ���
 ���� �� >� �� ��

���� = ��� �� � �� � � �>�	�	 �� ���> � �
��@
 
���>

XT1


���
 ���� =�
[T1, 2T1]

����	 ����
Fixed

� �>�
 ���� � 	���> �A�� �� =��� ������� ��� �
� ���� ?�� �� 
�A ����	 ��� ���
?
8.4



Point


����
 ������� 
������ � =��� ����

����>�
 � 
���	�> ����� ?

0 ≤ t ≤ τ
�F t

�� = ��� ��� �=�����
 = ����
�
 �����
L2

�
�

��



�A 
���� ��>� 
����
 

����
 ��
d2(X, Y ) = E

∫ τ

0

(Y (t, ω) −X(t, ω))2 dt = ‖Y −X‖2

� ?	� �
� =�� � �
���� =� ������ >��� ���
���� � =�� ��	� >��� �
A ��>�> 
�	� �>�� ��� ��A�

T : L2→L2
��	���� ����� ?
��> >��� �����

(TX)(t, ω) = X0 +

∫ t

0

m(Xs) ds+

∫ t

0

σ(Xs) dWs


� ?		�
�=�����
 �� <����� ����@� ����� ���>

L2
�> = �	 �����

L2
�> = �	 ���� ��>�� 
A ��	����

X, Y ∈ L2
��� ���� ?� ?� ?�� 
���� � �
 


( 8.2)

����� 
���

fixed point
� ��� �>�
 ���� ��

E ((TX)(t, ω) − (TY )(t, ω))2 = E

(∫ t

0

(m(Xs) −m(Ys)) ds+

∫ t

0

(σ(Xs) − σ(Ys)) dWs

)2

����>
 ���>��> �����
E

(∫ t

0

Vs dWs

)2

= E

∫ t

0

V 2
s ds , (a + b)2 ≤ 2(a2 + b2)


�� ?
Vs ∈ L2

���
E ((TX)(t, ω)− (TY )(t, ω))2

≤ 2 E

(∫ t

0

(m(Xs) −m(Ys)) ds

)2

+ 2 E

∫ t

0

(σ(Xs) − σ(Ys))
2 ds

�
�>
 
��@> 
� �� 
������ ��> �����
(

1

t

∫ t

0

f(s) ds

)2

≤ 1

t

∫ t

0

f 2(s) ds

�>���
c
<����� =��� � �

m, σ
���@� ����� 
�>��>�

≤ 2c2tE

∫ t

0

(Xs − Ys)
2 ds+ 2c2 E

∫ t

0

(Xs − Ys)
2 ds = 2c2(t+ 1) E

∫ t

0

(Xs − Ys)
2 ds

��



�
k = 2c2(τ + 1)


��� =� �
��
‖T nX − T nY ‖2 = E

∫ τ

0

dt [(T nX)(t, ω) − (T nY )(t, ω)]2

≤ k E

∫ τ

0

dt

∫ t

0

ds
[
(T n−1X)(t, ω) − (T n−1Y )(t, ω)

]2

≤ k2 E

∫ τ

0

dt1

∫ t1

0

dt2

∫ t2

0

[
(T n−2X)(t, ω) − (T n−2Y )(t, ω)

]2

≤ kn

∫ τ

0

dt1

∫ t1

0

dt2 · · ·
∫ tn

0

dsE (Xs − Ys)
2

≤ kn‖X − Y ‖2 τ
n

n! ?
� �� � � ����	 ��� � �
A� �>�� 
����
 �>��
 ����
�
TY ∈ L2

�� � ��> A� �

Y ∈ L2

=� 
�� �
Y = K = constant

��
n = 1

��>� =� ���� �@�

��� � �
�� ��� �

‖TX‖ = ‖TX − TK + TK‖ ≤ ‖TX − TK‖ + ‖TK‖ ≤ kτ‖X −K‖ + ‖TK‖

≤ kτ‖X‖ + kτ‖K‖ + ‖TK‖ <∞

?
TX ∈ L2, ∀X ∈ L2


���
A� � (kτ)n

n!
= q2 < 1

�� ��
n0

��>� ���� �@� �
‖T n0X − T n0Y ‖ ≤ q‖X − Y ‖ ?�@���� 
���


T n0

���

��� ��� �
L2

�> 
���� �>� ���� � � �
T
�� �������

8.5
�����
 �

8.4
�>�
 ���� � 	���� �
���

�� �� ����
X

=���
Xt = (TX)(t, ω) = X0 +

∫ t

0

m(Xs) ds+

∫ t

0

σ(Xs) dWs

�
τ
��� ���> ��� 
���� 
>��� �
A�

����!� �−∞ < β <∞ �� ��#+ �� *�(( 5.10 -

��

F (t, β) = F0(t, β) +

∫ t

0

G(s, β) ds+

∫ t

0

H(s, β) dW (1)
s

��



� ����  %0! Xt
% � &L2

loc�� � ����� F0, G,H � β ��� ��%�
dXt = At dt+Bt dW

(2)
t

��%� F (t, Xt) ��#+ ��/ �# ���# �/�%�/(�% � ������� %"� &L2
loc�# � ���� ! Bt�� At

��%�

&! �(�%�#  +�(! W (1)
t = W

(2)
t &%

&�0!# ! ��(�%�# !�+ �(! W (i)
t &#

�� *��� ��'�! &!��)(  )��# H,G �� !��,'( � ��� *( 
Vestnik,Moscow Univ. #1, 1973, pp. 26-32

&� �� ���� ��� ��� � ���'/(�% ��%� �ti, Xti
#�#� ����/ ��/� *!. �,��

&! �/���/�  %���� �0+ ��� �)�� 5.11
�	
��

%� �� � �)��  �!��"���.�� ! �*�/# ! �+�� ��# ���*� )"�� &Xt
�� �()�# t +'�#

dXt = [pt (βXt dt+ σXt dWt) + (1 − pt)αXt dt]

�+ )�)� �0 ≤ pt ≤ 1 �� � �! �# �" � � # �* ! ��'% �(� � �! ��!)�(! � ! ��(� '" ��� ��%�� �#�% ��%�
�� �drift � 0 .�*�0 ��)�� � α, β & +��  !���* !% �%!� � �(!/���� ��!( �σ(Xs, 0 ≤ s ≤ t)

pt
�(�� ) ��(!/���#� pt

���+ �� �+ %� sup� ��%� �sup0≤p·≤1 EXt
'��(� �� pt

�.*( & +��  
��/ �% !*��(� &logXt  (!�� ��)'( ��� ��� &σ(Xs, s ≤ t) �+ )�)�

d logXt =
1

Xt
dXt −

1

2X2
t

σ2X2
t p

2
t dt

= [βpt + α(1 − pt)] dt+ σpt dWt −
1

2
σ2p2

t dt

�(�% Xt  (!�� ��� � logX ��#+ ���'/(�% � ���.� ��/ �# � ���� �! �( �� ��� �!���.�  %���� �(�# ��
�! ���'/(�%  ��"# &����� � )"# + �.��

logXt = logX0 +

∫ t

0

σps dWs −
1

2

∫ t

0

σ2p2
s ds+

∫ t

0

[βps + (1 − ps)α] ds

Xt = X0 exp

(∫ t

0

σps dWs −
1

2

∫ t

0

σ2p2
s ds

)
· exp

∫ t

0

((1 − ps)α+ psβ) ds

≤ X0 exp

(∫ t

0

σps dWs −
1

2

∫ t

0

σ2p2
s ds

)
· sup

0≤p·≤1
exp

∫ t

0

((1 − ps)α+ psβ) ds

��



��#+ �#�!� ��� ���� β ≤ α �#  ���#� β > α �% pt ≡ 1 ��#+ '��� ���*% ��/ �## ��� ���� 
��)�� �#� �(�%�� ��� �%� ���%� /((�.��% &�/��(���/) %� ��/ �## �(� /((�.��% �� ��� �pt ≡ 0

���/� �(���/)  �*! �%(! ��#+ � ���� �pt �# !��! %�� � � !�*�! �+ �'(�/��
EXt ≤ X0 · 1 · et·max{α,β}

& , pt
��#+ '��� ��� ���� ���� ��������# '��� ������� �% ���#+ pt

�(%"� � (���
&R.C. Metron Rev. Economics and Statistics, 51, 1969��  *��� �, %�'�)

��



����� �� ������� �������� ������� �

�B ���# !"�#� ���� n ��� �t1 < t2 < . . . � �(� , $��% ��� �% �# ���� %��( {xt} � �� ! 6.1
���
�

P
[
xtn+1 ∈ B

∣∣ xtn , . . . , xt1

]
= P

[
xtn+1 ∈ B

∣∣ xtn

]
.



 ?	�

�
ε > 0

��
t, T

��� �� ����� 
���� 
���

 �����>��� ���� ���
σ{xs, 0 ≤ s ≤ t} ⊥

σ{xt}
σ{xs, t+ ε ≤ s ≤ T} .

��� �
ε > 0

�� ����	
 
� ���� 	�� � 
�A> � ���
� ���> � ��	� �� 	��� 
���

� >� =�
?

= 0

����!� ε > 0 �� τ  ��"+ �� , ��� �% �,* �# ���� %��( {xt} � �� ! 6.2
���
�

σ{xs, 0 ≤ s ≤ τ} ⊥
σ{xτ }

σ{xs, τ + ε ≤ s ≤ T} .

���>� ?
diffusion process


 �A�� �� � ��
� ���� ����@� =��� ���@� ��� ��> �A� �> ���� � ��
�
���� =������

m, σ
�� ���� ?� �	���	� 
����� �� 
���� �� ���> ���� ��>�	 �� �	 ��� 
��@>

��� �� ����� � ��
�
� �<�����
dxt = m(xt) dt+ σ(xt) dwt .



 ?��
�� � ��

xt

�� �>�� �>�	 �� �	 ��� 
� ��>
xt+ε = xt +m(xt) · ε+σ(xt) · (wt+ε − wt) .



 ?� �
���� ���> 
A ���� � �����>
 
� ���
 � ������ � �

wt+ε−wt

�� 
�@���� � �

xt+ε

� ��

xt


� �
>
?�> ���� � ��
�
 ����� ��>�> ��	� �		�

= ����
 
���� ����> ��� �� ����� 

�A� � ��> ���� �� 
�� � ���> ���� �� �� ����
 
���


���> ���� = �� ��� 
����
 ������ �����> � ���� ��� �� ?= �����

t
�> � ��> ����
 ����� ��

?
���� �� �� �������
t
�>
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���@� ��� ������� ���� ?
( 6.2)

�� ����
 {xt}
� ��
� 
��� >�� ������� �� ������
 
�����


��� ���� � ���@�
u(t, x), u′t(t, x), u

′
x(t, x), u

′′
xx(t, x)

����>�
u(0, x) = f(x)

�������

f(x), u(t, x)?

x
���

0 ≤ t ≤ T
��>�

!���* ! ��%�"(�.�)  %���� !% !� ���� u �% 6.3
���	

∂u(t, x)

∂t
= m(x)

∂u(t, x)

∂x
+

1

2
σ2(x)

∂2u(t, x)

∂2x



 ?� �
�( 6.2) !% �!�. xt

��#+ � �,% �u(0, x) = f(x)  �*!  �%(! �+
u(t, x) = E [f(xt) | x0 = x]

.
= Ex[f(xt)] .



 ?� �

� %#  ��"# ��" ��# ����� ��.% !��%�"(�.�)  %���� !% 6.4
����

∂u(t, x)

∂t
= Lu L = m(x)

∂

∂x
+

1

2
σ2(x)

∂2

∂2x



 ?
 �

���� ��	 �������
 ��	���
 � ���� � �
 ?
 �@� ��� ��A�� � 
 �@���� �� �� ��
 ��	���� � �

L


��
� �	���	�
 ���� �@�����
 
� ����
 �� 
��

( 6.4)
�����
 
�����
 ��

infinitesimal generator?� �� ����
 ��� �� ����
L
�� >� = �� ?

( 6.2)

! �"��� �� �)� �+ ! ���* ! ��%�"(�.�)  %���� �� !�(��!. #�*�  /��  + �"� ( 6.5)  *��( 6.5
����

#��(� �! �/���/�  %���� �� !�(��!. �� #� �.�� ���'(  �*! �%(! �� ��#+ ��� ��� &����� /(��
&! �%"�! �� �� �.�% +"��� �)� �+ !�(! �� !�*�! !%

��

t

��� >� = �� �

Ψ(s, x) = u(t− s, x)

�@���� ����� ?

x0

�
��� 
�����
t

�A �>�� ���� ��

��	 �� ��� ��� ?

s
��
 
�A
 
����� �� �>� �	���



 ?� �
Ψ(t, xt) = Ψ(0, x0) +

∫ t

0

∂Ψ

∂s
(s, xs) ds+

∫ t

0

∂Ψ

∂x
(s, xs) ·m(xs) ds

+
1

2

∫ t

0

∂2Ψ

∂2x
(s, xs) · σ2(xs) ds+

∫ t

0

∂Ψ

∂x
(s, xs) · σ(xs) dWs .

�




��� �A 
� ���� = ���� 
� ��
L
��	����
 ��

( 6.6)

���

 ���

Ψ(t, xt) = Ψ(0, x0) +

∫ t

0

(
∂

∂s
+ L

)
Ψ(s, xs) ds+

∫ t

0

∂Ψ

∂x
(s, xs) · σ(xs) dWs .



 ?� �
�� >� = ���

∂Ψ(s, x)

∂s
= −∂u(t− s, x)

∂t
.



 ?� �

���� ������ �� �� ?(

∂
∂s

+ L
)
u ≡ 0


�� ����� 
����
 ���	 ��
 �
( 6.4)

�� ������
u
�� 
����


�� ?����� 
����
 �>��
 =� ���� ����� �	���	�
 ���	 ����
Ex0 Ψ(t, xt) = Ψ(0, x0)



 ?	� �
�>��

Ψ
����
�

Ex0 Ψ(t, xt) = Ex0 u(0, xt) = Ex0 f(xt)


 ?		�

Ψ(0, x0) = u(t, x0)


 ?	��

?	 ���
 �� �����
 �=��� �����
x0

��
t
�� 
���� �

� ��� �@����� 
� ���� ��� �� ���� ����� � 
�� �� �>�� �=�� ����� = ���� ��� �
� �� 
���
�� ��

C2
0

�
 � ?�A� ����	 ��@� ���� ��
 ���� ? ?
( 6.2)

�� 
����
 �� �����@
 ��>� 
�����
��� ����>� 

�@����> ���� ����	 ��
 ���� � ���� ����	 ���� <��� � ������ ���

f
���@� ���


?
=�� ��� 
�� ��A�� ��� �
f
�� � �� ���
� �>�� � ����@� ���A��

�f ∈ C2
0
�� ��#+ ∫∞

−∞ α1(x)f(x) dx =
∫∞
−∞ α2(x)f(x) dx !�� ���� α1, α2

!��"�(�. �% 6.6
����

&! ��� � �,% ! �.�"� α1, α2
$��(# �% &�'#� � x ��# /+�� α1 = α2

�,%
���>

x
>@�
 ��
� � 
���
> 
����
 �

t
��� ��> � ��
�
 ���� ��>�

p
�����@ ������ ����

= �����
f ∈ C2

0


�@���� ���� ��
y
�> 
��@� � �
� �


t = 0

Ex(f(xt)) =

∫ ∞

−∞
f(y)p(y, t | x) dy .

 ?	� �

��



������@
 ����
�� 
 �@��	 ��� � 
��A� ��� ����
 ��� ��
∂

∂t
Ex[f(xt)] =

∫ ∞

−∞
f(y)

∂

∂t
p(y, t | x) dy

 ?	� �

∂

∂x
Ex[f(xt)] =

∫ ∞

−∞
f(y)

∂

∂x
p(y, t | x) dy

 ?	� �

LEx[f(xt)] =

∫ ∞

−∞
f(y)Lp(y, t | x) dy

 ?	
 �

∫ ∞

−∞
f(y)

∂

∂t
p(y, t | x) dy =

∫ ∞

−∞
f(y)Lp(y, t | x) dy .

 ?	� �

=����	 ��
� 
���� ?
∂/∂tEx[f(xt)] = LEx[f(xt)]

���>�� 
�@��
� �>�� 
����
 
�����
 ����
����� = ���� = �����	 ��


6.6

��	�� ����@�
 ���
� �A� �

f
��� = ����

∂

∂t
p(y, t | x) = Lp(y, t | x) = m(x)

∂

∂x
p(y, t | x) +

1

2
σ2(x)

∂2

∂2x
p(y, t | x) .

 ?	� �


���

 ���� = ����� ���� ��
 �����@
 ����
�
p(y, 0 | x) = δ(y − x)



 ?	� �
?
xt0 = x0

=�����
t = 0


� A>� 
����
� �	���� �� >� = ��� >��� ?

∂
∂t
p(y, t | x) = Lp(y, t | x)�� �@��� = �� ��> �A 
� ���� = ���� 
� ��

?� �>� � �

y
�����@
 
���� �A 
� ����> �

���

 ���� � 
���

 
����� ���> �� �� 
��A�

?> ��������� �� ������
 
�����
 �

( 6.18)

����� ���> ������

( 6.4)

�����



�����
 ��
xt


����� 
����� ��� ��
dxt = m(xt) dt+ σ(xt) dwt



 ?�� �
=���� ����

v(x)

�@���� ��>� ?�	 �� ��� �� �� �����

v(xt) = v(x0) +

∫ t

0

[
v′x(xs)m(xs) +

1

2
v′′xx(xs)σ

2(xs)

]
ds+

∫ t

0

v′x(xs)σ(xs) dws



 ?�	�

= v(x0) +

∫ t

0

(Lv)(xs) ds+

∫ t

0

v′x(xs)σ(xs) dws .


 ?���

��




�����
� �>�� 

��@�
 
�A� 
 �@� ���
 �� =������ = ����> � �A� �
��@� 
� A � �

τ
=�

�����

v(xt∧τ ) = v(x0) +

∫ t

0

1{τ}(s)(Lv)(xs) ds+

∫ t

0

1{τ}(s)v
′
x(xs)σ(xs) dws



 ?�� �

E v(xt∧τ ) = v(x0) + E

∫ t∧τ

0

(Lv)(xs) ds .


 ?�� �

�>��
t→ ∞ �� � ���� =� ���

E v(xτ ) = v(x0) + E

∫ τ

0

(Lv)(xs) ds .


 ?�� �

?
Dynkin


�� ��� ��� �� �
 �A
�)'��  Mf (t) � �� ! f ∈ C2

0
��� & %#  (���� + �' � ��.% ( 6.22)��( 6.21) ������ � 6.7

����
�)� �+

Mf (t)
.
= f(xt) −

∫ t

0

(Lf)(xs) ds


 ?�
 �

&�'(�/�� %� 
 ��" � %� � L �(� �)�� ��%�"(�.�) ��/�.�% ��!(� *�(( ����� � �.  ����� �' �� �#!��

L = m(x)
∂

∂x
+

1

2
a(x)

∂2

∂x2



 ?�� �
��� � %#  (��! !% ����� {xt} � �� ! �% &m, σ � ��� !��"�(�. ��#+ a(x) = σ2(x) ��%�
�)� �+ !�)'��  ! �/���/�  %���� !% �!�. {xt} *�� # �,% ��'(�/�� %� Mf (t) � �� ! �f ∈ C2

0

m, σ

dxt = m(xt) dt+ σ(xt) dwt .


 ?�� �
�)� �+  *!�. %� &martingale formulation 0�'(�/�� *���(0 !%��( ! ��/���/� ! �%����� �,  ��'
��#' �� ��)#� ��� !(! �( %� ! ��%� & ��.� %� �,  ��' ! �# ��* &D. Stroock, S.R.S. Varadhan

*�� # �(�% � �� ! �� *��/ ��%� �0)� '��� !#*� !��.%� %� �! �(� &�0)� ����� ������
&�)����% #*��

∂G
�> 
�� � ?

Rn >���> 
����� 
����
G


@�>� 
���� ?
� ��� 
@�>�� ��@� �@���
 
�A


�� � ?
���� � �
� �

G
�� = ����> 

 �

G
�� ����> 

 � ��@��
 ����� �
 ��� �

G
�� 
��
 ��
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x ∈ G
���� ���� ?

G
�� 
��� � ��
 � ��
�
� 
����
 
�A
 ��

τG = τ = inf{t : xt ∈ ∂G} �>
?
E τ <∞ ��� �� 
��� � ��
� 
� ��� ����
 �

xt

� ��
� �� �@���
 
�A

*0)� !% !�!�. v(x)  �"�(�. !� ��� �% �Ex τ �� '�" �� 6.8

����

(Lv)(x) = −1 x ∈ G


 ?�� �

v(x) = 0 x ∈ ∂G


 ?�� �

&v(x) = Ex τ �,%

�� ��� ��� ��� ���� ��

E v(xt∧τ ) = v(x0) − E

∫ t∧τ

0

ds .


 ?� 	�

x0 = x
�����
 >@� ��>� �>���

t→ ∞ �� � ����
E v(xτ ) = v(x) − E τ .



 ?� ��
?
v(x) = E τ


���
v(xτ ) = 0


���
xτ ∈ ∂G

�>�
��%�  *��# �� , !% #�*( �! �(�%�#  +�(! ��#+ &%�#� ��.#�  #��+ �)��� �*��!( 6.9

�	
��
&G = [−c, c]

L =
1

2

∂2

∂x2



 ?�� �
Lv(x) = −1 x ∈ (−c, c)

 ?�� �

v(−c) = v(c) = 0 .


 ?�� �

x �# ! �+ �# ��  �"�(�. %� ���!. 
v(x) = c2 − x2 .



 ?�
 �

 "�( �� ��� &�)�� �+ /��� !% ���(�� ��(��(�+� �(% FM �(.�%� ��)�� !/���# 6.10
�	
��

αt
��  %�'�  �'( �% ��� (�)  # ��+ �'+� �)� �+ ! ��+� �! �( !%, &%��( �' ��  ,%. ��*% #��+�

��



 �� !  %�'� ��#+  %���� �� ��� m(αt) !��� �#  ,%. !��+ �� ��!( � ,%.#
dαt

dt
= m(αt) .



 ?�� �
� ,%. !%�'� ��#+ %# �)��  !% �#�( � )�)�# ���+�� ! �+�. �� �% ���%

dαt = m(αt) dt+ β dwt



 ?�� �
)+ *��� +"���# �� ,  �� � �%� !(��(+� �%� �' &� ��+� �� ��*�� �)�' !% ���.%� β ��%�
�.� &�c < 180o �� ���# � αt = c  %�'�� ��+ �'� �% ��+.� ���.�  ��+( '�*� *�(( �0 ��+( !��#�0�

!% �! �. v(x) ��%� Ex τ = v(x) ����(�) !*��(

m(x)
dv

dx
+

1

2
β2 d

2v

dx2
= −1 x ∈ (−c, c)

 ?�� �

v(−c) = v(c) = 0 .


 ?�� �

��A >��� ��� ?�@� 
@�>�
 ��� �� 
��
 =� ���
G


@�>�� �@� ��� �� �� >��� =�����
?
y = xτ ∈ ∂G


��� �> ��@� ����� 
�� � �����
ψ(y)

����
Ex(ψ(xτ ))

�� >��� �@�� �����

� ����
 ��

v

����> 
��>��

Lv(x) = 0 x ∈ G


 ?� 	�

v(x) = ψ(x) x ∈ ∂G .


 ?� ��
�� �>��

xτ ∈ ∂G
�� 
���� ?

Ex v(xτ ) = v(x)
=���
 
���> ��� ��>�� �
�� ��� ��� �� �� �����

�� �>��
ψ(x) = δ(x− x0)

������ 
� ��> ��� =� 	��> ?
Ex ψ(xτ ) = v(x)


���
v(xτ ) = ψ(xτ )?

x0


��� �> 
� �@�
 � ����@
?
Feynman Kac formula

<��
����� ��� ��

�A
 �

τ = inf{t : xt ∈ ∂G} ����� ?
L

��	��� =� � ��
�
xt

�� �
����� 
���� 
@�>�
G

�
�
���� �

G
�� ����
 ��

g, v
��
∂G

��
φ
���@� ��� � ���� � ?

G
�� 
��� � ��
 � ��
�
� 
����



�� ��
 ��� ��
f

 �@���� ����� ?

v ≥ 0

f(x) = Ex

∫ τ

0

g(xt)e
−

R t

0
v(xs) ds dt+ Ex φ(xτ )e

−
R τ

0
v(xs) ds .



 ?�� �

��



*0)� �� )�*� ���!. %� ��+� f  �"(�. �� �� �%!� ���(�/ � �%(! !*! 6.11 -

��
(Lf)(x) − v(x)f(x) = −g(x) x ∈ G



 ?�� �
lim
x→a

f(x) = φ(a) a ∈ ∂G .


 ?�� �
��#+ ���(�) !*��(# ��!� � ξt =

∫ t

0
v(xs) ds ��%� x̃t =

(
xt

ξt

) �)*  �,�.�) � �� ! �)' �,��
&g = 1�� v = 0 ��#+ �(��+� *�! �.�  � �)# f(x)e−ξ  �"�(�. 

?<� �
����� ��� �� �����
( 6.43)


�� ��
�) � �+ !�)'��  m �)�� fm

/(� ��  ! �"�(�. ��  %� 6.12 -

��

fm(x)
.
= Ex

(∫ τ

0

v(xs) ds

)m

 ?�
 �
*0)� !% !� ����

Lfm(x) +mv(x)fm−1(x) = 0 .


 ?�� �

&*0)� ��  �)� ���!. �)� �+ fm
!% #�*� �! �( �� �� 

?
Fokker-Planck equation

������� �� ��� �� � �
 �>��������� �� ������
 
�� ��

t

� A
 
����> � ��� �
 �A ����� ��
 �����@
 ������ ��� 
����� 
��� � �� ���
 
�� ��



����> ����� � ��� ��
� � � ���� 
�� �� =� �� ��� ? 

���

 ���� � � 
���

 
����>�
� ���@� � ��A�� ���>

p(y, t | x) �����@ = ��� ���� � �� ��
 ���@� ?>@�
 � ����
 
����>�
t

� A


?�����
!� ���� �0)� ���!. �� !�.�." �� �� �%!� ��%(! !*! 6.13

����
∂p

∂t
(y, t | x) = − ∂

∂y
[m(y)p(y, t | x)] +

1

2

∂2

∂y2
[σ2(y)p(y, t | x)]

 ?� � �

��/�(' �� ������. � ��%�) ��/�.�% %��( L∗ .
= − ∂

∂y
m(y) + 1

2
∂2

∂y2σ
2(y) ��/�.�% 6.14

����
 , �%(!� )�+# m, σ �� ! ��,'( ���� ���) L∗ ��/�.�% ����� #� ��� &L = m(x) ∂

∂x
+ 1

2
σ2(x) ∂2

∂x2

&! ��)� �,� �!�� � ���* ��%(!# !� ��� ! ���*%  %���� ���� �.�%# &L !�)' � ���) �(�%

��



�� ���
 �� = ����
xt

�� 
���� ��	 �� ��� �� �� ������
f ∈ C2

0


�@���� ��>� ���� ��
1

ε
E[f(xt+ε) − f(xt)] =

1

ε
E

∫ t+ε

t

(Lf)(xs) ds


 ?�� �

�>��
ε ↓ 0

�����
∂

∂t
E[f(xt)] = E(Lf)(xt) .



 ?�� �
��� �A 
�� �� = ���� ���� �A�

p(y, t | x) ���� �� � ����@ ����� =� ����
∂

∂t

∫ ∞

−∞
f(y)p(y, t | x) dy =

∫ ∞

−∞

[
p(y, t | x)

(
m(y)

df

dy
(y) +

1

2
σ2(y)

d2f

dy2
(y)

)]
dy .



 ?�	�
�
�� � �@> 
����
 �>��
 �� =����> 
�@��	 ��� ��� �@>�



 ?��� ∫ ∞

−∞
m(y)p(y, t | x)df

dy
(y) dy

= m(y)p(y, t | x)f(y)|∞−∞ −
∫ ∞

−∞

∂

∂y
[m(y)p(y, t | x)]f(y) dy .


���� 
��� 
��@> ?����� 
�� �� 
����
 ��	 �>
 
��� ������ ���� |y| ��>� f(y) = 0
=���

= ����> � ��@��	 �� ��� ��� �� �>�� ������ ���� |y| ��>� df/dy = 0
��

∫ ∞

−∞
σ2(y)p(y, t | x)d

2f

dy2
(y) dy = σ2(y)p(y, t | x)df

dy
(y)|∞−∞ −

∫ ∞

−∞

d

dy
[σ2(y)p(y, t | x)]df

dy
dy



 ?�� �

= − d

dy
[σ2(y)p(y, t | x)]f(y)|∞−∞ +

∫ ∞

−∞

d2

dy2
[σ2(y)p(y, t | x)]f(y) dy .



 ?�� �
�
( 6.51)

�> �������
 ���@��
 ��� �� >�@�


 ?�� � ∂

∂t

∫ ∞

−∞
p(y, t | x)f(y) dy

= −
∫ ∞

−∞

∂

∂y
[m(y)p(y, t | x)]f(y) dy +

1

2

∫ ∞

−∞

d2

dy2
[σ2(y)p(y, t | x)]f(y) dy .

�� � �� �
f ∈ C2

0

��� 
��� 
�����
� 
����
∂

∂t
p(y, t | x) = − ∂

∂y
[m(y)p(y, t | x)] +

1

2

d2

dy2
[σ2(y)p(y, t | x)]

 ?�
 �

���



?
���

 �� ��� ��� �
�� 
��� ?

xt

�� 

���� ���>
 � �����
 ��>� 
����� �>�� ����
( 6.48)

�����
 
�����
�
��� �� 
����

xt

�� �����@
 �A� ?
p0(x)

�>
x0


����
 �� �����@

p(y, t) =

∫ ∞

−∞
p(y, t | x)p0(x) dx .



 ?�� �
�>�� � ��@��	 ��� � � �� �A� ��� ����
 ����� �

( 6.48)
�� �A� 
 �@��	 ��� �@>�

∂p

∂t
(y, t) = − ∂

∂y
[m(y)p(y, t)] +

1

2

∂2

∂y2
[σ2(y)p(y, t] .



 ?�� �
?
p(y, 0) = p0(y)

=
 
�����
 �� 
���

 ���� ����
xt

�� �����@
 ��>� � ��� �A
�
t
���

p(y, t) = p0(y)
�� ��

p0

�����
 
�����@ � ����� ���>� 
� �� =�
 ������ ���� ���
�
�A> ����� �
 � �> ���� � �
 � ��
�
� 
���� �
�A> 
 ���� 
��� � ��� �� ��
 �����@
� �� �����
A� � ?�A� � ����@ �� ��� 
��� ���� � ��>� ��� ?�����@	� ��
 � ��
�
 �� 
��	>� �A� 
����


� �
∂
∂t
p(y, t) = 0

∫ ∞

−∞
p(y, t | x)p0(x) dx = p0(y) .



 ?�� �
�	 ��� �@>�� �����> ��A = ���� =� � �

( 6.48)
�� = ����

p0

�A�
p(y, t)

�� 
 ���
p0(y)

=� �� ��>
�>��

y
�> 
 �@��

0 =
∂p0

∂t
(y) = − ∂

∂y
[m(y)p0(y)] +

1

2

∂2

∂y2
[σ2(y)p0(y)]



 ?
� �
1

2

∂

∂y
[σ2(y)p0(y)] = m(y)p0(y) + c



 ?
 	�
����� ��� 
����> ����� ���
>�

c = 0

���� �A 
� ���� 
���� ����� ?�
���

c
� �>� ��>�

>���
c = 0

��>� ?����
 
���
 ��
d

dy
[log σ2(y)p0(y)] =

1

σ2(y)p0(y)

d

dy
[σ2(y)p0(y)] = 2

m(y)

σ2(y)



 ?
 ��

p0(y) =
c′

σ2(y)
exp

[∫ y

0

2
m(z)

σ2(z)
dz

]

 ?
� �
?∫∞
−∞ p0(y) dy = 1

����� ������@ 
�
 �
p0

�� 
� ���
 ��� �� �>��
c′

� �>�
 ����
���




����
 � �

p0

����
p0(y)c(y)


��@
� 
���� ����
c 6= 0


���
 ��>� 
���� � �@�� ���
( 6.61)


�����
 � ��� ?
c = 0


���
 ��>� ���� ��>� ���
1

2

∂

∂y
[σ2(y)p0(y)c(y)] = m(y)p0(y)c(y) + c



 ?
� �
c(y)

1

2

∂

∂y
[σ2(y)p0(y)] +

1

2
σ2(y)p0(y)

∂

∂y
c(y) = m(y)p0(y)c(y) + c



 ?
� �
c(y)

[
1

2

∂

∂y
[σ2(y)p0(y)] −m(y)p0(y)

]
+

1

2
σ2(y)p0(y)

∂

∂y
c(y) = c



 ?

 �
1

2
σ2(y)p0(y)

∂

∂y
c(y) = c



 ?
� �
���> �� ?

c = 0
=�

( 6.61)

�����
 �� ������

p0

��
∂

∂y
c(y) =

2c

σ2(y)p0(y)
.



 ?
� �
��
 � ����@
�

c(y)
��>� �����	 ���
 
� ����
 �� ����� A� � �

c = 0
��>� 
���� >��� �����

?
p0(y)c(y)

!��%(��  %���� ��#+ 6.15
�	
��

dxt = mxt dt+ β dwt



 ?
� �
�#�( �� �+ �#� m, β �

p0(y) =
c

β2
exp

[
2

β2
·m ·

∫ y

0

z dz

]
=

c

β2
emy2/β2

.


 ?�� �
�% �� #� ��� �!���%' *�� # %� !�.�." �,% �! ��(��"/� !�.�." �� ! ��%(��  %����� �% ��� ���
/�* #  , & ,  ���# ! ��(��"/� !�.�." ��% /�.#� �! �.�."  (�% �,  %���� �)� �+ ��!( p0

�,% m ≥ 0

!�.�." ��% %� � ���!. �� m < 0 ��#+ & # �"�  ((�% ��+� %�� ���.% � %����  ,  ���# ��� ���."
&! ��(��"/�

�� �



������� ��� �

H0


���
 ������
 ��� 
�> 	 ���
� = �������� ��� � {xt, 0 ≤ t ≤ 1} ��� = �	��� ���� ����
��� ��> ��� ��	��� ��


H1


���
� �{xt = wt, 0 ≤ t ≤ 1} ����� ��>�> ��� ��	��� ��

?{
xt =

∫ t

0
φs ds+ wt, 0 ≤ t ≤ 1

} ����	 ��� ��� 	���� �	� �����	� � �
 � ��
 ���� ����
� ��
�
 ���� �� {at1 , at2 , . . . , atn}

������� ����� ��>�> = ����> = ��� A> ������� ������ =�

	��
 �>�� ���� �A� �=����> =
 
���� ��@��� = ������
 =����
 �� ��> =� � ���� = ��� A>

�����>�
 ��� ��� ��
Λ = Λ(at1 , at2 , . . . , atn) =

P [xt1 = at1 , xt2 = at2 , . . . , xtn = atn | H1]

P [xt1 = at1 , xt2 = at2 , . . . , xtn = atn | H0]


� ?	�
�� ��� 
��
> 
� ���� ���� ��>� =�
 �������
 �� 
���
 ���
 ��>� �
����
 ��� �� �����

?����
������� 
� � �� ��
� �� 
����� ����� �� ����> 
���� ������� ��A > ���
� �@�� ���> ��
?�>� �= ���� ���
��� �� ��@ ��
 	��� ��� � �
 ��� ����� �
 � �� ��
 ��� ?= ����> =��� 

 �����
�� 
��� ?

P0

��A�>
P1

�� �@�� 
���
P0,P1

���>��
 ����� ��� �
(Ω,F)

���� >��� 
���
?
E0,E1

�> � �� ����
 ������

(Ω,F) �+ a �%��%  (!�� ���� �,% &(Ω,F),P0,P1

��(�!( &Radon-Nikodym-Lebesgue 7.1
���	

A ∈ F ���� P0(N) = 0�� �� N ∈ F +��%� �

P1(A) =

∫

A

a(ω) dP0(ω) + P1(A ∩N)

� ?��

� ����  ��"# ��%
P1(A) = E0[a(ω)1{A}] + P1(A ∩N) .


� ?� �
�,% E1 �� �*�# �� �#�'/�% %0� %� x �% �$��(#

E1 x =

∫

Ω

x(ω) dP1(ω) =

∫

Ω\N
a(ω)x(ω) dP0(ω) +

∫

N

x(ω) dP1(ω) .

� ?� �

?
A \B = A ∩ Bc

�� ��� �
B

�> 
����
A

�> � ���� �
 �� � � �

A \B 
�� ��
 � ����

��




���� �#��� &P0
�.� P1

�� ��)���(���)� !�,'( !%��( a(ω) 7.2
���
�

a(ω) =
dP1(ω)

dP0(ω)


� ?� �
&P1 � P0

!%, ���(���P0 �� �*�# absolutely continuous /�* #  .�"� P1 �� ��%( N = ∅ �%
&P1(B) = 0 �' �,% P0(B) = 0 �% B ∈ F ��� �/�* # !�.�"��  ����  �)' 

?
 �@� ��� �� ��A�� �� 
> ��> ��A�� 
��� = ���� �� 
��� ��A��� 
> ���
�A�

P0

�� ���>
absolutely continuous

	��
> 
��@�
P1

=�
P1(A) =

∫

A

a(ω) dP0(ω)

� ?
 �

= E0[a(ω)1{A}]

� ?� �

E1 x = E0[a(ω)x(ω)] .

� ?� �

�>�� 	��>
1 = E1 1 = E0 a(ω) .


� ?� �

��� P0{(−∞, 0]} = 0 �� *�((� �p0, p1
!���.�." �� ! �)���� Ω = (−∞,∞) �� *�(( 7.3

�	
��
�� N = (−∞, 0] �,% &ω > 0 ��� p0(ω) > 0

a(ω) =

{
0 ω ∈ N
p1(ω)
p2(ω)

ω 6∈ N .


� ?	� �

(Ω,F) = (R,B) �+ ! �%# '�� �. ! ��"�(�. ! �(�!( 7.4 -

��

F0(ω) =





0 ω < −0.4

1/2 −0.4 ≤ ω < 0.2

1 0.2 ≤ ω ,


� ?		�

F1(ω) =





0 ω < −0.4

0.8 −0.4 ≤ ω < 0.2

1 0.2 ≤ ω .


� ?	��

���



��)� !�,'( %� � ā(ω) = dP0 /dP1
!% #�* &P0

�.� P1
�� a(ω) ��)���( ��)� !�,'( !%� N !% #�*

&a(ω) · ā(ω) ≡ 1 �� �� a, ā !% ��*#� �! �( ��  %� &P1
�.� P0

�� ��)�� �(
?
8.19

	����
Riesz

<�� �� ��@ ��
 	���> �A� � 	���
 ����
� ?�>� �= ���� ���
��� 	��� ����

��� ��

(Ω,F)
�� 
��� ���>��
 ���� �����

µ(A)
.
=

1

2
[P0(A) + P1(A)] .


� ?	� �
=������
 � ��
 ���� ��

H
�> 
���

∫
x2(ω) dµ =

∫
x2(ω) dP0 +

∫
x2(ω) dP1 <∞
� ?	� �

�
���� 
��@> ���
‖x‖2

µ
.
= Eµ x

2 =
1

2
E0 x

2 +
1

2
E1 x

2 <∞ .

� ?	� �

��
 
A >���> ��� ���
 
����
 �	�>��
 >��� �
A
(x1, x2) = Eµ[x1 · x2] .


� ?	
 �
����@� ��� �����

f(x)
.
=

∫
x dP1 = E1 x .


� ?	� �
�<���� 
����� �� � 
� �� 
����� ��� 
�� =��� � �
 � ������� ����@� ��� ����>> �
A

|E1 x| ≤ E1 |x| ≤ E0 |x| + E1 |x| = 2 Eµ |x| = 2(|x|, 1) ≤ 2‖x‖µ .

� ?	� �

�� ��
λ


� �� ����� �
H

�> 	 ���� = ��� �� �>�� <�� 	���� 
��
f(x) = E1 x = (x, λ) =

∫
xλ dµ = Eµ[xλ] .


� ?	� �
A = {omega :

=� �� �
µ
���

1
���>��
>

0 ≤ λ ≤ 2
�� >� = ��� ?

x
�> ���� ����

λ
�� 
> ���

�� � ��
1{A}

�A�
λ(ω) < 0}

0 ≤ E1 1{A} =

∫
1{A}λ dµ ≤ 0 .


� ?�� �

���



B = {ω : λ > 2+ε} =� ��� �@� ?
µ(A) = 0

�� ���>��
ω
���

λ1{A} < 0
�� 
���� �

P1(A) = 0

��

�A� ��
���
ε > 0

��>�
E1 1{λ>2+ε} = Eµ[λ1{λ>2+ε}]


� ?�	�
=

1

2
E0[λ1{λ>2+ε}] + E1[λ1{λ>2+ε}]


� ?���
≥
(
1 +

ε

2

)
E1 1{λ>2+ε} .


� ?�� �
A� �>� ?

E1 1{λ>2+ε} = 0
=� �� 
�� � 
A ��

0 = E1 1{λ>2+ε} = Eµ λ1{λ>2+ε} ≥ Eµ 1{λ>2+ε} ≥ 0

� ?�� �

?
µ(B) = 0

=� 
���
x ∈ H

��� ���
∫
x dP1 =

∫
xλ dµ =

∫
1

2
xλ dP0 +

∫
1

2
xλ dP1 .


� ?�� �
�>���

xλ/2
� ��
 �� �A 
�� �� �����

∫
x dP1 =

1

2

∫
xλ2 dµ+

1

2

∫
xλ dP0


� ?�
 �
=

1

4

∫
xλ2 dP1 +

∫
[xλ/2 + xλ2/4] dP0


� ?�� �
=

∫
x(λ/2)n dP1 +

∫
x[λ/2 + (λ/2)2 + . . .+ (λ/2)n] dP0 .


� ?�� �
� ��
 ��>� 
> ����� �

H
�> � �� ��� 
���� 
�����
 
�����
 ?

N
.
= {ω : λ(ω) = 2} 
���

�>�� ?
x = 1{N}

∫
1{N} dP1 =

∫
1{N} dP1 +

∫
n1{N} dP0


� ?�� �
��� ����� ?∫

1{N} dP0 = P0(N) = 0
=� �� 
�� � 
A�

a(ω) =

{∑∞
n=1

(
λ(ω)

2

)n

ω 6∈ N

b(ω) ω ∈ N


� ?�� �

���



���� ����� �� � ������ ��	

ω 6∈ N

��>�
λ(ω) < 2

�� 
���� ?�� �� ��� � �� ��

b
����

�>���
( 7.26)

�> � �
���
x
� �� ��� >�@� ?� �� ��


a
�A 
���


∫
x dP1 = lim

n→∞

∫
x(λ/2)n dP1 + lim

n→∞

∫
x[λ/2 + (λ/2)2 + . . .+ (λ/2)n] dP0


� ?� 	�
= lim

n→∞

∫

N

x(λ/2)n dP1 + lim
n→∞

∫

Ω\N
x(λ/2)n dP1 +

∫
xa dP0


� ?� ��

=

∫

N

x dP1 +

∫
xa dP0


� ?�� �

����
 
���>� ����>� ���� 
�����
 
���> 
����
 ?
�
��� � �
 = ��>��� 
��@

 ����
?
n

�> ���� ���� 
����
 ��	 �>
 ?= �� ��� � ���>�
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P0(N) = 0
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∫
xa dP0 =
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Ω\N
xa dP0
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P(e) = P [e | H0] · P(H0) + P [e | H1] · P(H1) =

∫

Ac

dP0 ·P(H0) +

∫

A

dP1 ·P(H1) .
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P(e) =

∫

Ac

dP0 ·P(H0) +

∫

A

a(ω)dP0 ·P(H1) · P(H1) + P1(N ∩ A) · P(H1) .
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P(H0) = P(H1) = 1/2
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P(e) =

1

2

[∫
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dP0 +

∫

A

a(ω) dP0
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A = {ω : a(ω < 1} ����� ?
a(ω) > 1

P(e) =
1

2

∫

Ω

(a(ω) ∧ 1) dP0(ω) .
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&P(H0) 6= P(H1) ��%�  /�*  ! ��+# !% ��!. 7.5 -
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P0(ω : ω ≤ α) =
1√
2π

}
∫ α

0

e−θ2/2 dθ .
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�σ > 0 �� c ��+ �#� ��#+ ���� P1 � P0  ���) �)� �+ P1  �)*  )�� ��)'(

dP1

dP0
(ω) =

1
σ

exp
(
− (ω−c)2

2σ2

)

exp (−ω2/2)
.
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σ2
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�.� ����(� � �� �%' %� x(ω) = ω �%��%  (!�� 
&d P1

d P0

!% #�* &P1
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dP2

dP0
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dP2

dP1
· dP1

dP0
.
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P1
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P0
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P0 ∼ P1
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P0 � P1
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P1 � P0
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!*% �� �.� 1 !��#!� # ����!� � P1(A) = 1 �% ��� �% P0(A) = 1 �,% P0 ∼ P1

�% 7.8 -
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dP1

dP0
(ω) · dP0

dP1
(ω) = 1 .
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(Ω,F ,P0,P1)
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A ∈ G
���

P̃1(A) = P1(A)
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P̃0(A) = P0(A)
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G
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ã = dP̃1/dP̃0
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a = dP1 /dP0
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&ã(ω) = E0[a(ω) | G] 7.10
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P1 � P0
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x
�
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E1(x) = Ẽ1(x) =

∫

Ω

ã(ω)x(ω) dP̃0(ω) = Ẽ0(ãx) = E0(ãx)
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E1(x) = E0(ax) = E0 [E0(ax | G)] = E0 [E0(a | G)x] .
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x
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E0(ãx) = E0 [E0(a | G)x]
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&! ��)�� !�%���� �!�� �P0
�.� 1 !��#!� # �+#�( ���*% ������ ��  %� &%
&P0

�.� 1 !��#!� # )�*� a �,% P1 � P0
�% &#

! �.�." P1 ��� p0(x1, x2) !�.�." P0 �� �� *�(( &x1, x2 ∈ R ��%� ω = (x1, x2) �� *�(( 7.12 -
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&p1(x1, x2)

&! ���.�." �+ � �%(! �)� �+ P1 � P0
�%(! !% %/# &%

&a ��#+ ��/ �# %"� &#
! �" �#� $��% H � � &'

H = {(x1 ≤ α, x2 ∈ R), α ∈ R} .

� ?�� �

&ã = E0[a | H ] ��  %� � ã !% #�*
��

P̃it

�> 
�� �� F t = σ{xs : 0 ≤ s ≤ t} 
��� ?����� � ��
� {xt, 0 ≤ t ≤ T} �
 � ���
�� ��> ?

P0

��� ����	�� F t
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ãt = dP̃1t/dP̃0t
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E0 ãt = E0 a = E1 1 = 1

����	��
 �������
ãt ≥ 0

P0(N) = 0 �� �� N +��%� ���� �% �P0 ⊥ P1
���� �� � ! �#" �( ! �%��( P1 �� P0

!�)��  7.13
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&�7.1 '#����)���(���)� /.���  ��� � P1(N) = 1 ��
?� �	� �		� ���� �� � �� �� �� ��>@�� �
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���
> �A� � �>@�� � ����
 =�
P0(N

c) = P1(N) = 1, P0(N) = P1(N
c) = 0, N ∪N c = Ω .
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�% �,% &� �� ! �)� �+ �"�(  )�� �'�� ��%� �P1
�.� �'� P0

�.� �� �%' %0! {xt} � � 7.14
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&P0 ⊥ P1
� �% P0 ∼ P1 ��

&|α| 6= 1 ��%� xt = αwt
����!� P1

�.� ��%� xt = wt
%� {xt} � �� ! P0

�.�� *�(( 7.15 -
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P1 � P0
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P1
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E1 |x| <∞ =����
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x
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E1 x = E0 ax
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����� = ��� � �
�
y
� �� ���� F1
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 �� 
� ���
 ��� �� 
��� ���
x̂
�A� ?

x̂ = E1(x | F1)�>�� 
���
 ��� �� ?
a = dP1 /dP0

����
E0[ay(x− x̂)] = 0


�� ?
E1[y(x− x̂)] = 0

=����� F1
���
E0 [E0(ayx− ayx̂) | F1)] = 0
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E0 [y E0(ax | F1)] = E0 [yx̂E0(a | F1)] .
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y
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�����
� 
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E0(ax | F1) = x̂E0(a | F1) = E1(x | F1) E0(a | F1) .
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E1(x | F1) =

{
E0(ax|F1)
E0(a|F1)

ω : E0(a | F1)(ω) 6= 0

0 ω : E0(a | F1)(ω) = 0
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P1{ω : E0(a | F1)(ω) = 0} = 0

�� ��� �
�
P1{ω : E0(a | F1)(ω) = 0} = E1 1{ω:E0(a|F1)(ω)=0}


� ?�	�
= E0[a1{ω:E0(a|F1)(ω)=0}]


� ?���
= E0

{
E0[a1{ω:E0(a|F1)(ω)=0} | F1]

}
� ?�� �
= E0

{
1{ω:E0(a|F1)(ω)=0} E0[a | F1]

}
= 0 .
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(yt,F t)
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� ?
 �@�	��� {F t}, 0 ≤ t ≤ T
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(Ω,F ,P0)
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P0
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> ∫ t

0
φ2(s) ds <∞ �� ��� �=���� ����� � ��
�

φt

�
 � ?� �	���	�

at = exp

(∫ t

0

φs dys −
1

2

∫ t

0

φ2(s) ds

)
.
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�)� �+ P1  )�� ��)'( �# �(���' Girsanov � 7.17
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P1(A) =

∫

A

aT (ω) dP0(ω) .
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φs ds
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E0 at = 1
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aT = dP1 /dP0
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P1 � P0
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(
yt −

∫ t

0

φs ds

)
at = btat
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yt −
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0

φs ds

]2
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)
at
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at = 1 +
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as dys .
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u(a, b) = a · b
� ?
 	�

dat = atφt dyt


� ?
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dbt = dyt − φt dt
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u(at, bt)

(
yt −

∫ t

0

φs ds

)
at
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atbt =

∫ t

0

as dbs +

∫ t

0

bs das +
1

2

∫ t

0

2(1 · asφs) ds

� ?
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=

∫ t

0

as dys +

∫ t

0

bsaaφs dys .
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atbt
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( 7.58)
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�	 �� ��� ��� �� >� = ���

( 7.59)
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b2t = 2

∫ t

0

bs dbs + t
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at ·
∫ t

0

bs dbs
.
= at · ct
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dat = atφt dyt , dct = bt dyt − btφt dt .
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atct =

∫ t

0

csasφs dys +

∫ t

0

asbs dys −
∫ t

0

asbsφs ds+
1

2

∫ t

0

2(asφsbs) ds
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=
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0

as(csφs + bs) dys
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yt = wt
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yt = wt +

∫ t

0

φs ds .

��
∆ynε

.
= ynε+ε − ynε


����
ε > 0

�>��

yε .=




∆yε

∆y2ε???
∆yt−ε



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��� ��> ?� ��> =�>��� =� ��� ��� ��	� � � �

yε

��	� ��

P1

��� 
� �
P0

��� �A�
E0 ∆ynε = 0 , E1 ∆ynε ≈ εφnε .
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yε
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dPε
1

dPε
0

=
exp

(
− 1

2ε

∑
(∆ynε − εφnε)

2
)

exp
(
− 1

2ε

∑
(∆ynε)2

)
� ?�� �

= exp

(
− 1

2ε

∑[
(∆ynε)

2 + (εφnε)
2 − 2∆ynε · εφnε − (∆ynε)

2
])
� ?�� �

= exp

(∑
φnε · ∆ynε −

1

2

∑
(φnε)

2 · ε
)
� ?�
 �

→ exp

(∫ t

0

φs dys −
1

2

∫ t

0

φ2
s ds

)
� ?�� �
?
ε→ 0
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��%� xT

0
.
= {xs, 0 ≤ s ≤ T} !% ��/��� ���' ! �+## 7.18
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xt = wt

�+� /��( P0
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&xt = wt +
∫ t

0
φs ds �� ��� �+� !.��!# !�% /��( P1

�.�
�# �(��' /.�� �.� &�/��(���/) %� φ ��  ��*! *�(( &yt = wt +

∫ t

0
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dP̃1

dP0
= exp

{∫ t

0

φs dys −
1

2

∫ t

0

φ2
s ds

}
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�� �%!� ��.% ��% � �� ! ��  )�� %� 

yt = w̃t +

∫ t

0

φs ds

� ?�� �
������# ���! φt

�#  ����  %"�! !% #�*� � �! �( !+� &P̃1 = P1
��� &��%�# !+�(! %� w̃t

��%�
�%��% � �� ! %� �� ��� � )�)� 

φt = φ(t, yt
0) .
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& )�)� ��� �+ !���.�  ��"# #�*� �! �( dP1 /dP0

!% �! �(� &P̃1
!�)' � � P̃1 = P1

�! �)�� �!� ��# �% �� ��('�� �(� ��# ��*# � �(��+ ! �!�.� !����!# 7.19
�	
��

P1 :xt = wt +

∫ t

0

sa(s) ds

� ?�	�

P2 :xt = wt +

∫ t

0

sb(s) ds .

� ?���

,%� &P0
�.� xt = wt

�� # �� ��)'(
dP2

dP1
=
dP2

dP0

/
dP1

dP0


� ?�� �

= exp

{∫ T

0

(sb(s) − sa(s)) dxs −
1

2

∫ T

0

(s2
b(s) − s2

a(s)) ds

}
.


� ?�� �

����  %� ��� ���(�/ ��%(! &�'(�/��  � � at �� %� #�(��' /.��# !����) !*% 7.20
����

&����� ��� �+ Elliot �� ��.�#

���



?> ����� 	��� �� ����@�� 
>��

���@� ��� 
�� � ?
����@�
 �� ��� �� � ���
� 
��� �

[0, T ]
�� ����@� � ��@� ��� � ���A ����

Ω

�
 �

P0

��� �� ����� F t = σ(xt
0, y

t
0)

�
 � ?
w = {xT

0 , y
T
0 }

��
xT

0 = {xs, 0 ≤ s ≤ T} ��� ��

P0 :

{
xt = φt

yt = wt


� ?�� �
�� ����� F t

�� ���� � ��
�
ψ
�
 � ?

φ ⊥ w
=������ = ����
�


P0

��� ����
at = exp

{∫ t

0

φs dys −
1

2

∫ t

0

φ2
s ds

}
� ?�
 �
=���� 


dP1 /dP0 = at

��� �� =��� ��� �����
 �
P1

�A� ?
P0

��� ����	�� � �


P1 :

{
xt = φt

yt =
∫ t

0
φs ds+ w̃s


� ?�� �
���>��

 � ��� 

A 


w̃t = yt −
∫ t

0
φs ds

���� �
P1

���
(φT

0 , w̃
T
0 )

�� ���>��

 � �� ����
?
P0

���
(φT

0 , w
T
0 )

��
P1

��� �� ��� �
� 
�� �� �� ?� �����> 
� ��� � �

w̃t

>����� 	��� ��� �� >� = ��� ��A ����
� ���
� ��	� �����	� ���@���� ��� ��>� ?
���
 ��

φ
�� �����
 � ��� 
�� � ��> =


w̃,Φ
=����
�


��� ?

h, f

ct = exp

{
i

∫ t

0

fsφs ds+ i

∫
−)ths dw̃s

}
� ?�� �

Bt = exp

{
i

∫ t

0

fsφs ds+ i

∫
−)ths dys

}
.


� ?�� �
=�����@����
 ��� �� �

E1 ct = E0Bt

������� ������
h, f

�� 
���> ��� �� ��� �
� � ����
>��� ?

P1

���
(y −

∫
φs ds, φ

�� �
P0

���
(y, φ)

�� = �������


E1 ct = E0 atct = E0[E0(atct | φt
0)]


� ?�� �

E0(atct | φt
0) = E0

(
exp

[∫ t

0

φs dys −
1

2

∫ t

0

φ2
s ds+ i

∫ t

0

fsφs ds+ i

∫ t

0

hs dw̃s

]∣∣∣∣φ
t
0

)
.


� ?� 	�

���



�>��
dw̃s = dys − φs ds

�� 
���
E0(atct | φt

0)

= E0

(
exp

[∫ t

0

(φs + ihs) dys −
1

2

∫ t

0

(φ2
s − h2

s + 2ihsφs) ds−
1

2

∫ t

0

h2
s ds+ i

∫ t

0

fsφs ds

]∣∣∣∣φ
t
0

)

= E0

(
exp

[∫ t

0

(φs + ihs) dys −
1

2

∫ t

0

(φs + ihs)
2 ds

]∣∣∣∣φ
t
0

)
· exp

[
−1

2

∫ t

0

h2
s ds+ i

∫ t

0

fsφs ds

]


��� ?= �	� �����	�
f, h

�� ��@� �� ����
φ
�� 
����

zt = exp

[∫ t

0

(φs + ihs) dys −
1

2

∫ t

0

(φs + ihs)
2 ds

]
.


� ?� ��
�	 �� 	���� �A�

zt = 1 +

∫ t

0

zs(φs + ihs) dys .

� ?�� �

��	 �� ���	 ��� ����
� �

ε ↓ 0

���� � ��>�> ��
E0(zt | φt

0) = 1
�� �>�� 
��� ��

E0(zt | φt
0) = 1 + E0

[∑
ziε(φiε + ihiε)(yiε+ε − yiε) | φt

0

]
.


� ?�� �
=���

E0[E0(ziε | φt
0)(φiε + ihiε)(yiε+ε − yiε) | φt

0y
iε
0 )] = 0


� ?�� �
?
 ���

 �� =����� = ����
�
 ��� � �

φt
0

�> � ��> ������> 
� ��� � �

yt

� ��
�

P0

���� 
����
= ������

E0(zt | φt
0) = 1


��
E0[atct | φt

0] = exp

[
−1

2

∫ t

0

h2
s ds+ i

∫ t

0

φsfs ds

]
.


� ?�
 �
��� �@�

E0Bt = E0 exp

[
i

∫ t

0

fsφs ds+ i

∫ t

0

hs dys

]
� ?�� �
�	� �����	�

hs

�� 
���� �
φt

0

�> 
 ���
 ��� �� �
E0Bt = E0 exp

[
i

∫ t

0

fsφs ds− i

∫ t

0

h2
s ds

]
� ?�� �

���



=����� ?
E0

��� 
���> �� ��� � �

ys

��
E1 ct = E0 exp

[
−1

2

∫ t

0

h2
s ds+ i

∫ t

0

φsfs ds

]
= E0Bt .


� ?�� �

���
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?� �����@� ��� 
A���� � 
A����
 = ���� ��� ��� �� 
�� 
A ��� �>
	

��	 	
���	� �

�- �� �� � � �

�� 
�� �� � ���� � 
@�>�
 ��>�� ���� ��� ?= ��@� �� �� �� ��>� ���� =
 �
@�>� �� �>���
?= �����
 =�����
 �� ���� � �


R
����
 �� �
 ����
���� ?

S
�> >���


!�(��! !% !�� ���� ��% �#*��# !�����  !�"�#� $��% %� T  �'�� �./ ���! ( #*�� ��#+ 8.1
���
�
&! �%# 

S ∈ T, ∅ ∈ T &�
�,% T�# ���#% $��% %� {Oα, α ∈ A} �% �� ��� &� ��� ��)�*�%� � ��.�� � ���! �* !*! ��'� T &�

&∪αOα ∈ T ��� Oα1 ∩Oα2 ∈ T �'

& �'���.�/ !�)'�� ���+� #*�� %� �'�� �.�/ #*��
?
 ���� �� �	 � �
 ����
 �� �
 �� ������
 ��@�>�
 ���� � 
����

�!� ���� � S �# ! �'�, �+ !�)'��  d !����  �"�(�. !�)'�� �% ��/� %��� #*�� 8.2
���
�

d(x, y) ≥ 0 &�
x = y �% ��� �% d(x, y) = 0 &�

d(x, y) = d(y, x) &�
& d(x, y) ≤ d(x, z) + d(z, y) ����� ������ �% &�

?
� ��	� � �
 ����� ��
 ����
 � 
����
��� 
	�

x

��� �
� 
���� ��� >���> ����� �
 ���� � �


B(x, ε)
���� ���� ���	� >���>

?
@�>�> ����
 ���� ���� � � 
�� 
��� � �� >�>� ��� 
@�>� ��
 
���� 
@�>� ?
ε
��

���



���� ��
 � � ��� � =
> = �>���
 ?
����> � 
������ �	 � �
 ��	� >���> ������
 ��@�>�
 ����
?� �����
 ��@�>�
 ��� �� ������
 
������ �	> ���� ������ �=���	� =�>���

��A 
���� �
n → ∞ ���� 


x
�� � ����

xn

�� ���� �
n = 1, 2, . . . , xn ∈ S

=� �������

?
d(xn, x) → 0

=�
xn → x

d(xm, xn) < ε
�� ��

N = N(ε)
=���

ε
��� =�

(Cauchy)
��� �� ���� � ���� {xn}


���

?
d(xn, xm) ≤ d(xn − x) + d(x− xm)

�� ��� �� � �
 �A� ������
xn

=� ?
m,n > N

���
?�� ���� �� �� ���� �� =� =�� ���� ��	� >���

��� ����� ���	 � �

������� = ��� ����
� ��� �� ��� �

Banach Fixed Point Theorem
��> �� �>�
 ���� � 	���

?� ��	���	� ��� �����
 �"�(�. %� T ��/�.�% &�d  ���/� !�)'�� ���+ #*�� %� S � ��/� #*�� (S, d) � � 8.3

���
�
��� �� ���� %� �% q < 1 +�#� �+ “Contraction operator” 0� ���� 0 %��� T ��/�.�% &S�� S��

������ �% !% x1, x2 ∈ S

d(Tx1, Tx2) ≤ q · d(x1, x2) .

�?	�

?����
 �� �
 �� <���� ��	���� � �
 |q| < 1
=�

f(x) = qx+ α

�@����
 
�����


A ?
Tyn → Ty

�A�
yn → y

=� ����� �
��@� 
�@���� ���
> � �
 <���� ��	���� �� >� = ���
?
d(Tyn, T y) ≤ q · d(yn, y)


���

 ���� ��� �>��
+�#� �+ � ���� ��/�.�% T �� ��� ��/� #*�� %� (S, d) �% &�(# �� !#� !)��( /.�� 8.4

���	

 %����� )�*� ���!. ���� �,% q
Tx = x .


�?��
����!� x0

��� �$��(# &T �� !#� !)��( %��(  , ���!.
T nx0 = T (T n−1x0) → x


�?� �
)��� d(T nx0, x) �� �# ��# ��/� �%' %� ! ��(�!  #"�� �!#� !)��(� !��(�!� !��"�/�% �� ���

&qn ���

���



�A� ?�>� ������ 

 ��� 


x1, x2

�� ���� ?� �� ��� ����
> ����� ���� ��
d(x1, x2) = d(Tx1, Tx2) ≤ q · d(x1, x2)


�?� �

���� ?<���� ��	����
� ��� ���
 � ��>� ������ 

 � ���� �
� ��� �>�� 
����
 
�����
 ����

?� ����� ����
� ���
A � �����
 �����
d(x1, x2) = 0

=� �� 
�� � 
������
 ��
q < 1

��
�����
 
����� ��� ?

m > n
��>� ���� ���
 >@�� �>� ���� � = ���

d(T nx0, T
mx0) ≤ d(T nx0, T

n+1x0) + d(T n+1x0, T
mx0)


�?� �

≤
m−1∑

i=n

d(T ix0, T
i+1x0)


�?
 �

≤
m−1∑

i=n

qid(x0, Tx0)

�?� �

≤ d(x0, Tx0)

∞∑

i=n

qi

�?� �

= d(x0, Tx0)
qn

1 − q
.


�?� �
>���
� 
���� ?�� �� ���� ��


T nx0


���
 
���
n → ∞ ����

0
�� ���� 
����
 ��	 �>


�� �>� ���� � � �

x

���� ?
d(T nx0, x) → 0

�� ��� ?
x
�> 
���� ��>�� �� ���� 
���
 �=��

x = lim
n
T nx0 = lim

n
T (T n−1x0) = T lim

n
T n−1x0 = Tx

��

x
�� 
���� ���� ?�>� ���� � 
�� � �
 ��>�
� ���>�� ?� ���@�� �>�� �� ���
 
�����
 ����
?�	>��� � �
 ������

 >@� �

d(T nx0, x) = d(T nx0, T
nx) ≤ qn · d(x0, x)

��>� �����
%� T n0 �� �� n0

�# ��* ��� ���� �% &!#� !)��( /.�� ��  %#  #*�  !% *�� 8.5 -

��
#"�# !��(�!� !��"�/�% �  )�*� !#� !)��( !� ��� T �� �$��!# /.�� !�(��� �,% �� ���� ��/�.�%

&��/� �%'

�� ���� �� �/�.�% �� !�%�'�) 8.6 -

��

&0 %� !#� !)��( �,% ��%(�� � ���� ��/�.�% %� T �% ��  %� &%

���



����/��. �� ����+ ��% ��#+� �� �" ���� � ����� ��� � � � �%# ����/�.�% � �� &#
Tx = αx+ β


�?	� �
Tx =

√
x


�?		�
Tx = x2


�?	��
TX = α sin(x)


�?	� �

�,% τL < 1 �% �� *�� &|f(x)− f(y) ≤ L|x− y| �� ��� L +�#� �+ � ��.��  .�"�  �"�(�. f � ! &'
! ��%�"(�.�)  %����� [0, τ ] �� , ����/(�% �+ )�*� $�"� ���!. ����

dx

dt
= f(x(t))


�?	� �
��/�.�% �)' �,�� &���!.� !��(�!� ��� � � )���. !��"�/�% �� ��� x(0) = x0

��! (  �*! �%(! �+

Tx(t) = x0 +

∫ t

0

f(x(s)) ds

�?	� �

��� !��)'�� )���. ! ��"�/�% &‖y‖ = sup0≤t≤τ |y(t)|  ���/� �+ �! �.�"� ! ��"�(�. #*�� �+
x0(t) = x0, xn+1(t) = (Txn)(t) .


�?	
 �
&! ��/���/� ! �%���� �� !�)�*�� ���� !*��  %�

���-
� 
���	 � ��
����� ?����> ���� ��> �� ����� =��>� =���	� � ���� ��

h
=�	 ���� �� ��

H = {h} �
 �
�
αh1 ∈ H

����
α
����

h1 + h2 ∈ H
=���


h1 ∈ H, h2 ∈ H
��� ?	

���������
 � ����� ��� ���� ?�
α (h1 + h2) = αh1 + αh2


�?	� �
(α + β)h = αh+ βh


�?	� �
α (βh) = (αβ)h


�?	� �
1 · h = h


�?�� �

���



���� � � 
A� >���> ?
������ �� �	� � >��� �� � ������ >��� ���� ���
 ������
 �� ��> >���
���
 ����

0 · h = 0
�� � ��> ?�� �� ���

h
��>�

h − h
��� �� ����� � �
 �

0
�> 
���� �>��

? 

H

�> �>�� ���
� ���� ��
 
����

�! �%# !�(��! !% !� ����  !����  �"�(�. %� ‖ · ‖  ���( 8.7

���
�

h = 0 �% ��� �% ‖h‖ = 0 &�
‖x+ y‖ ≤ ‖x‖ + ‖y‖ &�

&‖αx‖ = |α ‖x‖ &�

?
� ��	� ��
 
���� �� �� � ��>
�
(h1, h2)

�> 
�� �� �
H

�>
h1, h2

����A
 �� ����� 
�@���� � �

H

�> � ����� 
���� ����
�������
 �
(h1 , h2) = (h2 , h1)


�?�	�
(h1 , h2 + αh3) = (h1 , h2) + α (h1 , h3)


�?���
h = 0

=� ��� =�
(h , h) = 0


�?�� �
(h , h) ≥ 0


�?�� �

�� ��� 
���> �>�� � ������
 ������
 ���� ��� �
���� 
�� �A �� >� = �� ?||h|| = (h, h)1/2

���

?
h = 0

���
> �A�
g
���

(h, g) = 0
=� ��

(h1, h2)
2 ≤ ||h1||2||h2||2 �Cauchy Schwartz inequality � ����� ���� ������� �% 8.8

���	

?����
λ
��� ‖h1 + λh2‖2 ≥ 0

�
���
� ���� ��?�>��� 
�@��
� >@
 �=�� ����� 
A ��	 �> � �>�

λ
�@�

‖h1 + h2‖ ≤ ‖h1‖ + ‖h2‖ ������ ������� �% 8.9
���	

��




���� ��
‖h1 + h2‖2 = ((h1 + h2) , (h1 + h2))


���

�
= ((h1 + h2) , h1) + ((h1 + h2) , h2)

���������
≤ ‖h1 + h2‖ · ‖h1‖ + ‖h1 + h2‖ · ‖h2‖

<���� 
������ ���
= ‖h1 + h2‖ · (‖h1‖ + ‖h2‖)

������
 
����
 ��� �� 
�� ��
 ‖·‖ ����
 ������
 
������ �� �
( 8.24)

��
( 8.21)

������ ���>
?
H

�� ����� � �� ��� � 
���� � �

 %� � !*%  ���(� �! �� �' ���� �! *% !�����  �.��� �! �� ! �� �  ���� � �/(��% $��%� 8.10

����
& /�� ��'�!

���� 

hn → h

��A 
���� �
h
�� � ����

hn

�� ���� �
n = 1, 2, . . . , hn ∈ H

=� �������

������
 �����

d(xn, y) → 0

��� 
��@> ?�
�A� � �����
 � �
 �A ?||hn − h|| → 0

=�
n→ ∞?

y
��>��

d

� ��	�>

‖hm − hn‖ < ε
�� ��

N = N(ε)
=���

ε
��� =�

(Cauchy)
��� �� ���� � ���� {hn}


���

?‖hn − hm‖ ≤ ‖hn − h‖ + ‖h− hm‖

�� ��� �� � �
 �A� ������
hn

=� ?
m,n > N

���
?������ �� �� ���� �� =� =�� ���� 
���� =� >���

 ���( ��%� ���� %� � ! �����  �.�� �+ ��%(�� ���/��� #*�� %� /�#�� #*�� 8.11
���
�

 !�% !*! ��� %� � /�#�� #*�� �� ��%(�� #*�� !! &! �����  �.�� �)� �+ !�)'��  �, %� 
&�� ���  #*�� �� /�#�� #*�� !! %��( ! �����  �.��

xi ��%� h = (x1, x2, x3) ����/��� $��% �� ��� ��)� �� !�! �)����% #*�� H � � 8.12 -

��
&/�#�� #*�� %� H �� *�� &(h1, h2) =

∑3
i=1 x

i
1x

i
2
��)'( &� �����

#*�� ��� ��� ��(# #*�� %� H ��,  ���( !*! �� *�� &‖h‖1 =
∑3

i=1 |xi|  �)*  ���( ��)'( !+�
#*�� �((�% ‖ ·‖1

�+ H #*��  ,  ���# �� *�� &�,  ���( !*! ����  ���( �+# %� � ��%(�� �� �/��
�'" ��� �! �( �/�#�� #*�� ��� �� *�� �,�� &/�#�� 

(h1, h2) = (1/4)(‖h1 + h2‖2 − ‖h1 − h2‖2)

���



&3 × 3  "��/� ��#% {aij} ��%� (h1, h2)a =
∑3

i,j=1 aijx
i
1x

j
2
��)'( 8.13 -

��

�! �����  �.�� � �, �!�

&/�#�� #*�� !! ���� � (0, x2, x3)  ��" � ����/��� $��% �� �� �'�!#�  ���# 8.14
����

%� /�#�� �#*��# �(�� !�(�(+! � ! ����+  #�� �� ���"(� �*�%� !% ��)�(
&EX2 <∞ � �� {X} %0� $��% � � � *�� %�� � � � '�) 

#*��# &(·, ·) ! �����  �.�� �+ /�#�� #*�� H �� ! �%� � �! �( �,% & (X1, X2) = EX1X2
��)'(

� X = Y �,% E (X − Y )2 = 0 �% � ,
������ ?

H
�> = �	 ���� ���� {Xi, i = 1, 2, · · · , N} �
 �

H1 = {Eh2 < ∞ ����>�
h = f (X1, · · · , Xn)


��>�
f
�
��� 
 �@���� �� ���� ��

h
�� ��
}�� ���@� ��� ��� �� ������
 >���
 �� �
A ?

H
�� 	�>��
 >��� ��

H1

�A�
?���
> ����� ���� >��� ��� ?{Xi, i = 1, 2, · · · , N}

��� ����

[a, b]

����	 ���
 �� ������
 ���@� ���
 ���� � �

H

=� �
����
∫ b

a

f 2(t)µ(t)dt <∞
�?�� �
�����

(f, g) =

∫ b

a

f(t)g(t)µ(t)dt,

�?�
 �
>��� �>��� ����	 ���
 �� 
�>� � 
���� 
���
 � � ��@� ���
 �� �����	 � ���
> ?

µ(t) ≥ 0
����

=� �
�� =� ?	�>��

∫ b

a

(f1(t) − f2(t))
2 µ(t)dt = 0


�?�� �
=� �A� �

[a, b]
�> ����


[c, d]
�	�>

t
��>�

µ(t) = 0
=� ����� �� ?

H
�> 	 �����

f2

�� 

A
f1

�A�
� ����>� � �����> = ���� =
 =� �����> ?

H
�> = �	 ����� = �
A =


[c, d]
�	�> �� = ����

f2

��
f1?

H
�> = �	 ����� = �
A 
��� =


ti, i = 1, · · · ,M
��
 ������>� �� ��> >���
 	���


���



���!( h ∈ H � � &H �� /�#�� #*�� !! H1�� �/�#�� #*�� H � � � ���  /.�� � 8.15
���	

�,% d = infh1∈H1{‖h− h1‖} ��)'(�

&‖h− ĥ‖ = d �� �� ĥ ∈ H1
���� &%

&�0 %�'� ! �#" �(0 � h1 ∈ H1
��� (h− ĥ, h1

)
= 0 �����  ,� ĥ �� &#

&)�*� %� &# !% �����  ĥ &'
���� ��

?‖hn − h‖→d
��
hn ∈ H1

�� �� {hn}

��� ��>� ?�

‖hn − hm‖2 = (hn − hm, hn − hm)

= 2 ((hn − h) , (hn − h)) + 2 ((hm − h) , (hm − h))

− ((hn + hm − 2h) , (hn + hm − 2h))

= 2‖hn − h‖2 + 2‖hm − h‖2 − 4‖h− 1

2
(hn + hm) ‖2


��� � ‖h− 1
2
(hn + hm) ‖ ≥ d

=����� �
d
����
� �

1
2
(hn − hm) ∈ H1

�� 
����
‖hn − hm‖2 ≤ 2‖hn − h‖2 + 2‖hm − h‖2 − 4d2

�����
� 
��� �
H1

�> �� �� ���� {hn}

�� ?∞�� = ��� ��

m
��
n
���� ��� ���� 
�� � �@ �>�

?
ĥ
�> 
�� ��

H1

�> ��>� 
� = ���
�� 
����

‖h− ĥ‖ ≤ ‖h− hn‖ + ‖hn − ĥ‖

?‖ĥ− h‖ = d
�� �>��

= ����

ĥ
��>� ((

h− ĥ
)
, h1

)
= δ

�� ��
δ > 0

��
h1 ∈ H1

=��� �� 
����
 ���> ���� ?>

���



�A� ?
ε = 1/‖h0‖2

�
 � ?
h0 = h1/δ

����� ?‖h− ĥ‖ = d

‖h− ĥ− εh0‖2 =
((
h− ĥ− εh0

)
,
(
h− ĥ− εh0

))

= ‖h− ĥ‖2 + ε2‖h0‖2 − 2ε

= d2 +
1

‖h0‖2
− 2

1

‖h0‖2

< d2

?
ĥ + εh0 ∈ H1

�� �
d
�� 
���
� 
����> ��A�

?
h′1 = −h1

��>� A� �� �

A > �� ��

δ < 0

�> 
���>
�� (

h− h̃, ĥ− h̃
)

= 0
�A� ?� �>@��
 ����� �� =
��� = �� ����

H1

�>
h̃
��
ĥ
�� 
����> ���� ?�

�
�� ?
ĥ− h̃ ∈ H1

0 =
((
h− ĥ

)
+
(
ĥ− h̃

)
,
(
ĥ− h̃

))
=
(
h− ĥ, ĥ− h̃

)
+ ‖ĥ− h̃‖2 = 0 + ‖ĥ− h̃‖2

?
ĥ = h̃


���

&  ,  *��  �  ��'��  ��+�  "�#� %� H1
�% �' $�!  ���  /.�� 8.16

����

�% ��%(�� %��� �(��"�(�. &H �+ ! ����  �"�(�. %� �(��"�(�. 8.17
���
�

&|f(h)| < K‖h‖, h ∈ H ���� �� K <∞ ���� �% ���* %���� f (h1 + αh2) = f (h1) + αf (h2)

�(��"�(�. &�(��"�(�. %� R �� ! ����  �"�(�. ���� �/�#�� #*�� %� R #*�� 8.18
����

 � ��*  �"�(�. !�)' �+ !%, �#�#� ��% �% �� �+�  �)'  �.� �R �+ ���*� ��%(�� %� g(x) = 2x

� � ��*  �"�(�.  ((�% g(x) −

�� = ���� 
����> � ������
f
�A� ?

f(h) = (h0, h)
������

h0 ∈ H
��>� �
����

|f(h)| = |(h1, h0)| ≤ ‖h‖‖h0‖

�?�� �

���



���� �� )�*� h0 ∈ H � ��� �,% H �# � ��* ��%(�� �(��"�(�. f �% �Riesz � � �� /.�� � 8.19
���	

&! �����  �.�� �0+ �h0
!�,+# f !% '" ��� �! �( ��� ��� f(h) = (h, h0) ����!� h ∈ H

!� ��� �� ��� � ��� !�����(�!��%  *.�� !� ��� �% �� �#�.� %��� H /�#�� #*�� 8.20
���
�

%� � {hm, m = 1, 2, . . .}  �)��

(hi, hj) = δij − �
-	��������

h = 0 ���' i ��� (hi, h) = 0 �� h ∈ H − �	-�

� ����  ��"# ��%
&limN→∞ ‖h−∑N

i=1(hi, h)hi‖ = 0 �� ��� �h =
∑∞

i=1(hi, h)hi  ���. *�! �. ���� h ∈ H ���

=��� �A� ?∫ 1

0
f 2(t)dt < ∞ �������


(0, 1)
�� ������
 ���@� ���
 �� ��

L2(0, 1)
�
 � �
����

?�� �>���
L2(0, 1)
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